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The value of the sociology is asso-

ciated to
(A) R.K. Mukherji
(8) G.S. Ghuriye
(C) Yogendra Singh
(D) Yogesh Atal
Which system of caste is in the fol-
lowing ?
(A) Open and closed
(B) Open
(C) Closed
(D) None of the above
1s it true that the integrity and stabil-
ity of culture is based on the values?
(A} Not determined
(B) Yes
(C) No
(D) None of the above
who is the author of the book
'‘Modern Indi2an Culture'?
(A) Marx Weber
(B) August Comte
(C) D.P.Mukherjee
(D) None of the above
Out of the following, who is related
to mode of production and relation
of productlon?
(A) August Comte
(B) Max V/eber
(C) Emile Durkheim
(D) Karl Marx
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10.

Who is the founder of Sociology?
(A)Y Auguste Comte

(BY Max Weber

(CY Emile Durkheim

(D)
Who said that, "Man is born free

Herbant Spencer

and every where he s in chain?”
(A) John Locke

(B) JeanJacques Rousseau

(C) Piato

{D) Anstotle

The famous book "Problems of
Indian Youth" had written by :

(A) Marx

(B) Mukerjee

(C) Ghunye

(D) None of the above

Who says, 'sociology is ‘about’ so-
cial relationship, the network of re-
lationship we call society”?

(A) Max Weber

(B) Maclver & Page

(C) T. Abel

(D) T. H. Penson

Out of the following who is not re-
lated to the theory of social contract?
(A) Thomas Hobbes

(B) John Locke

(C) Jean lacques Rousseau

(D) Voltaire
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11.

13.

14,

15.

what is the main charactenistic of
the definition of sociology pre-
sented by Sorokin?

(A) Socwlogy is general Science
(B) Specific Science

(C) Collective Representation

(D) Perfect Science

“Sociology is the Science of collec-
tive representation.” Whose state-
ment is this? '

(A) T.B. Bottomore

(8} Auguste Comte

(C) Giddings

(D) Emile Durkheim

Is it true that "Economic problem
was the main cause for French
Revolution"?

(A) Yes

(8) No

(C) Uncertain

(D) None of the above

What was the important achieve-
ment of French Revolution?

(A) Freedom

(B) Equality

(C) Brother hood

(D) All of the above

What is the title of Comte's ap-
proach?

(A) Positivism

(B) Hedonism

(C) Soclalism

(D) Modernism
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16. Who was wrilten the book

17,

18.

1.

20.

'.Thc

Communist Manifesto™?
(A) Weber

(B) Merton

(C) Farsons

(D) Marx

Who was written the book "The

Holy Family™?

(A} Marx

(B) Weber

(C) Parsons

(D) Merton

Who has distinguished societies

based on mechanical and organic

solidanty?

(A) Marx

(B) Weber

(C) Durkheim

(D) Parsons

According to Durkheim, Organic

solidanty can exist :

(A) Only in simple society

(B) Onlyin complex society

(C) Both simple and complex soci-
ety

(D) None of these

In which country Durkheim was

born?

(A) France

(B) Germany

(C) Italy

(D) Russia
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23.

24.

25.

Who has used the word fustly ‘'In

dustnal Revolution®?

(A} Spenoet

(B) Prol Strong

(C) Robertson

(M Tevnbee

Which one of the following condi

nan was not the cause of French

Revolulion?

(A) EconomiC Incquility

(8) Feudahsm System

(C) Autocracy in French

(D) Monopoly of protestant ideal-
ogy

Wwhat are the cause of Industrial

Revelution?

(A) Economic

(B) Social

(C) Palitical

(D) Al of the above

In which time period, French-Revo-

jution occur?

(A) 1789

(B) 1769

(C) 1771

{D) 1759

Wwho was the emperor at the time

of French Revolution in Europe?

(A) Luis-XIV

(B) Luis-XVI

(C) Mary Autoiney

(D) George Grainvil
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27.

28.

29.

30.

when did Industrial Revolution in
England occur?

(A) 1742

(B) 1748

(C) 1750

(D) 1818

What are the main elements of sci-
ence?

(A) Observation

(B) Generalization

(C) Prediction

(D) All of the above

what is the main characteristic of

the study of sociology?

(A) Social Reform

(B) Social Construction

(C) Social Reconstruction

(D) The study of society in its
Present form

The word "Verstehen' beiongs to !

(A) Portugali https://www.ccsustudy.com

(B) German

(C) French

(D) Latin

Out of the following who called 19"
century as ‘Golden age of Europe'?
(A) Plato

(B) Anstotie

(C) Danbaugh

(D) Voltare

26. grtos & SAnfirs w1 WA b

(A) 1742
(B) 1748
(C) 1750

}0} 1818

27. frm s mqmam A ta a b

(A) waena=
(B) WA
(C) wiaarh
487 35w

28. TWSNTEG FeaT= & gou v

&

(A) TS FUR

(B) wmitas Fmio

(C) wwfars qA-=©

(py afam TR & T & I
ol

29, oWty = By ww = 2
_JAY qefet

(8) st
(C) ®a
(D) &f2a

e AR e 1o el 2 R

wfia qn am & -
(A) o

: (B) I¥HY
(C) &aahn

(D) dRur

https://www.ccsustudy.com



31.

32.

34,

who wrote the book "Main Currents
in Sociological Thought'?

(A) Herbarl Spencer

(8) August Comte

(C) Karl Marx

(D) Raymond Aron

what is the meaning of ‘revolution’
according to Aristotle?

(A) uUnbalanced stage

(B) Presence of prejudice

(C) Changing political system

(D) Insecurity

Out of the following which book is
not related to Auguste Comte?

(A) Positive Philosophy
(8) The Suicide

(C) Positive Polity

(D) Catchism of Positivism
Branches of sociology,

devided by Comte are :
(A) Social chang€ and Social Re-

which

lations

(B) Social Statics and Social Dy~

namics

(C) Socal Science and Social Phys-
S

(D) Social Facts and Social Change

35. Comte's law of three-stages Is

called as ....

(A) The law of science

(B) Thelaw of change

(C) The law of human progress
(D) None of the above

31

32.

33.

e TR afiraweiitaea dfe”

Prad) Tan 27
<A) e WA
(B) I i,

(C) e mrd

(D) HUS 24

] & I i o an 3h 2
(A) ardier 3T

e

35. Fe ﬁfﬂﬂu Fazr=1 RN g

AA) fram @ Fram

(B) uftadw @ foram

(C) wia & wify @ Fraw
(D) JIREs A A B A



36,

("
o

Y

[

Who wrote the book ‘Principles of
Sociotogy’?

(A} Auguste Comte

\f‘“ Karf Mary
(CY Herbart Spencer
()
On which basis Herbart Spencer

Durkhem

classified the type of society.
(A} Unequality to equality
(B) Complex to Simple

(€)
(D)

Simplicity to Complicity
None of the above

. On which basis Spencer describe the

corcept of social evolution?

(A} Human and Nature

Culture and Civilization
Analogy between Society and
Organism

(D)
Which creation of Darwin has most

Society and Human

influence the views of Spencer?
(~) Biologica! Theory

(B) Principles of Biology

(C) Physical Law

(O} Ongin of Species

. Out cf the following who known as

‘French Sorokin'?
(A)
(B)
(C)
(D)

Emile Durkheim
Auquste Comte

Herban Spencer
Max Weber
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41.

42.

43.

44,

45,

In which form Soclal fact must be
treated as empirical phenomena?
(A) Things

(8) Phenomenon

(C) Views

(D) Discipline

who was presented the concept of
'Social Solidarity'?

(A) Karl Marx

(8) Emile Durkheim

(C) Parsons

(D) Max Weber

Who has define Scciology as a sci-
ence of social fact?

(A) Herbart Spencer

(B) Redcliffe Brown

(C) Sorokin

(D) Durkheim

Sodial fact is not a stable thinking
buta....... thought.

(A) Strong

(B) Healthy

(C) Historic

(D) Dynamic

Which two features of soclal facts
has described by Durkhelm?

(A) Equality to Unequality

(B) Purity and Impurity

(C) Exteriority and Constraint

(D) Simplicity and Complicity
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46.

47.

48.

49.

50.

According to Durkheim why an indi-

vidua! follows the customs, traditions

and ceremonies of a socicty in spite

of hus personal like and dislikes?

(AY On account of social pressure

(B) Hiteracy

(C) Poltical benefits

(D) None of the above

According to Durkheim the social

solidanty based on similarity is called

(A) Low solidarity

(B) High solidarity

(C) Organic solidarity

(D) Mechanical solidarity

Which law is practice in the stage

of organic solidarity of society?

(A) Flexible law

(B) Repressive law

(C) Constitutional law

(D) Restitutive law

How does Max Weber define soclal

action?

(A) Action influenced by the
behaviour of other persons

(B) Action influenced by nature

(C) Actioninfluenced by materials

(D) None of the above

¥hich stage of social action cov-

ered by cause and effect?

(A) Rational purposeful
(B) Evaluational

(C) Emotional

(D) Traditional
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51.

52.

S3.

S4.

S5.

The action conducting with concen

tration of the goal and method =
known as .
(A)
(8)
(C) Logical/Rational action

(D) Evaluativ
A

.. https://www.ccsustudy.com
Traditional actio:

Leaal action

e action
il Customs, folkways and mores

belongs to ...... action,

(A) Evaluative
(B) Traditional
(C) Emotional
(D) Rationat

Theory of Authority is related to ...

(A) RuraESocintogy
(B) Urban Sociology
(C) Medical Sociology
(D) Political Sor.iolog;y

According to Max Weber, Authority
isa

(A) Religious Power

(B) Legitimate Power

(C) Physical Power

(D) Harmful Power

Who said that, '"The preduction and
reproduction in real life is ultimately
the determining element according

to the materialistic thinking?
(A) Karl Marx

(B) Angels
(C) Hegal
(D) Parsons
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56.

58.

59.

Is it true that Marxism is known as
Economic determination?

(A)Y No

(B) Yes

(C) Uncertain

(D) None of the above

. According to Comte what is the

meaning of Positivism?
(A) Theoretical

(B) Individualistic

(C) Historical

(D) Sdacentific

When Auguste Comte was born?
(A) 1790

(B) 1798

(C) 1801

(D) 1805

When Karl Marx died?

(A) 1870

(B) 1883

(C) 1885

(D) 1886

- Who wrote the book ‘Caste and

Race in India'?

(A} Mahatama Gandhi
(B) Jawahar Lal Nehry
(C) G.S. Ghunye

(D) None of the above
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61.

62.

63.

64.

65.

Who called Scaoogy S 2 Qe
of All Sciences™?

(A) Marx

(B) Durkheim

(C) Comte

(0)

\‘lho‘ IS the Propo

Veber

nent of 'Social
Darwinism*?

(A) Spencer
(8) Comte
(C) Durkheim
(D) Marx
Spencer was born in which country?
(A India

(B) Germany

(C) France

(D) England

When power becomes legitimate
known as ..

(A) Influence

(B) Pressyre

(C) Interest

(D) Authority

The Action conducting

with concen-
tration of

the Goal and mean known
as ;

(A) Traditionat action

(B) Rational/Logical action

(C) Evaluative action

(D) Emctional action
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Concept of 1deal type is related to -

(A) Marx
(8) Durkhem
(C) Weber
(D) Comie
&7. “The Protestant Ethics and the spirnt
of Capitalism™ baok written by ...
(A} Marx
(B) \eber
{C) Comte
(D) Durkheim
68, Weber's contribution to Sociology..
(A) Idealtype
(B) Conflict
(C) Division of labour
(D) None of the above
€9. Which book is not written by Max
Weber?
(A) Essays in Sociology
(B) The Relgion of China
(C) Economy and Sociely
(D) The Suwide
70. Karl Marx belongs to which Reli-
gioen?
(A) Jews
(B) Hindu
(C) Parsi
(D) Christian
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71. The theory of class conflict Is as-

72.

73.

74.

75.

socCiated to :

(A) Comte

(B) Durkheim

(C) Marx

(D) Spencer

What will be the result of class con-
flict according to Marx?

(A) End of Society
(B) End of Dictatorship

(C) Loss of properties
(D) End of Capitalist and dictator-

ship of proletariate
What is the meaning of the word
'class' used by Marx?
(A) Similarities in bread and butter
(B) Common group
(C) Helping one another
(D) Group of the person
Who said "The history of all previ-
ous societies has been the history of
dass struggle”.
(A) Durkheim
(B) Ghuriye
(C) Marx
(D) Comte
Who wrote the book “The Division
of Labour in Society'?
(A) Marx
(B) Weber
(C) Durkheim

(D) Comte
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76. Out of the following, which theory 76. P 4 @ ol W Regra daw d

is not related to Max Weber? aafaa 8 @7
(A) Anomie (A) famfer -
(B) Social Action (8) amfa
(C) Ideal type E (€) et AT
(D) Bureaucracy (D) i
77. 'Religion is like opium for public in 77. 0 TS A AW & foe e B
society'. Whose statement is this? & gz o7 e &7
(A) Parsons (A) IREN
(B) Weber (B)
(C) Durkheim (o] ggm
(D) Marx (D) A -7
78. “Society as an organism’ whose 78. "I UF WIAGd & ¥ H &| TE
statement is this? fra @2
(A) Emile Durkheim (DY TR AW
(B) Spencer (8) V=R
(C) Comte (C) oI
(D) Weber (D) A&
79. Outof the following, who is the pro- 79. ﬁ“ﬁﬂmmmasm
pounder of formal school? &>
(A) George Simmel (A) It Rt
(B) Gingsberg (8) fir=amt
(C) Durkhelm (C) zuhy
(D) Sorokin (D) WY

80. Which school considers sociology

80, aﬁqmmw‘
ﬁmmqmgp
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(C) ®*UIRTE wyary
(D) Wrraans wnang

T o R
as a general science?

(A) German School
(B) Frankfurt School
{(C) Formal School
(D) Synthetic School



81.

82.

83.

84.

85.

Out of the following which theory
is propounded by Auguste Comte?
(A) Religion of Humanity

(B) Social Evolution

(C) Social Action

(D) Suicide

Wwho is the author of the book
'What is Sociology'?

(A) Alex Inkeles

() Karl Marx

(C) Durkheim

(D) Max Weber

Who is the Indian Social Thinker

among them?

(A) D.P. Mukherji

(B) Raymond Aeron

(C) Pareto

(D) Marx

who is the author of "Caste, Class
and Occupation”?

(A) Ghuriye

(B) Prabhu

(C) Mukherji

(D) Kapadia

According to Ghuriye,” How many
characteristics of Caste™ are vens?
(A) 10

() 01

(C) 05

(D) Q4

g1. frm d ¥ frw g & sma @R
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(Q) e
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g4. @R, FE B Ay [T &
s o 82
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B6.

87.

88.

89.

90.

R.K. Mukherji has divided the val-
ues in parts -

(A) 03

(8) 04

(C) 02

(D) 05

Hierarchy in the values is related to
(A) Marx

(B) Durkheim

(C) R.K. Mukherji

(D) Ghuriye

Intrinsic values and Instrumental
values has discussed by

(A) R.K.Mukherji

(B) Yogendra Singh

(C) M.N. Shrinivas

(D) Ghuriye

Sociology of values is related to
(A) Ghuriye

(B) R.K.Mukherji

(C) Hutten

(D) None of the above

Which university of India was firstly
started sociology?

(A) Chennai

(8) Allahabad

(C) Patna

(D) Bombay

86.

87.

88.

89.

S0.

FR. &. q@I A gl @) fawf:
2.

(A)

(8) 04

(C)

(D) 05

yedl % Feror wafua @
(A) Tad

(B) F&M

(C) IR.&. qa@

(D) gRa

g el R geat &
famef foman @-

(A) FR.&. qasi

(B) an=RiE

(C) vR.04. =T

(0) g

et B gWSIE Jafud &-
(A) g

B8), 3R.&. gasi

(C) =&~

(D) IR ¥ A BN T

RA & fbw vaw Rvafae 3 wse
& o A f?

(A) uv=d

(B) weMETAR

(C) =

(D) @rd



91.

92,

93.

S4.

95.

Who is related to Lucknow school!

among them?

(A) Yogendra Singh
(B) M.N. Srinivas
(C) R.K.Mukheri
(D) None of them

Which one is the base of the caste?
(A) Race

(B) Language

(C) Education

(D) Birth

Untouchability is associated with
(A) Class

(B) Nation

(C) Caste

(D) None of the above

Who is the founder of Indian So-
ciological society?

(A) Srinivas

(B) Ghuriye

(C) Mukherji

(D) None of the above

When G.S. Ghuriye was born?
(A) 1890
(B) 1893
(C) 1898
(D) 1900

91. FR R IR EBIT AT H T
&2
(A) o=z
(B) rA.09. Hifars
(C) 3R.& gaF=H
AD) 8 B & =
92. 99 | A T I W 22
(A) @&
(B) wm
(C) famr
Jic, e
93. HTTEA & wI ¥
(A) af
(B) I
(C) nfa
(PYy 3w A F 2 =&
94. WRAW™ TRIFTEHT TIF T TR
oH 2?2
(A) SfRaE
(8) gRa
(C) Tt
(D) IR A J 2 D
95. s.ea.gRa & I T &H?
(A) 1890
(B) 1893

(C) 1898
(D) 1900



Q6. Who is the author of book ‘The In-

dian Sadhus .

(A)
(B)

O.F Mukheri

R K. Mukheryi

(€) G S, Ghunye

(D) Marx

97. When R.K. Mukherji was born?

(A)
(B)
(C)
(D)

1890
1898
1891
1889

98. The author of the book "Diversities"

(A) D.P. Mukherji

(B) M.N. Srinivas

(C) Karl Marx

(O) J.H. Hutton

99. Which Indian Social thinker empha-

5is to the study of the Indian tradi-

tion?

https://www .ccsustudy.com

(A) M.N. Srinivas
(B) D.P. Mukherji
(C) G.S. Ghunye

(D) None of the above

100.The author of the book "Cultt

and Society"

(A) M.N.Srinivas

(B) August Comte
(C) G.S. Ghuriye

(D) Karl Marx

96.

97.

98.

99
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(A) & @ o
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R il aie S Z et
(A) 1890
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(D) 1889
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(C) shragRa

(D) IRNE A A 3 73

100.3%gfa 3k s s &
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1.  Whosaid “The obvious functionol 1, f3} an “RIHTA a1 Tmy o

research 1s to add new knowledge MG ST v i oer o)

to the existing store.” rtc A AN

(Ay V. Young AAY T oA om
(M C. A\ Moser (I oo
(€) E S Bogardus (€) ¢ amin
(D) P Heanng () @ 7w

o Mateh Lastel with Laste Il and 2, rz:é:.[ 34 'I'f"" o tji‘:f,:ﬁ Do alitots

choose the correct answer wh T W A g

Lest.] List.11 'I‘f"" qfd-..u
Book Author qTE auz

1 Saentficfoanl (2 C A Moser | mefar e Rl o R e ET
Survey and llesearch —

3 SurveyMethalsin () Lundbterg s Mecmsr @) e
Sacual lvestagation VS

3 Metholsof Soanl (0 PV Young
3 ¥gr atreeafed € €A

Rewarch
4 vy ford AEA Ao
1 SoaslRescarch ) Goode and Han
12 3 4 I
d
W a b o d (MY a b ¢
W a c d b MB)a ¢ d b
(Cy e a d b )81 ¢ a d b
d e a b (MHd ¢ a b
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6.

Which one of the following s not n

Problem of social research

(Y Lack of Clanty in concepts

(Y Simple Nature of Socinl
Phenomena

(" Problem of exact measure-
ment

(1 Lackofexpenmental research

Which one of the following 1s not
the Utilitarian objective of the

‘-“CI:I] lt',-.f'.'lt‘k‘h

(A} Helpful in admimistration
(th Helpful in Socinl Planning
(") Control on social events
(1)) Information of social facts

How many steps of Scientific

Method PV Young mentioned

(A\y O (B) 4

(C) 3 (D) 2
\Vho ts the author of the book “The

Design of Qoeal Resenrch”

(Ay O 1 Shaw

m nl

() Kimball Youn

.\f'p‘uﬂ.

() undberg

fre=r 8 1 o o oy iy et

dympm i »

(\) ) 8y g

(W wiae wrn @ o gy
(Cy #iafam um oy mae
(D) TET v @ st

St
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T T 0% W P s &
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US-15138-Series-P

Find the falze statements from the
following

1 First step of =ocial research
15 determination of Units

2 In social research tabulation
of data s done aflter Collection
of data

-

L.ast step of rocinl research is

formulation of hypothesis

4 In cocial research selection of
respondents s done after
deciding the area of study

5. In social research tools of

study are determined after
observation of data

vy L2004

M) 2. 4 5
G120
(M3, 4 5

\Who satd "The hypothesis 18 a
tentative supposition”

(A) P H Mann
(B} M. H Gopal
{(C) P.V Young
(D) Kimball Younyg

Which one of the following source

of hypotheais did Goode and Hatt
not discussed

(A} Common Culture
(B) Intuition

(C) Scientific theones

(D) Personal experiences

(3)

et % s g g R ¥

1 WinE anpum 8 ugn g
TR 0 e g B
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C 1. 2, &

(I 3, 4. b
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10. Match Lastob soth Lost Woand 10, 700 | 9) 1plt 1 8 opion 4,

thoose the correct answer wh gar REIR gifam
1aet d Last ]l SO | GERT
ok Author AT 2rey
Pl e hdghy o0 Cmegr Williapg | Ty e te) Tt Yoy
D bagwns Arvse 8 PH Mang 2 Pralh vires PR I
4t en e dSawts ey O R Shw VoRn W MR ey, A e
¢ wlen evrTh
i :': :wnlut Lry idy Nuguete Comte P 'rﬁ"f 4 e A Ve v~
IR Pozoa
iva b e d Wan b ¢ d
Mmd b ¢ a B)yd b e =
iCvd ¢ b a (CG"d ¢ b a
MM b d ¢ a ﬁ;;'bdc:
11, Find out the importance of 1), fam= & ) mrovmrend 2 mr oo o
hypothesis from the following nk
1 Providing suitable direction 1. afsa oo v
2 Full confidence in hypothesis 2. wmFerm R ap fiem
3. Restricting the field of study 3. NS W 7 ey v
4. Helpful in collection of facts 4. T T AeES 8 v
5  Influcnce of specific interests 5 fafire sfqsiog s == ¢
and emotions o9
tAy 1. 3. 4 N\ 1L, 3 4
M) 2. 4 b M 2 4 5
© 3. 1 5 €3 4. 5
aMm 1. 3. 5 M1 3 5
12, Accordingto Gillinand Gillinwhich 12, fafzg o fafyy 3w 0= 22
one of the following 18 not a R3e e TF A Féifq $
charactenstic of scientific atitude Crdl
(A Patience (\) o

() Hard work
() Attitude ofinquisitiveness
(1) Observation

(I 38 gipy
(©) P g1 aifagfa
G st

US-15138-Scries-P (1)



3.

l‘.

16,

Towhich of the following sampling

method s related

(A To get adequate representa-

tive data

(I For successful use of screntific

method
("
(i

To ennch real knowledge
To get rid of fallacies

Who s the founder of Positivism
(A Maclver

(1) Auguste Comte

(Cy Weber

(D) Marx

. Whose Positivism 1s also a

humanistic relignon
(\) Durkhenn
(I Maclver

() Weber

(D) Comte

Who organised the Positivistic
Society

i\) Comte

(I3 Durkhein

(Cy Weber

(1)) Rollin Chambliss

13, Bt e By AR P nef

14,

15.

16.

4

(N v anE a) o e
*

AW Emfrs et & wrA odm ey

(C) wrmiaE o 41 Hyin 3

(D) wis @1 wfa i

T | oA fE o A B

(A fErT

(B) e =

() 2@’

(D) =

fram cmwmm 7 wewmard o



15, Find out the false statements from

‘s.

the follon ing

I Quantitative methods are
used to study abstract events
in soctology

2 Inductive method carries
from general to particular
3 Comparatine micthed 1snota

type of qualitative method
1 Sociometny method s a type
of qualitative mcthod

5. Preferential  system s
preferred an deductive
method

Ay 1L 203

By 20 4. b

(M 3. 4. b5

M 2 3 4

Who used statistical method in
Sociology at first

(A} lePlay  (B) Herodotus
(C) Giddings (D) Robertson

19. Mateh the List] with List-ll and
choose the correct answer
Last.l Last-11
Book Author
1 HuworyofHuman (2 Polin Chamtlise
Marnage
T Koo Thowught &AW Creen
3 The Nature and ) Westermardh
Types of Saaalogieal
Theory
4 Soochyy D DoaMartindale
1 2 3 4
(MY e a d b
MB)a ¢ d b
@b d ¢ a
MMd ¢ b n
US-15138-Series-P ' (6)
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R wfes= g won B
N1, 203
Mz. 4 b
Cy 3. 4. 5
(2 3 4
18, memaam 8 "I gefy moodn
winem 3y o
Ay &3 (0 e0in
(C) threm (1) Mehm
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3 tAMer o ) Teered

Wi w2l

4 wrtnk (o) Tyt
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AMVe a d b

M a ¢ d b
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MMd ¢ b a



20. Whieh

Participant Ohservation

method 18 known as 20,

(\) Ethnographic Method

(B)y Sociometry
() Case study Method
(1)) Inductive Method

2l According to CA Moser meaning 23,
of cbservation s
(A Uscof Eves
(B) Use of Voice
(C) Use of Ears
(D) None of these
22. Who called  Unstructured 29
obrervation to Uncontrolled
observation
(A) Goode and Hatt
(B) C. A. Moser
{(C) DonMartindnle
(D) Jahodaand Cook
23. Whosad “Participant Observation 23,

usually refers to situation where
the observer becomes as near as
may be a member of the group he
1s studying and Participates in
their normal activities”™

(AY P.V.Young
(B) Lundberg

(C) P.H Mann
(D) John Madge

US-15138-Series-P (
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LB 4
=4. Who uned ense study method in

rociology at first

(AY Emile Durkheim
(1) KarlMarx
(C) Weber

(D) Herbert Spencer

T

26, Mateh the Listel with List.ll and
choose the correct answer
List-] Last.1]
Book Author
1 The tonlsof Secaal ) Jahads and Cond
Sarmors
2 Soanl Research MY Lindeman
Methods
3 RNaalDismery (¢) Fororee and Rk
4 Fescarch Methads () Jodin Madge
in Secinl Belations
1 2 3 4
(A d ¢ b =a
MH b ¢ d a
C)n b ¢ d
Mb a ¢ d
26. How many types of experimental
research are there
(A) 3
(B) 4
(C) 2
(D) b

US-15138-Series-P
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29.

J30.

., Objeet of which research s

knowledge for knowledge
(A) Desenptive Research
(B Pure Research

(Cy Applied Research

(D) Action Research

. How many types of Action research

arce there

(\Y 3
TR
(Cy 2
(D 6
Which method 15 used for the

selection of geographie aren
(A) Lottery Method

(B) Tippet Method

(C) Gnd System

(D) Ticket Method

Which sampling 1s also known as

multiple sample
(\) Repeated Sample

(B) Proportionate Stratified

Sampling

(€ Stratfied Weighted Sampling

(D) Multistage Sampling

US-15138-Series.P

(9)

o7, P m e ma F oo B
LAY T oty

(13 Rape o

(C) amoits o

(D) Bams

28, By u iRl oimr e o P

P = i e ) ‘ . T
29, {&a a2 g Gmiss 2w § e

(A) ®rzd fai
(B) ¥z fafe
AC) &z g
(D) 23z faife

30. = fam iy R 7t freds o

T A R
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(C) ¥mgwt wafra fyzda

D) grErim fRudy



3. Find out fale statements from the

[olleming

1

d

(A}

(<
()

Sampling re weed for small
Unive e

Samphog o0 a time saving
dc AR

Samphing is wsed to pet
hundred percent accurncy
Founder of Tippet method s
yoode and Hatt

In Tippet method a list
consisting 10,400 numbers of
four dugits 1s generated

L 3,

2 A

2, 3.

5
(m 1, 3 4
5
1

32. Match the Last] wath List-]] and
choose the correct answer

Last.] Last.]]

Vo Baviecef Sampling ) Arva Sampling

< Curscteruticod M) Adequate sxuracy
Narnghe

3 Merntof Sampling ) Adequate Sire

¢ OtherBandom 1 Axcuracy of Results

Samglcs
1 2 3 4
(\ya b ¢ 4
M e b d a
€C)a ¢ b d
MMb ¢ d a
US-15138-Series-I*
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33. Whosatd "A questionnnire isn st

of Questions to a number of

Persons for them to nnswer.”

{(\) l'upt'
(B) DBogardus
(C) Goode and Hatt

(1)) Hein Pao Yang

. Whodivided the questionnaire into

open and closed questionnaire
P V. Young
A W. Green

(\)
(1)
(C)
(D) Coser

Lundberg

35. Find out true statements from the

US-16138-Series-P

followaing

1. Respondent himeelf fills the
answers of questions 1n f
questionnare

2. Questionnaire Method is an
expensive Method

3. Questionnaire is used to study
thelliterate respondents only

4. Questionnaire are sent by

Post
(A) 1, 2
my 2. 3
(C) 3. 4
D) 1, 4

Ji1.

34.

F¥aey oy s
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Se AR IS
AY IR

(1) wSymrds

(C) 72 i
A i3 man By
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(B ©
AL
AT
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{C)

(D)
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36.

Who sad “It (questionnajre)
BOCUTeS r-!;mtl:ll’d:s(‘d results that
can be tabulated and treated
statistically”

(A Wileon Gee

(3 Bogardus

() PPV Young
(M R L Ackoff
Match the Last-l with List-1l and
choose the correct answer

[ast.] Last-1l
1 Felatabty of (a) Arrangement
of items

Quesrtyonnare

Ments of M) Incomplete

L 2]

Questionaaire information
3 Dementof

Questiomnaire

{¢) Use of subSample

§ Physimalaspectof (d) Convenent

Questionnaire

1 2 3 4
(A b ¢ d a
M) d b a ¢
(C) c d b a
MMHb d a ¢

38. Who said “The Schedule, in a

US-15138-Series-P

sense, 18 a detailed, classified,
Planned and senaled list of items
on which information 18 required.”
(A) Bogardus

(B) Goode and Hatt

(C) M. H.Gopal

(D) McCormic

36,

(12)

Py am v (geared) B awhy
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(B) « u'"
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1 g mdfyEqe (o FITTEE

1 2 3 4
(Mb ¢ d a
((B) d b a ¢
(C)c d b a
MDb d a ¢

38. Frm o o 0F SER R T

mmﬁmwmﬁWﬁ—m-
TN FNgw g g ¢ ofEwe
§ o wEE F @ SREE
qedr 20

/(;\)t?m‘n

B) T2 aur
(C) R, Uq. WA
(D) fvafds



Lo In how many types P V. Young

has divided the Schedule
(AY 3 (B 4
(Cy © (D) &

), In how many types Lundberg has

divided the Schedule
(\) 2 (I 3

(y 4 (M &

. Which of the following 1s not a

ment of schedule

(\} Personal Contact

(B) Facility of observation
(C) Useina limited nren

(D) Relinble information

as a process of Social interaction
(A) Moser
() Cohen
(C) Goode and Hatt
(D) Jahoda and Cook
3. Who consider

Psychological Process
(A) HsinPaoYang
(B) Palmer

(C) Hader
(D) Goode and Hatt

interview as

JS-15138-Series-P

2. Who constder interview basically

39, @& AR T A fard e 2
Prfora fem 2

<\ 3 (M 4
(Cy 2 (D) 5

40, Frzw A sl @ fel wem
frnfom fem B

(A) 2 ®) 3
(C) 4 (D) 5

AL B9 8 4 om0 g oo
8 ¥

EAVEEEsLalkice?
(B) @ @1 girw
(C) #faa &% & Irdm
(D) RawEm gaad
42, fem? smoem 9 59 w1 R mRiAT

A
R it siEm o
(-{.‘\) i".l .

(B) =181
(C) T2 W@
(D) 7 @ TH
43. [ wnneen @ o3 smiEE siEm
CicHl
W) 5T @i &
(B) ST
(C) 3T
(D) T2 @ ez



11, Wh,

‘i'lh‘lfn'-! "nm,ll\ rOUITes

tinte direct source and indirect

gMIroe

l\'
(I
()
(i

' H Mann
Jaheda and Cook
Robertson

I v Young

Who rand "Primary rources provide

data gathered at first time, that 1s

av, they are ornginal sets of

to =,

data produced by the people who

colle
G\
(D)
(C)
()

it

" H Mann

wem

John Madge
Moser

Robertson

46. Which of the following statements

are true

1

(A)
(B)
()
(D)

US-151

Data  collected through
Schedule are secondary datas
Letters are the Primary
source of data

Lafe history is sccondary
source of data collection
Pramary data are collected

throughinterview

2
<0 3
3. 4

38-Series.P

46.

(11)

(:\)

¢
e ]
4 ltt. [P

(I “n vy

(C)y a2

() o & oy

337 37 vunfas vy B op

i - o A l‘|"..|{ vl ! 4 “ ) 4 r

LI RO I S IR R .

oy Al f:— \': ] :";::'l" TT:: -:—:: -
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e S A

(\) @ Ug. 5-

(B) #1957

((:) :‘J'-ll

(D) 0T2Hnq

Frer &t & o o ot &
i Fo-

(V)
an
(C)
(D)

-

A3 A aw eI @
fctmms wa o
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1. 2
203
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7. Who said “The simplest to . fFE v wmsy T T R e
RR DO e R ILE

Understand, the casiest to make .
AIFE &t g afveem wF f

the most varinble and the most A
widely used type of chart 1s hine w1 EN f WA w2
kraph” VL

(\) Blur

(B) 0=
(B) Vesselo A

(C) Boddington (€) =R
(D) Moser (D) 537
18, Mnatch the Last-] with Last-1l and 48, If:.‘:.l 3T i ol | I3 r{"*r 3 FiAT 3T
choose the correct answer e i e e s REIRS Fira
Last-] Last-T1 GH-| o]
Quadrantsof hive graph  Signsof quadrants o8 e 2 l:,,‘.{;-' wed? 3 g
1 Firs1 Quadrant () (4. %) | =295 enda ad (e, e)
2 Sevond Quadeant ) (+. =) n iy “.‘;':*"'*-__ ) (+.-)
3 Third Quadrant (€} (~, %) 3 b3 arda- ’M‘\-\k, (-, +)
t Fourth Quadrant ) (=.-) 4, ot wrda” Ty (-, )
12 3 4 1 2 3 4
(\) a b ¢ d (M) a b ¢ d
b ¢ a d b ¢ a d
(C) a ¢ d b Cya ¢ d b
(D) d ¢ a b M d ¢ a b
49. Who said “The mode of a 49, [#1 & “qTEE UF el
distribution 18 the value at the a] 7=q ¢ Fa% ana-gm 41 § HiE a
point around which the items tend T @-q= daa o 2
to be most heavily concentrated.”
(A) D.N. Elhance () 2. . o
(B) Lowell (B) e
(C) Gilford () frerd
(D) Croxton and Cowden (D) T T T3

US-15138-Series-P (15)



50. Who «mid  Dispersion s the 60, tind an e T @ [y

measurc of thevanation of itema S BN
(A Kafka (\) TV
(Y Bow ey (1LY {114

- & - r,‘. prow T
!( i (gc\'lt'(' ..'\Il(l lla‘ll (( } l, ’

Nyt
(I Robertson {1

vy y 9ot S 8 8-l 5 oyt om0 JE - S

31, Who satd A hypothesin 1x a 61. P am v arEreT ey 5 Ty

tentative generalization, the nmErETn 2 frsy e o m:
vahdity of which remains to be anlt amd B

tested ™
(\) Lundberg
(B)y M H Gopal

(1) g o s

(C) Green (C) =13
(D) P V. Young y € @ ogn

52, Who =aid “The formulation of the 2. 3= T A NI 3 e
hypothesis is a central step in good 7 fanter o3 s o B
rescarch o g

(AY Lundberg
(B) PV Young

(C) Goode and Hatt (C) < aq 2
(1)) Cohen (D) JTI;’,;;
63. From which language word g3, i g A oofy B oo
empirical 1s penerated &1 :
‘{\) Gfl‘(‘k (‘.\). }fr}r
]

(B) Laun (B Aafm

(C) w9
() x4

(C) French

(D) Hind)

US-15138-Serjes-P (16)



o4,

Which socralomst said Postiviam 1s

scientific
(A Durkheim
(B) Comte
(Cy Weber
(MM Merton
65. Match the List-l with List-1l and
choose the correct answer
List.] Last-1l
Book Author
1 Cultural Seaology (2} Lomell
e Esentialeof Saoentific ) Gallin and Cillin
NMethad
3 The Rulesof Sacologr: (¢) A Welle
eal Method
 Analytal Socology  (d) Emile Drarkheim
1 2 3 4
A\ e b d a
B)d ¢ b a
C)b ¢ d a
M)y d b e a
56. Who said “Dispersion 18 an
increase of the extent towhich the
individual vary.”
(A) Kafka
(B) Brookes and Dick
(C) Connor
(D) Jahoda and Cook
US-15138-Series-P
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{(A\) iy

3
() 712
(Cy dar
(D) 543
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v, e $s
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1 taqra iipEeh (T

b3

aifrsn oty ety b v ot i
e
3 % rom g tiirtetaya 1‘2} L
iy |
§ e, (-f:('?f* cri
I 2 3 4

(\) e b d =na

/Lll'y“ d ¢ b =n

(17)

(C) b ¢ d a
M d b ¢ na

fema 7 ¢ Fam 8 o oferm oF

¥ f=rn ol B, 38 am @ anlem
F7A o1

(\) T3

(B) ¥@ w %

(C) Y

o E

D)



57. In which type of researeh 5%, fyn oY 8 mdrw e @ oo

behavioural aspect of social lefer 1 g g 81TIEA h"ﬂ et ?
studied (A fra A

(A Pure research

() i am
(N Descniptive research

Y anrire Py
(" Apphed rescarch 40 e an

tIh “luh\fl(‘dl l’\‘u‘an‘h (l)) {‘If‘{‘rﬁn}-’ 'J?Tll

S8, Alternates an @ closed question. B8, T el # T 7 e e )

paire are (’\) rm
iAY Pictonal
(B) e
(I Unhmited
. (C) ¥igd
() Lamned -
- - L )
() None of these (D) ﬁﬁ L
” . S
59. Who fills the questionnaire 59, FFEH W WA ©
(A) Researcher (V) Jﬂﬂﬂm
() Respondent (B) SN
(C) Frniend (C) 53
(D) None of these (‘U‘; :—.ﬁ bt !f:ﬁ C el
60. Naturc of Social rescarch is 60. TniET SRTA A Q{ﬁ 3
(A Saentfic (4\)/"3?'[{"{'5
Y
(1 Social M) TR
(C) Botl
l (C) ==

(D) None of these

(D) = Q¢ af
US-156138-Sceries-P (18)



»3.

Which one of the following 1s not
the theoretical objective of Social
Research

(A Find out functional relation

between the social events
(B) Formulating new theories

() To gan information about

social problems
(D) Control over socinl events

Match the Lastel with Last-ll
List.] Last-1l
1 Prodbes of wiald i3 Prdlemed

teneati ARt e avate gl

3 Unlty ef el research (V) Helidad i wonsl comesd
3 Listaten of varvey (¢) Study of caly
Eethad

ovrcrets [l boeretin

& Uty of seney meibad (4 S20dy of Paycdalognl

facte
] 2 3 4
A) a b ¢ d
MBb d a ¢
C)ec a d b
Md ¢ b a

Nature of social relations is
(A) Quantitative

(B) Qualitative

(C) Factual

(D) None of these

US-15138-Series-P
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D) s gl qr g
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A a b d
ML d a c
C)c a d b
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(A) ST

(B) TIRTE
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G l. Stk‘l:tl RUrvey moa

6h.

66,

Process
(A Simple
(BY Expensive

(") Co-operative

(M Complex

Match these Surveys witly ther
tLypes
Survey T_\‘r-mufﬂunr)'

: TR AY LT -:f"l‘n\tfv

e Uvathoe baanel Ly I‘.IS;W;:.

b O th bane efenploestion 163 Pyle S
IO the Yo o s boctive

1 2 J 4
(\ya b ¢ (
MBb d ¢ g
) e a d b
Md a b e

Which one of the following 1s

known as attitudinal survey
(A)
(B)
(C)

Confidential survey

General and speaific survey

survey

(D) Factual and opinion survey

Which type of survey will be used
to know the causes of Dowry

system

(A) Diagnostee survey
(B) Urban survey

() Regular survey

(D) ()lm-rv.’t!lnn.-mn'('y

US- 15138-Series.p

) Explanateny Survey

(4 Graaloatse e Sarvry

Primary and Secondary

G1.

65.

66.

67.

amfas Wi oF of3m 3

(\) #m

(I3) el

(C) #wrarh

Jn -

Bt et & 319 3§ i,

iy '
B Lt R 7 gy

U onum @ e gy () STTm g 5)

G2 AL SRE S M Fand nhey

3 WA e g () Jied nlew
4 I F ey

| 2 3 3
(Mra b ¢

) T Bl

B b d ¢ a

(C) ¢ a d b
D) d a b c

B 8 @B wigiags wden on

(\) Td qqe

B) 817 @ fafirer whe

(©) 7 aaq frdms wham
(D1 0o sty wlae
A 90§ I §) A 2 o fim
ST DR g9 fi am

(N s whys

By g e
(€) {371 wdim
(D) 3TNTT 17



68, Tvpes of sources of Information

68, 6T @ W 3 ogem y
are

Ay untng,
(A Priminn

I Ixdigs
(U Secondany (

W Both A0 A
(M None of these (1)) zr & D 54

69. Which tape of wformations are 69, 00wt 3 goam tdm ant oom

collected first time by the field uen W 4 owmdh P
wirk
™ mdaE
(N Poimoay
(B) indias
(B) Sccondary
(C)

() Doth
(1) None of these (D) ﬂﬂ it Q}f !

70. Arrange these steps of socinl 70, IWTfA% @n 3 1 G @ Lt @

rescarchaininereasing order am A Emd

1. Determmation of Units IR ¢t i Al Eint i

2 Formulation of Hypothesis 2 WEFAE @ !}m

3 Selection of respondents 3 genaad 3 aEn

1 Collection of data 4 AW ® EEE

(N L2 30 (A 1, 20 35, d

M 2 3 4 1 (M 2 8 4

{OVTS TS P M e
(n 4, 2 3 1

) + 2 3 1

US-15138-Series-P (21)




1.

7.

Match the 1ya I wath Last- 11
l.l~1| las=t:1]
N O (03 Fepaen mriiog
< . Yo Dot b ] merd
} Feowe ot P Mty o Bood »
i hs
I 5 [ Vrgundoate=4d4) Loophog Vithal

(\v b ¢ a d
(I 4 b 'y n
('} ¢ a b d
D a b ¢ d

.\(usullnc to

solution to the research problem.
(\) Townsend

(B) P 1 Mann
(Cy M H (;t.-p:\]
(M Northrop

Nature of whieh Rescarch is

diagnostic

(A} Pure Research

(B) Action Research

(C) Applicd Research
(D) Descriptive Research

Match the correct Pairs
last.] List.]]
1 Scurces of Hypotbanae (8) Covers! (ihurw
) Istmncs
() Helglal o9 cxlmtaon
if daty

L Ivguetance of Hyguehoss (1) Prossiding wuitadle

hypothesisis a

(N Ta&khb He&d
(B) la&ke 11.b& d
(C) La&kd, Il.b&c
M lb&e Ia & d

US-15138-Series-p (
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Rt L ot 1A tad T VITE gy

» e A1 ey 4 21 0rf o

} g pertan LI UallE ¢ FUIPS
."r:f.‘ " = oy

e Rk s

1 2 3 4
MY b ¢ a d
M d b e a
(C) e a b d
N)a b

iy
—

-

T NTET STEERIR yrmme
¥ R 7 RS aEw o T b
() _ZFITHT2

M) < e oge

(C) o9 = oo

(D) g

fem w41 wzfy s &4 s
(\) s oy
B s &y
(C) &mofrz g

FeLll
() ==
(L) ¥=rge
() mA R
Il Syemy ap wemg SUBR SR R el ae
(A) Latvgy, ll-cU3 d
(B) Lavie 1L T d
€) Lawdd, Nboge
(D) LLbwde, 1.4 v3id



L Who said that Secnl research s
the imve stigatien el the underlving
Proce s eprrabive n the hives of
Persons whoare associated
¢\ Lundbwerny
(It Moser
O e Pl
(I Bopandus

6. Census report as
(A Poman data
By Secondany data
(Y Bath
(t None of these

7 Accondimgto ' V Young whichone
of the following 18 not a type of
Primary source

(A Dhirect =ource
(B Indirect source

(C) Secondary source

(1) Allthe above
78, What type of document 3s Bharat.
2011
(A) Personaldocument
() Pubhcdecument
(C) Both
(D) None of these
79, Interview s a Psychologienl
(A} baent
(B Process
() Both
(D) None of these

US-15138-Series-P
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80,

8.

82.

83.

US-156138-Series-P

Who used the focursed intervies
at first
(A Durkheim
(I M N Basu
((" Merton
(I Bogardus
Match the Correct Pairs
last-] Last.dl
s frteryow o the baaee (11 Doagmontsr [ntervw
of Poryorms
b leterew entde bana ol (2) Prrvonsl laterves

pumles inlemints
¢ leteprvwn oo the bojage of {3 Ehort term [ntrrves
|‘.'n"'l |

https://www.ccsustudy.com

& Intervwm omthe basnof ({1 Soratared Jawrves

Lrructure

an b ¢ d
(A ) 2 3 1,7
D) 2 1 4 3
3 2 1 47
D)4 3 2 1

Interview done with the help of

interview schedule is

(A) Unstructured Interview

(B) Semi-Structured Interview
(C) Structured Interview

(I Al the above

Choose the correct statement

(A) Social Phenomena are simple

(B) There 1 no nccessity of
syatem in research

(C) There 1» only one reason
belund aninadent

(1) Research s discovery of new
facts

LS

80,

81.

82.

83.

(24)

FEey TR T S I g

fym

V) ?fm

(I3 . R

(C) 2

() @min

afl 712 fgEm
1yt T

a IHT 3 Ear e () Boewy e
it M

b oo tnemE () R eegy,
JECT TR ITUTEETY

¢ NERNT TS (D IV s

d nrgr F arge T (0 o imews
frainter 4 4

a b ¢ d

N1 2 3 4

() 2 1 4 3

C) 3 2 1 4

m414a 3 2 1

W A = o o

anneyT o

(\) Huvaa wenee

(B) srimifaa v

(C) wian smmrr

(M) IEHE mh

URIRRCEDIES

() unfas gza e o B

(B) dF#ur & s wwh 57

(C) ©% gz 2 9% o 71 #nm

il

(l)) AW a7 aey o g b



86,

US-15138-Series-P

. Chocse the incorrect statement

(\) Meaning of Research s

frequent discosening of the
fact

(BY Man s asocial ammal
.
(D None of these

Research s svstematic

. What 1» fal<e about the interview

from the following

L) Study of abstract phenomena
1« possible by interview

(B Interview s aflexible methed
(C) Interview 1= n costly method
i1 None of the these

Who =a1d “An interview can be
defined as 1 Meeting of Persons

face to face on somce points.”
{A)Y HsinPao Yang

(B) Bogardus

(C) M N Basu

(D) Merton

. Who has used the word Participant

observation first time
{A) Karl Pearson
(B) landeman

(C) Lundberg

(D) Chase

LN

IR T aifq%

(AV YRR 31 AT O oo oy

ak
(M) == o awfry o b
(C) e Fngs fon R

Dy R A A af
a8 R w2 oo o g
s b
(N) TR Fm aA wTEa
Wormg wer b

87.

(25)

M FTumw o Een ek
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() =% @ @t =4

femy o {5 voF wATTIT W TR
fras 7Y 337 SErd § aTALEER
nifsmenmgen e

) o &

(B) &En

(C) T T

(D) w3
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(N 7t fraea

By frzim
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whaarvwglicn

RS 1~ =
i =
L)
- n
Yoa .
L = 0 '
8, P v
-\ —ve
@ T . wrvatze Goode and
pimls checrvation
L 0‘4-- ‘: — u\f?ﬂfﬁ'ﬁt;s‘ﬂ
— L]
< vl ad cheenvation
T Mass e rar 1S

v Comtrolled obecrvation

L Tha wst of questions which 1s sent
worerro = 2o=te by Post 1s called
Vo Sehedule
Vo Quesuonraire
O Bk
D' Naze of these
2. Weren Sucstionnaire 18 pnot

felurned then letter senit to
Ferewent after 15 days s called
A Fe

B leegivity Letter

o up Letter

-

O Coweming Lotter
(I None of those

US-15138-Series-P
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|

a3.

9.

§5.

The methad of data llecrion by
whicheduented respondent . i lh;-
answers himselfor heeself 1s called
(At Schedule

(B lntermview

() Questionnarre

(I Allthe above

Which schedule 18 hke an

obi=ervation punde

A\ Ratng schedule

(B) Document schedule

(C) Interview schedule

(1) Observation schedule

A schedule 1s used for

(A) Educated Respondents
() Unedueated Respondents
¢C) Both

(D) None of these

094,

95,

96. Which onc s true regarding case 96,
study
(A\) Case study method 158 the
mixture of many methods
(3) Case study method is not
quantitative method
(C) Thas ts the complete study
of a unnt
(D) All the above
US-15138-Scries-P (27)
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95, Whirk echiedule 1s more used In
oo itenietrye studies
(A Ohher ation Schedule
1 Rating Schedule
1 Intenew Xchadule
11 Dqument Schedale
98, Charecterietics of the case study
methed are
(A Intenave and minute study
it Complete study of 8 umit
(Cr Hoth
1)) None of these
89, Find out false atatement

(A} Sample method 19 used in
Care atudy miethed

31} Sty of caeiral factire v cliipe
by case study e thond

(C) Burgess  called  social

microscope to case study
methiad

(D) Sources of data in case study
method are dianes and letters
alw

100, Probabulity Sampling 1 also
knoan as

AV Quots Sampling
(Y Purposive Samphing
() Random Sampling
(D) None of these

US-15138-Series-P
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MATHEMATICS-VIII
Linear Programming
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Question Booklet
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RollNo.(inwords) o - a e - - -

gt (et ¥)
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P H TH
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- BT

Instructions to the Examinee : : et 3 R e :

1. Do not open the booklet unless you are [, qE-gfk a9 9% 5 Qf 9 95 Y
asked to doso. _ U1 7 T |

2. The booklet contains 100 questions. 2. m—gﬁaﬂ # 100 9w ¥ | ol 2 o
Iixaminee is required to answer all 100 100 55 %) 349 & T OMR aC-Hie
questions in the OMR Answer-Sheet P R PN
provided and not in the question booklet. 3 't VIS RIE U
All questions carry cqual marks, S5 2 oi% W '

3. Examine the Booklet and the OMR 3.  N¥I & W i &1 @ T ne-Gfen
Answer-Sheet very carefully before you T OMR JFa-4iiE # m‘lﬁ?ﬁ 1
proceed. Fauity question booklet due to h Aot -Gk Rt g8 W e |
missing or duplicate pages/questions or TN 8 7 997 U | Y@ 9% 8Y T &
having any other discrepancy should be T T PRl o T Y o ), IR g
got immediately replaced. '

(Remaining instructions on last page) (1) ( Shy gy o g W)
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L. - Four sub-problems T to IV for the 1. 99 3 I9% TH0E B WA B BT

L —L

soldtion of LBP. L pp
Max. 2= 7x| +9,1‘2
IFEm  z- 7x 4+9x,
subjectto =X +3x, <6
7x,+x; <35 Fafe -x, +3x, <6
7x,+x, €35

and 0<xp, x; S7,x, x5 are_integers;

o7 U'S.I'],Iz 5?,X|.1'2 iuﬂﬁ %} E‘E

_ by using Branch and Bound technique

_are (Given that optimal solution & Bg 1 ¥ v 8% STl ¥ (R
9 7 |
IS X =X =) 9
e 2 2 %ﬁﬂmﬁx|=‘2‘:-ﬁ=% 2):
Max. Z=7% +9%y |
o . _ AHHH  Z=7x,+9x,

subjectto —X 3%, <6

—~ 7x+x, 535 . 2 ~X,+3x,<6
X520 . ' Tx,+2,2<35
: x.r 20

and . aqr

T X, S4,x2 <7. H.A] >S5, Xy <7 _I. X £ 4..\'3 s 7. H..‘l‘l 25.)(2 <7
(4) '_Ill.x, <4,xy €3, [V.y, S4,x, 24 (A) M £4,x <3, IV.y €4.x; 24

L X% S55 <7, 1Ly 25.x,54] (L xjSSxy<7, 0Ly 25,x, <4
®) [III.x. 5,1 ST IV <4, 24 ®) L% S5:2, 7,1V 4,5, 24

(L 3 S40<5 1Ly, 25,0, < 51 [ X S4x; 25 1 25,0, <35 ]
(C) |_II1.:\'| S4ry23, V. €30, 24) O iy 40 23 1Vax €50, 24
(D) None of the above (D) IR ¥ | BF 7
US-15106 (R) (3)
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The necessary and suflicient condition
for the existence of a feasible solution of
a transportation problem is (Given that
ith origin has a, units of certain
product and jth destination requires
b; units of the same product) :

A) 2.4=0

=1

® 2.5 =0
J=l1

(A) I«||_=2.x2| =_l,xn =:3,123 =2,
B X33 =3, x4 =4
(B] 11 =I'III =lx22 =2’x2; =3'
X33 =2X34 = b
X1y =2,I2' = 1.122 =‘3'x23 =2’
) 133 =:2|x34 =S
(D) None ofthe above

US-15106 (R)

© 2a%2h
=1 2=
P 2a2h
=l Jol
Using North-West corner rule, an initial
basic feasible solution to the
transportation problem :
To
I 0 1O IV Supply
A 3115 01— -
From B i7 14 12 13 6 1
C 18 18 15 12 7
Demand 3 3 4 5 15
1s:

o S S e &

2
Aaer W ah il (FAER
& A R B ) A g
e e & w4 e W
i T A o) TR W A
= ?)
(A] z;la,-=0
(B) gb":(]
(C) Zﬂi‘#zl:bj
-~ j=
D) Z‘FZ,“'J
el J=
3. -3 B Praw @ 93T N AAES
Tl
2 67 T
»‘31_ I 0 omoIv oy
P A3 1115 20| 2
50 a B |17 14 12 13] 6
% cliB18 15 12| 7
" W 3 3 4 5|15
A & TG T T B &
(&) =%y =Lxp =3x3=2,
133=3,X34=4

(4)

B) N1 =LXy =230 =2x3=3,
X33 =2,%34 =5
€ *1=2xy=Lxp=3xp=1
X33 = 2,1’34 =3

O o d Y R

https://www.ccsustudy.com
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4. The transportation problem :

Y4

0, 1 26 3 gl 6

0, 4 3 21 {6 g=2

0y |dw 2 .g i |10~
Demand 4 6 |24

by ‘lowest cost entry method‘ has the
initial basic feasible solution as :

(A} le 35‘11—311‘—-6 I:“ 4.1'33-.-6

/GB) X2 =_6.x;3h=__2.x2¢ =5-IJ| = 4--‘-’33 =6

(C) X2 =6 12]—2 A4 —6‘ Xy ——4 .\.’33_4

P

(D) None of the above

5. Aninitial basic feasible solution to the

transportation problem :
Destination
o I 2 1
OignO, 3 3 2 | |50
O; 4 2 5 9,20
Demand20 40 30 m”f 100

Supply
4 l 30

by Vogel's approximation method is :

A

®)

:\”—20 I|3—|0 \.12'20
x-_,__-;,-lﬂ .h,‘!lU J.‘-y--..U

X1 =Ig.."|3 = l..\'zz = 20.
123 = lU..r:_l =2'D, 132 =20

X =18,x13 = l2.xn = lg,

Ay =22‘r24 = 1{}‘ :\'32 - 2(]

(D) Noneofthe above

US-151086 {R)

(©)

4. TG HERN

D, D; D; D, &

O 12 3 4| 6

O, 4 3 2 o0 8§

0, 0 2 2 110

M 4 6 8 6| 24
H ‘e B R Y v e

HMRYd T 50 I 5HT &
(A) X33 35..1'13 =3.Iz‘ '—'6.15| ‘—‘-4.133 =6

(B) Xi2 =6‘I13 =2..].’3J =6..1'3I =4‘x33 =6

(C) X112 :6n123 32‘1'24 =6.13| =4.133 =4

O i F & B Id
S. T 99
o wm
D, D» Dy D, D;GI@
0, |I|— > 1 4
mo; 3 3 ! 1 50
O, 4 2 5 9.3
BT20 40 30 10100
o ‘A wiea AR arr o s
AR T & & -
@ X1 =20.x3 =10,x5, =20,
.1'2_3 -—.U.I-_,__' —lo. I}z = 20
(B" 'a'“=l91|3=ll.l'p‘—'70
1_3-10 .\'-)4 ’0 1'3-0 —20
=18 x =]21-1'ﬁ=18.
© T 13 ”
Xy = 22.124 = 10. X33 = 20
O) IR * ¥ B T

(5)
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If a feasible solution of m by n
transportation problem has m+n-1
independent e;l_l;o_c._liqﬁ_s_ _ and
-c,., =u, +v, forcachoocu]:!edccll cell
;\'aiuailo; d, =c; —{u;+v;) to each
mpty cell (i, j) andall d,, 20 withat

N

least one d;; =0, then solution under

p——

testis:

(A) Optimal and unique

(B) Non-optimal
Optimal and alternative optimal
solution cxists

(D) None of the above

For a transportation problem the initial

basic feasibie solution (by Vogel's

e —

mﬂhoc_i_‘.l 1s determined as in the table :

A aslable
D 27 3

ATRITL TNRENFET N I T
Qa D60y 185) 4T
C3 A250) ,(200) (301

_ ' , _

N

Regurce ¢ z 2 ®

This solutionisa:

(D) None of the above
US-16106 (R)

6

)
-\
RIRYGEIR

(6)

6. aR (mxn) qEraR el A qTeg

5 ] T TR TN T
. =, +v, BT W TS &
S G d, =y~ +)) TS
T LA
4,=0 % @@ @ d;20 ¥ W
vy s s ¥

(A e T AT

® R-wdFT

(©) T T G W T
R e X e

O) 0% § 4 = @

@ AR R  RY AR
Tareyd T g (A A A
9 S e ¥ 7 €

Dl Uz D+ 39
0 [0y [ oy T@20) 1
02 90| @5 [(17)] 3
03 [(250) am)zl(soh 4

T 4 2 2

MEEE:
A T-IEe
®) HFNRe

©) T
®) A X ¥ B} 8
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a An unbalanced transportation problem 8. @& Gmgﬁm AR 9]

To
I 2 3 Supply
L{s 1 7110
Fom 26 4 6|80
3f3 2 S§|1s
Demand 75 20 S0

ey

—_—

has penalty costs for every unsatisfied
. ' A==

. _fi.ffnfff],_ unit which are givenby 5, 3and

"r

b

-
( 2 for destinations
— - T

-~ -~

2 and 3

o

tespectively. Then initial B.F.S. (by

Vogel method)is :

-r—"”_’-—‘_ )
(A) xz2=10,x =60, x5 =20,
X311 = 15,.1‘43 =40

(B) Ilz =]0,::2] =6{}\I}z =20'
Xy =13, =40,x,, =40

X3 =10, X3, =60, ¥y =20,
(C) A3 = 15, Y =40

(D) X2 = !0';‘\'2' -_-60..’('22 =]0-.
X9 =]U,I“ =]5,I43 =40

US-15106 (R) {(7)

-

Id&-—Mﬂ
!

W HUGE AT 7 3 e 78 Bt
TG & S 5,3 qw 2zmu A
A 1,209 3 Fa =9 3 R
A AR T T9Y & (R
i zrm) 3

(A) %12 =10.x;, = 60.xp, = 20,
1'3! =]5.3‘,‘3 =40

{B) Ip = l'D-x-n =60..'.'n = 20,
o = 15,5, =40.x, =40

"‘ll 210. I =6, X33 =20‘

R £ Y 1‘[5‘ xa =40

(C

{D) X = 10..\?31 =60~I‘11 = “].
I:} = ]0. .'C:n = 15..1"3 -"'40

https://www.ccsustudy.com



https://www.ccsustudy.com

9. I ¢ M(W)%raﬂﬁﬂ#
/¥ it freir & T

9, Let ¢, be the cost (pavment) of

assigning the ith person to the jth job

d x.
e fi ot A o 9 At ¢ o
:|Iifil.hpersnnisamigned_lnmcjl_bjoh xi,zlo & Rpar T B
10 if not
Then assignment problem will be : oa Frafor e et
L
2, - Min. Z= C;i X
Min Z=EE:‘., X, " E;Eﬂ vy
=4yl s
subject to : S
(A) Zr =LY%, = W Y=l Zx#-.:o
=1 Ll
®) =00 %=l (B) Zra=°-Zxo=l
=l = jwl A
(©) ZI-— IZx =1 (©) z’u' l)_jlx,,_l
[m} 5=
v ZI.=LZI.=1 @) sz':"zxaf;]
rt = el =i
10. The minimal assignment problem 10. g freier T
b oL
A B C !I'I,o A B C
120 100 80 Bo 32 1120 100 80
~ 20 e
Pesn2 {70 90 110/ _\\©  ~33 2(70 % 110
3010 140 120 2 3 (110 140 120

¥ T

has a solution :

(A) 1-C23B3=A =730 A) 12C25B35A

(B) !—mz-»as-;r: =330 (B) 1-A,25B3>C

(C)* 1—)3 2%@3—}(2 (C) 1=-B29A35C
w Noneoflheabovc 1) mﬂﬂ'!ﬂtﬂﬂ
US-15108 (R) (8)
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A factory has four plants cach of which
can manufacture any of the four
products. Production costs differ from

plant to plant as do sales revenue and

-

_given belaw:
Sales revenue (Rs. 1,000) Production Cost
= = T Praduct Product
Plant | 2 3 4 Plant ! 2-“3 4
Al50 68 49 621 A |49 60 45 ﬁ|1I
B (60 70- 51 74; D53 63 45 69|
C |55 67 52 700 C |52 62 49 68;
D (58 65 54 69, D55 64 48 66

To maximize the profit which product

— —

each }antshculd pmducc'? _
{A) A—+EB—>4L—>ID—>3
(B) A-»I,B=>2C—o2>4D->3

A A-52,B—+4,C>3,D—

(I») None ofthe above

12. /A principal has four tasks to he

Jertomed gmd lf.hree teﬂchers who

differ in efficiency. The estimates of the,

t1me egach teacher would take to

perfonn, arc given belo 1 bel 0w in the matrix.

How should the prm{:npa[ allocate the

tnsks one to cach teacher, 50 as 1o

minimize the total man houn ?

Teachers
1 2 3
I {9 26 15

HEi3s 20 1S
v {18 30 20

I=L1H-2 -3

(A)
(B)
(€
(D) None of the above

I=0L1-3 M2

=22 N=3 -1

US-15106 (R)

12.

(9)

https://www.ccsustudy.com
11.

% HEA § 91 Qe §, 5% 91
IR} B INET BT GHAT &1 IR

TR T @O J AT 3,
4 gt el R o - @

o feg @

fazft ol (5. 1.000) @ i
4= O
woel 2 3 4dguel 2 3 4
A 30 68 49 62 A |49 60 45 6]
B|60 70 51 74| B 55 63 45 69
Cl55 67 53 70| C[32 62 49 68
D38 65 54 69] D|[55 64 48 66

e W ANH T S R -
I FAS @O A FT Ay 7
A) A=>2Boa4Co1.D=>3

B) A-I1.B=22C—o4D-3

() A-52B-4Co3.D—I

@) IQE J & FE 7

T IO A IR B 3 R R
T el A &, & HEW
T ARE W e e o
A § wmem, A= =g § R
g A 5 SR s Res §
F i B A% @ W TR
A B A R ?

I 9 26 |3
gl 13 27 6!
I35 20 135
IV 18 30 20J

Mm-3

(B) -2

(Y 5205, -1

(D) IWHE T | 9L T8

Lt laa

(=

A [=1LlI->2,

=1L 11 =3,

https://www.ccsustudy.com
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problemt
=10,

3. For the travelling salesman

“'ith daT.E CL‘ = :{l- Clr = 4 -

f];_—_s‘ CH=6_ (':_‘:-IG- (.:“'16 .

e = 20, where ¢, =€, and there 1§

no route between cities and j i{the

value for ¢, isnotgiven. The assignment

table of this problem would be :
To
1 2 3 4 3
1l a 20 4 10 a
22 ¢ 5 a 10
me?;“ 5 a 6 6!
4{10 a 6 a 20
Sle 10 6 20 «
(A) where g=0

%?f where g=w

(D) None of the above
14. 1n goal programming problem, which of
E{Dllffﬂg ig_nqtm:e ?

(A) Itis multi-ohjective optimization

problem
(B) Goalsmay even be conflicting _

ﬁ@) l-hght.r priority goals are gwcn

Jeast i Impﬂr[anna

L=

(D) All goals not be fulfilled to the

target expected

US-15106 (R) (10)

14.

13. hﬁmﬁaﬁﬁaﬁmw%fﬁ%

CH=1u_|
=0 ,

%, =206 = 4,
e =5, €y =6, Cx =10, Cy
¢, =20, T ¢ =c, T ¢,
oo T Ry, @ id
T 3 T e T T & @ T

2q Praiteor afesr 861 -
REd
1 2 3 4 5
1 g 20 4 10 a
520 a 5 a 10
¥3l4 5 a 6 6
4 10 a 6 a 20 J
5 o 10 6 20 a
(&) Tl a=0
fBJ“’lﬁaﬂ
(€) Tl a=w
) I d § B T

o T awen ¥ e # & A

Ta T2 ?

A) TG T TG T
?

®) 7 War- R o & g §

(C) T= T I TR B e
mew Rar ik @

) T 7@ & onRE Remr Tt
7% fae o v

https://www.ccsustudy.com
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15. A factory produces two kind_of
preducts, chairs and lamps. Production
of eitherilcm rcqmres 1 hour. The plant

has maximum capacuy of 10 hours per
week. The gross margin from the sale of
a chair is Rs. 80 and Rs. 40 for that of
lamp ]"orrnulahon ofthis p pmb!em asa
goa programmmg pm (if the goaj
of the_ factory is lo earn a grof‘t of

s m—

Rs. 800 per week) wil will be

e S . ——

80x, +40x, +d —d; =800
X, +% <10
X, Xy, d) 20
with objective function :
(A) Max. Z=dy ~dy. where [d])
and ;' are respectively under

and over achievements of profit
goal of Rs. 800 _

AT M. Z=df +d
(C) Max. Z=d; +d;
(D) None of the above
- 16. Deviational variables _in
__programming satisfy which of the
condition? -
(A) d}=df =0
B) d'+d; =0
(C) dfxd =-

1
) d xd =0
Thc solution of goal programming
problem may be obtained by :

(A) Graphical method only
(B) G P. Algorithm of Simplex method
~ (modified) only .
ﬁ(c) Both (A) and (B)
(D) None of'the above

US-15106 (R)

goal

15. @F FL@A 3 GBR P SAR-FA a4l
oy e & Re @t © & Fmber A
TF gU aT B WIE B AT
geam 10 99e giy gaE & F@ D
3o T T 80 FUY W A & I
W 40 507 & I& @ frear 3
o B T R aee P
(3R FEE F & 800 5. nhm
T AT B E) g

80x, +40x, +4, —d, =800
x,+x, <10

X, %, d, . d] 20

&l 95 G & ¢

) Max Z=gy-df T df T
dy &9 < 9 Aites Srferdi
& 800 T & AW 9 A

(B) Min Z=4; +d/

(© Max Z=df +df

D) IFE § § fg 7

16. @& 55 I Reed =X oF-0 99 &

A= $ ¢ ?

(A) d'-d =0

(B) 4'+d =0

(C) d:)‘di_z‘

D) df xd” =0

17. G WA OO H & W 6 @

T 2

(&) a@ I Ay A/

B) ¥ Rreew My (=) 3
<14, wrifEd 8

(©) (M@ (B) A

D) IWHE ¥ & 7 Tl

(11)
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Devivational Pnonity

A company produces 1wo ilems radios
and transistor. which must be processed
through assembly ~and  finishing
departments. Assembly has 90 _hours
available finishing can handle upto 72
hours of work. Producing one radio
“requires 6 hours in assembly and 3 hours

i finishing. Each tr ach transistor requires 3

rsin assembly and 6 hours in finishing.
The pmm radio and Rs.90
per” waiiSistor. TRE company  has
established the following goals and has
assigned them priorities P, Py, P, (where
P, ismost important) as follows :

Cwal

variables

d.
dl
d,

US-15106 (R)

P, Produoe 10 moct 3 adio goal of 13
- . o g

P, Reach a peofit goe! of Rs. 1950

P, Produee 1o mect 3 transistor goal

of 5§
Formulation of G. P. Problem is

Min. Z = Rd; + Pd; + Pd; subject

10 6x;43x; S90. 3x,+6x, <72 and

X, x,.d; . d;.d;.d}.d; . d] 20 with

profit, radio and wansistor goals

rwpwtivelyaj_:

(A) 120x, +90x, +df
x +dy —dy =13
Xy+dy ~dy =5
120x, +9ﬂ.r3+d -d; =1950

-d, =1950
and

and

(C) 120x,+90x, =1950
x +dy -d' =13
Xp+dy-dy =5

(D} None of the above

and

(12}

18.

e W st
d.‘

d.
d

o 7 3 g Y 7 g T
¥ A5 ot 3 R BT @
A B B et R & I 90
qw qa 72 902 el R @ o
e ¥ o WA T A 6 T
vy & e 3 oo PR Rver A
TR W oF gitwer ® B 3 T
I & T 6 wd B AR
Rt & sve 81 @& WA |
120 §. & @& FRT W90 T A
v e &1 TN A T @ W
W ¥ qo T AERET ALALA
Py frag = W@ ¢ (oW A

i weaq 8)

3

. 13 1 SR W A wW

p, 1950 Y 5 O A Y AW

P, 5 PR WA W PR8N
7Y GP. T W Frer }
Min. Z=FRdy +Rdy + sdy
TRl 6x +3x; <90, 3x+6x T2
™ x.x,d .4 ,d;,d;,d;,d} 20
F: T, R T T I B W
(A) 120x, +90x, +dy -di =1950
x +d; —dy =13 aar
Xy+dy -dy =35
120x, +90x, +d;
x+d -d =13
X, +dy —dy =5
120x, +90x, = 1950
x-dy =d* =13
Xy +dy —dy =5

(B) -d; =1950

©

®) IRF {9
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19. In goal programming, at optimality  19.

wh:ch 01' the f‘olluwmg condmons

mdtcatg_tnat a goal has been exactly
satisfied ?

(A) Positive deviational variable in rhe

solution mix witha negative valuc

g T e e,

(B) Bcth posnwe and _negative
dcvmtmnal vanables are in the

solubion mlﬁ_

Both positive and ncgative
deviational variables are not in the.

solution mix

(D) None of the above

’ ln simplex method of goal programming 20,

the variable t enter the solution l.mx 1S

- e ——

selected with :

(A) lighest priority row and most

_nagitwe ¢; =2 valug n it

(B) Lowest-priority row and most
positive ¢; - z; init
(C} Lowest priority row and largest

negative ¢; - 2; valueinil

" Highest priority row and most

positive ¢, ~z; valueinit

US-15106 (R) (13)

T g ¥, wEpea W i
-8 ;& cuid ¥ 5 aw -9

iR awe?

A BT d s e R F

T TONEE

®) A TEE T TS REe

mrwm3y

(C) I THHE  FTE S

wRTmFEE

D) I T ¥ I

T T % e O ° @8 =X
By g o &y 1 # Fglg &
T B, W

(A) e wEeear G- @ a9
T ¢ -z, B TANS TS
M T &

®) Feraw aefe o & @ o
T c,~z; B WS TS
W T @

(¢ M mafyww ot | & @
T ¢;~z; B B FTOTD
N T @

(D) T gD W 3§ @ @
L L PSR %w‘fﬁzﬁm
qﬁmﬁnéf
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21. In a Linear Programming Problem

(L.P.P.), the obicctive function :
wyn‘ Must be linear

(B) Must be quadrabc
(CY Must be non-lincar
(DY None of the above

22, A dcaler has Rs, 10,000 10 invest and a
Space ta store at most 60 p{cccs 11e deals
in two items A and B. le;-llternl\cosls

NS

_himRs. 500 and one item B Rs. 10{1 He

T = e S

can: sclallthe 1 fems that he buys. eaminga

proﬁlofRs 50and Rs.15 for cachitem

"AandB respectively. Formulation of this
problemn as I P.P. so that he maximizes the

profit is:
Ceex Nnj:t;ié}f:};az =10000x, +60x, with
x)+x2 50, 50x, +15x, 100,
x20.xy 20 S
(B) Max. ,Z=§!Ux, +_lle3
P REs <60,  5x+x, 210000
and x; 20.x 20
(C) Max. Z=30x +15x, with
x;+xy $60. 5Sx + x5 <100 and
x20.x,20
2 Noncof the above
23. For the inequality 4x+5y<I8, the
pomtsofmtcrsecunnm

with

2. TF TEH P A A (LPP)H
g Wi ‘
&) s 3 AR
(@) T & =T
(€) M B AT
M) I & | HF W
22 o A F 9 W 2g 10,0009,
o AT 60 TR UG B WM
% qg 9 9T A T B T ANK
AT 2 T IEE A TU1 TF FE B
F B FAY: 500 F. T 100 %.
ad ¥ g8 9wl AL El?i
m%ﬁ%ﬁﬁﬂg@‘ﬁm%rw?
% ay § afwan am o T TR
F freqr ¥
(A) ST Z = 10000x, +60x, T
x| +x; £50, 50x+15x; <100,
x,ZO,.ﬁZG
®) W2=SGI|+ISXJW
X +x, €60,  5x +x <10000
T x 20,520
(C) FHAT Z =503, +15x, TEH
X +x 560, Sx;+x, 5100
4l x, 20,x, 20
O) IR # F A 7
23, FERRA 4x+5y<I(8 & fog Nk
s

https://www.ccsustudy.com

B) (0,0),(0,6) s> (A) (0,0),(0,6)

#B) (6,0).(0.6) ®) (6.0),(0,6)

AC) (L0).(7.0) (© (1,0),(7,0)
MGL(_}.IJ D) 2,0,00,1)
US-15106 (R) (14)
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The L.P.P.
Min.
Subject to

S
Z=2x,+ %, +4x,
~2x +dx, <4
x,+2r2 +x325
*3r3£2

—
e —

converted into standard form has the

s 5

Obja.,t.me funcuon as Max.Z = C,.
then:

(A} C=[-2,-1.4.4,0,0]

8 C=[-2-1.-4,4,0,0,0]

25.

__Min.
subleg:t_ to

(C) C=[-2,-1.0,0,0,0,0]
(DY C=[2.1,4,0,0.0,0]

The feasible solution of the L.P.P.
Z=2x+3x +4x;
X+ Xy +x3=2
X=Xy +x3=2

and x), Xy, X320 is:

)Qiﬁ.) X) -4 x;-O .1'3-"'2

;CQB) = —2, 1'2 =0, X3 =4

% (C) x=0,%=0,%=0

ﬂ-’ X =.1. Xy = 0, X3 '—'_l

26.

US-15106 (R)

How many number of variables at least
must vanish for a feasiblc solution to be
a basic feasible solution for the L.PP.
Max. Z=C,

Subjectto (), .(X), =(b), and
X207

(A) m

(B) n

ﬂ n—m

(D} n-1

24,

25.

26.

(18)

LPP
I
5 o

£=2x +x,+4x,
~2x +4x, <4
Xy +2x3+x; 25

2,r|-'-3x3 <2
™ x, x,20.x, = ¥ amiyaf
& B T T I w WA
A i Z=C.% a5:
(A)
B)
(C)
(D)
LPP.

LT
S| CH

C=[-2.-1.4.4,0,0]
C=[-2.-1,-4,4.0.0,0)
C=[-2,-1.0.0,0.0, 0]
C=[2.1.4.0.0.0.9]

Z=12x+3x, +dx,
X|+x+x3=2

X| =Xy +x3=2

T x), x,, %, 20 B T91F &a 2
(A) - =0,x3=-2

(B) =-2x=0,x;=4

(C) ©=0,x=0x=0

)
LPP.
#;MFE z=C,

Wafs (d), (X)), =(&), @@
x>0, ® o v B, SEeyd
W B o A B R i
A §7 & ke ?
(A) m

B) =

(©)
(D)

X1 =4, X2

X =1k x =0, 5 =1

n—-m

n-1

https://www.ccsustudy.com



https://www.ccsustudy.com

27. L.P.R
s Z=2n+30+0

7. How many slack and surplus variables
are to be added or substracted - to-

' i v ~ 41, +303 87
convert the following L.P.P. mto CIE] 53, 4;;2 : ) g
sapdardform: 2Xy + 53X —=3Xa
standard form: ,
‘hfia.‘(. Z = 2.\'! +3I2 +5I3 4."] +311 +?J‘3 58
SUbjeCI 10 :-‘J.] "4.\?2 +3I3 57"-“"” e X, %2, % >0 ﬂ qFFﬁ 'E'Zl ﬂ m
Ixy+Sxy—dmy 22 *-:’; 3 . 5 7 &
4x, +3x; + 7388~ mlll st 7 IS
. 03207 3ii3:[I Ferl
?:')j I;‘sfa;cl(xal surplus (A) A WH A @Y
o (B) 2slack, 1 surplus ®) 9 WF T &F T \
(C) 3slack (C) = =% ~
e D) None of the above D) IR 73 ﬁg ol
28. Basic feasible solutions of the system 28. oMt
. It+2.‘.¢3=l
I] +1'If_: =1 e =4
_4 L2 3
B 0 Xjs X2, X320
>
1'!. X3 1‘3 2 % Eﬁ % :
LaE :E 4 e ai
/ (AJ II 1, 3.-2 » X3
}[:I.Ij=4,x3=0_ a_[]_d ~
l /2 1/2 5 =0,x=7/2 xy=1/2
x=0.x =7 Lo X9 & - (B) II:]’_‘(2=0,I3=1"2 3‘&‘{

B) x=Lx=0.x=1/2 and

- = ! :4
II=O!x2=0‘_x3=4 X U,I: 0,.13

(C) n=Lx;=4,x=0 and € x=Lxn=4x=0 — QﬂT
5n=0,x=H2x=7/2 :q=ﬂ.x1=]f2,x3=7f2
(D) None of the above ©) I F & A T
29. A basic feasible solution of a L.PP.is 29, LPP & @ MO T &7 &
_said to be non-degenerate h&}(@lé -Eote ST T o
Soluion if: o @, R

%{Ngnﬁ_ of these basic variables is
Ze10 (A) IR A B N YT T 8
(B) ¥ § T T IR YA &

(B) Atleast one of the basic variables
is non-zero

(C) Allthe basic variables are zero (C) W MR LI €
(D) None of the above D) IWF F | P 78
US-15106 (R) (16)
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30. The initial basic feasible solution of the
L.f’._P.
Max.

subject to

£ =3x +2x,
X=Xy <0
X +xy 23
and X, %, 20;
IS:
(A) Non-degenerate
A8 Degenerate
(C) Unbounded
(D) None of the above

31. Given

-
o 13|

the maximum possible solutions to this

\

problemare:
A) 1 2
®) 2
© 4

) 3
32. The Isocost method used in solving an

L.PP.isknownas:

e

(A) Analytical method

(B) Simplex method

W Graphical method

(D) None of the above

US-15106 (R)

30.

31.

-
]

(17)

32.

L.PP.

AMFTT 7 =3x+2x,

EEIE] Xy —xy 50
X +xy >3

aar X, x, 210

Lad

D)

@ LPP. & & $1 ¥ IR FRAHE
ey e 2

&) Rwvres i
@®) RregoTw A

(€) g A

(D) I & § 9 78

https://www.ccsustudy.com
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Using lsoprofit  linc method. 3} Glm wn My = A R
the maximum ‘aluc 01"2 =2x;+ 313, Z=2x +1x, H " a9, m
subjectto 2y =¥, S5 2x, +X £5
v - 5l x)-x S1
x, <2 x, 2

and x;. x- 20;1s: ..

A0

34.

KRR

B) 2
(©) 7

D) 14
Isoprofit lines represents : AT

Aninfinitc aumber of solutions arc
" of which give the same cost
(B) Anmnfinitenumberofoplioum solutions
(C) Aninfinite number of solutions are
of which give the same profit
(D) A boundary of feasible region
L.P.P. of how many variables can be
solved by Graphical method :
(A) Three variables

é) Two variables

(C) More than three variables

(D) Nonc of the above

\jr_'hic.h of the fcllowing combinations of
the vertices (0.0), (2,0)and (1, 1) of a

" triangle is the convex combination of the

imdiﬁl_'__poinl (.3..2)? T
(A) f&fo“,‘o)+.3 (2,00+.1(1,1)
B) 3(0,00+.5(2,00+.2(1,1)

ﬂ 75(0,0)+.05(2,0)+.2(1, 1)

US-15106 (R)

(D) None of the above

34

35.

36.

(18)

i)l .’q..rZEO: % :

*) 9
(B) 2
© 7
D) 14

Jhanifee Yant cofd 8
(A) o wem & g A o @ A

A
B) o gem q wiepe &
©) = v 4w A ol & @
drawd¥
D) T 8T o W
R o} & LPP. B R 39 210
w R o W 8 7
(A) @ T
® A
(C) @ § il T
©) 370w 7 § B W
Frer & & Brgor @ dnd Regalt (0,0),
2, 0) (1, 1) W AT-ar fg Had
My (32 @ Fmime?
(A) 6(0,0)+.3(2,00+.1(1, 1)
B) .3(0,0)+.5(2,00+.2(1, 1)
(C) .75(0,0)+.05(2,0)+.2(1, 1)
(D) IFa & & ¥ 7

https://www.ccsustudy.com
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17. The extreme peints of the set 37

{{x, )| xI€), | yIs ]} are:
(A) (1, 1), (=1,~1)
B (1, 1).(,-1)

ﬁ' (D, L =D, (L =D, (<1, 1)

(‘D) (lr l),(l,"l), (’,_l‘ I)

38. The selofallfegs_i_l?_le'solutiuns{ifnot 38.

) e;t;pty_)_eai.l’.ﬂ isa:
#—-Convcx sct .
(B) Infinite universal set \"\l '
(C) Non-convex set ‘

(D) None ofthe above

39. K S, and §, be convex sets, then which ~ 39.

— — ———
e — — -

. _of the following is not a convex set ?
ACY S, +bS;, aand b are scalars

A 8-5;

4;[). The convex hull of the set of_al_l_p_mlnts 40.

on the boundary of the circleisthe :

(A) Boundary of the circle
Whole circle

S

(C) Interior of the circle

(D) None ofthe above

UsS-15106 (R) (19)

TEd (xp)nxis) ] yisl B
orm g ¥

(A) (1,1){=1,=1)

®B) (1, 1),(1,-1)

(C) (1. 1), (-1, =13, {1, =1).{-1, 1)
(M) (1, 1), (1. =1).(=1,1) ]
LPP. 3 T T = (AR R
T8) B gt W ¥ O

(A) F T

(B) FF FaHe A=A

(©) -3 wg=

@ INF X § B T

TR 5, 3 5, 5 wyeE ¥, @ P
§ ¥ P 99 599 79 32

A) Sus,
B §nS
(©) oS, +5S,. 0 W7 oW T
D) $,-5

39 & @ 9 o R @ wge
cofecic iR o

(A) T | R

® T
(€©) 38 B fTQ 9w

O© TREE X ¥ ¥ &
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A={x: X 22} GET cx=2

= 41.
. The sel .4:{.?::':(2:‘..\"111"": CX=2 % qﬁ@ =
is hyperplanc: 1§ an example of aset G%Eﬁﬁ;q{@” g
whichis: N - . . ‘ﬂaa m ﬁ%{gﬁ
(&) A COT_I}_E\_SE_:_E!E]‘_[ finitely many (. - v )
extreme points =
B) hr:lm altﬂ:‘onvex set ®B) @ IaR wﬂ;ﬂ ﬁﬁaﬂ
A convex set with infinitely many (C) S T .
extreme point 3 O & Iqa qgead
ithout any extreme D) M‘mmmﬁﬁ%m
(D) A convex set without any A
point
42. The minimum value of the objective ;‘Z LPP .
function in the L.P.P. Lo REEN  Z=2x+10y
Min. Z=2x+10y st x—yz0
subject to ':tl.—oyzﬂ _ Sy =5
X = 5}' 5:5 am %,y >0
o w720 % qeq W B A
s n 10 )
ﬂ} 10» o -
i D
(C) 12 , N
() 12
D) 15
D) 15
43. LPPE

43.

The solution by graphical method (a.the
L.PP.
Max. Z =3x+2xy
subjectto  x —x; <]
X +x323
and x. x, 20;1sa:
(A) Finite solulion

(B) Bounded solution

M Unbounded solution

US-15106 (R)

(D) Nonpe of 1hc above

(20)

i

p—

IRFEH  Z=3x +2x;

x-x3 %)

X +xp 23

a1 x|,122ﬁﬁmﬂh
EACURUIG I S

A) @ Rim o &

(B) T dFOd & o

©) G FA &W &

0) IR X & & T

https://www.ccsustudy.com
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Any soluuon 1-'-hh::h 'ialnl'lcs al lcasl one 44

constraint in L P P is mc]udcd in:

(A) Feasible region
*-—_.____._ e

(B)-Non-feasible region
— —— S—

45.

(® Bnundary region

—

(D) Noneofthe above

(f two extreme points X, Xp arc 45,

optimal feasible solution of a L.P.P,

—_—

thenthmr convexoornhnatmn X gms

‘ﬁ/;‘m optimal solution

46.

—
—

B) Ancn-cp;hnalsoluﬁon
(C) Anunbounded solution

(D) None of the above

A hyperplnn; is given by the equation 44,

3%, +2x; +4x; + 7x, =8. Inwhich half-

space the point (-6, 1, 7, 2) lies ?

{A] 3.\:, +212 +4I3 +7I4 < 8

ﬁ 3'(['1'21‘2 +413+?T4 )‘8

US-15106 (R)

©)

—3.\'1 + 2.‘.'3 +4,’(’3 + ?14 <8
(D)

None of the above

(21)

WHABLIL 3 WAW &
TR B TG N 8, qART I B

{A) T 39 §

®) Yr-woar &
(C) #m &3 F

) e 3 A 9 A

3t 2 e Bt x, WO

L.PP. W TP TG &9 3, &9
S Jod B v R

(A) CF e =

® w - =

(©) = FarFeg ==
D) I ] ] T T

THRAT 3x, +2x, +4x; +7x; =8 2
T RIS Rl T ¥ BT -

WH 7 &g (-6, 1.7.2) anaa £ ?
(A) 3x+2x+3x;+7x, <8
(BY 3xy+2xs4+dr,+7x,>8 ;
(©) =5x+ v, +dx; +7x; <8

D) IR F Y B
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47. fany L.P.P. in four variables x.X3.33
and x, has restruction on variables as

x2lxyzh 2ixg2 3 instead of

non-negativity ru:tncnon Thm for the

w— i,

solution by snmple\: method these

——r

\'anablcsamchanacdto X{.X5.X3. X, as:

bl . —

X, =x =2,

"(A] I:=I:+1.

=Xy - =x b4

None of the above

(D)
48. InBig-M mcthodly stands for :

(A) Very small ncgative price
(B) Verysmall positive price
(C) Very larg2 negative price

A Very large positive price
49. ImalLPP. of two variables x, and x.

== &

il x and X3 are um'estnctcd then to

o —— -

solve this L.P.P. by s;mplcx method the

suitable transformation for x, and x,

e m—— n —

are
(A) x=xj+x; and xy=x3 + X3
' where xi, X1, x3.x7 <0
égﬁ q=x-% ad x=xh-x;
] where x;, x/. xi.x; 20
(C) x,=x—x and x,=x3-x3
where x;, x|, x3.x03 20
(D) None of the abave
US-15106 (R)

(22)

48.

49,

47. TR Fx¥s T xg # Bt LR

% i W Ry A-FRERE &

@ 3/ TR T B oy2lxnzl
x23xed, 2 fpqaew v am
ﬁﬁ%%@ﬁﬂﬂwmm

R o0 &

(A) =% _2 xy =X+,
X, =X =3.x, =x +4
=x{+2, 5=xn+l
® X =Xy +3,xg=x;+4
(C) X =x+2, xy=x,+1,
X=X +3,x, =x,+4
@) R T P T
Rr-M DR 8, Mg S B
(A) agaé\aﬁum&a%hﬂ

(B) a@@amﬁw%m

(C) T 9 FOTE T B U

©) G I T T F RO
Fat e arn HLPLAIR x a
v, sfErT % T W LpL @
fegdan A 216 29 S R x @
x, % A SRR 8
(A x=x+x T
el x], xf, vh, % <0
B) x=x-2
el Xi, Xy Xp5x5 20
(C) x,=x-=x ©;
3T x|, x]. x5,%3 S0

(D) T § q 3 T

Xy =Xy +x3
a2 Xy = Ijz —.‘C; .

Xy =1 =%

https://www.ccsustudy.com
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50. In two_phasc simplex method, the 50.

COLfrCII::ﬂlb '1551gncd o _artificial

. ———— e

vnnables in the objective ﬁmcuon are :

A -

B) 1

) 0

(D) None ofthe abave

51.

51. If in simplex table all 4; 50 (where

&;=c;—2;), the solution under test.

15:

—— ——

(A) Unbounded solution

(B) Non-optical solution

ﬁ- Optimal solution

{D) Noneolthe above
\JL.PP.

e

»n-variables in # —constraints, the basis

— e — i — ——

matrix B isa non-singular sub-matrix

. el —

—————— . —

i

sclected from 4 by taking

(A)
(B)

Any m—column vectors

m—column vectors which are

linearly independent

m-column vectors which are

(C)

lincarly dependent

None of the above

(D)

US-15106 (R) (23)

4, =bXz0 of 52.

A &9 Rrve iy &, o waw A
FEm =l # e gea B s R

(A) ~I
B) 1
€ 0

O = & A B

Reged it & 3R et a4 <0
(8 A, =c,-z;), 7@ T 3 F=wa
e A

(A) FEFET &
B) IR-walee &

(€ TahFe @
D) ST A I MW ¥

S,
-,

n-gd T m-WiEw N LPP
Ac =5 X20 T MR FGE B &

AM-RiEx S-aRgg 2 A% A4 ¥
w2

(A) 33 | m—mméﬁ'{

®) m-TW I A A Red
W &

() m~Tq I AW S W
iy 2

D) IR ¥ A B T
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53 G LPP. Ay =h.X 20 % AL

31, The hasic feasible solution Vg of a

LPP A4 =b. X 20isgivenby:
/ Xp = B~'h. where g isany basis
‘A * 'l 4
matrix

(B) X,-Bh

QY Xgp=B4
(DY None of the above

34. The fundamental theorem of linear

programming assurcs that at least one

basic feasible solution to be optimal, if
L.PP.has _ _

——

—

(A) ‘.i infeasible solution
(B) A feasible solution
@) An optimal solution
& Anopiimal feasible solution

S5 (21, 3) is a feasible solution of the set
-1, 2} 15 a2 1eas N Of the s¢

e e

of equations _

4I| + 2)::: —;.\'; =]
6x, +4x. —3x; =1
JThe basic feasible solution reduced by

1 -

B) (0.1.1)

'.’Cj (0.1, Q;

ﬁj SRORT

US-15106 (R)

55.

(24)

W o R 9 S
A Xy=B"s B T A

S & |
B Xp=8b W
(C) Xp=B4 ¥
©) I § T B
mmg\aqﬂqgﬁfﬁﬂm%
6 9 @ TR UF ARG T &
witgre &, 4} L.PP. TE 3 -

(A) U STEA B
(B) UF T &
(C) TF WaPE &

D) T TG e &
FHIET W8

4x;+2x9 =353 =1

6.1'| +4X2 ~Sr, =

T & (2, 1,3) & 39 g
&1 ¥ ST S T 5 8

(A) (L, 1,0)
B) 1,1
(C) (0,1,0)

M) (1,0,1)

https://www.ccsustudy.com
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56. 110, 0. 1) b a feasible solution of 56, R (1.0, 1) LPP
_LPP: (N

1 \ g Z=2xy +3x; + 4x,

Min. Z = 2x) 4 3x) + 4xy
T m :I+Xz*x3=2
subjectto X +xp+xy=2 Ny =Xyt xy =0
— | .(I———I_z'l:l:];f-ﬂl EF-’-H .r,. Xz,x3 :_"0
and x|, Xp,x3 20,
I T T 39 R, 44 B o g
then given feasible solution s a : [ RS
(A)_Bounded basic solution (&) e T 7 3
i Non-basic solution. ® I-amam = 2
(C) _Basic solution © A = 2
(D) None ofthe above D) IT[ ¥ ¥ 5 =&
@ If for any BFS,X3=B"b to A¢=b 357 T Ay =b 3 R SHNRYd ¥
tfnitlff?im‘emlmnna in_4 butnot in W% fom 4 ﬁ?ﬁli‘ﬁf*ﬂ a A
_basic_8 for which ¢,~- >0 and e 3 ¥ T8 % Pred R
_-2{9_5_(_):}'_:113, ~--m , then {fOb]LCUVc >0 T oy <0u=L2 . m
_fanction s to be maximized, the problem i !rﬁ: T T R IS T %. @
has: 0 TR T
(A) Anunbounded solution (A) & JEHET
(B) A bounded solution B & e &
(C) Aoptimal solution () % FEhp= B
(1)) None of the above (D) JF & § A A
US-15106 (R) (25)
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s8. If there exists an optimal BI.S woa
L.P.P. and for some @, in A butnot in
B. ¢,~z,=0 and »,6£0 for all
i =1.2......m. then an alternate optimal
solution 1o this problem will exist which

willbea:
(A) Basicsolution
(B) Non-basic solution
(C) Basic untounded solution
(D) None of the above
59. The best solution of the L.P.P.

Ma.k'. Z = 51] + 33’2
subjectto X+ 27
Sx+2x; =10_~

3I|+81'2512/

and X, 120

(A) Max.Z=6,x,=0,x,=2

ﬁ Max.7 =10. x, =2, x. =0

(C) MaxZ=8 x,=1x,=1

(D) Max.Z=9. x,=3/2,x,=1/2

58.

59.

US-15106 (R) (28)

o Rl LPP. & HEge Fad
e e e ¥ & 7 B @

SR AR 4 A% B AT, ;-7 =0
My, $0 TR i=)2m T i
*q G T @ e Fape '
A e T

(A) STUTTIT &9 e

() IR-SERgd & am

") %Wﬂiﬁﬂﬁ'ﬁrm

D) T X B

LPP

AT Z =5x +3x;

GCiE x+x,82
3]:I+BX2 <12

T xp, %20

H I B & €

(A) AN.Z=6,x5=0,x,=2
B) af.z=10,x=2,x=0
(C) #M.z=8x=1x, =t

D) #f.z=9,x=3/2x,=1/2
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Bysimplexmcthodfnrtheinverscoflhc 4 3
S 60. Rrgdew Rz EIC [ m‘l
R

. [4 3
matnx|:3 2] ﬁJeLPPfonnedmllln

Max. Z = 0x, +0x,
sbiestto
(A) x+3x;=4
3 +2%;, =6 and x,, x; 20
(B) —4x-3x,=4
=3x)-2x, =6 and x,, X; 20
}) —2x+3x, =4
3% -4x, =6 and x;, x, 20
(D) None of the above
61. In which type of L.P.P. artificial

xarlables are used to make basis ma.tnx

as 1dent1ty matrix inthe stamng simplex

lable ?

(A) L.PP. with any typc of constraints
(B) L P.P. with constraints > or -_:,SIgn

(L) I PP. with constraints < sign

}9 L P.P. with constraints > and =
sign after assuring that i'il b 2 D“
62. In Blg—M method the 1€ price assigr ak'.stgned to

_each artificial vanab]c in the ob_]ecnvc
_ﬁqﬂ_mgoﬁLPP g
(A) a2
(B) aM. a isscalar
€ M
D) -, where M islarge positive
value

US-15106 (R)

Hﬁ@qwmﬁm%m

LPP. 8 :

HeHTs Z =0x; +0x,

9% ¢

(A) 4% +3x, = 4
35 +2x, =6 G?R'x,,xzzll

(B) —dx~3x,=4

=6 A x, 1,20
€) -2x,+3x,=4

3 ~-4x, =6 gﬁ'{x...rgzﬂ

O) IR & F B 48

61. [ o B LPP ¥ 3BW =0 7
T BN ¢ S RPN . RpgeEy
&qd § AR g, R e
& g ?
(&) R & v 3 gt & LPp,
B) > T < S W IR A LPP
(C) < To& ol wftm=ar 3 1LpP. -
©) T Mg T3 S I8 & ol

520 %, » o - e T
gicael & LPP,

-.3xl —

.62 WM W A, 7 v F Fhm 9@

& qwg Freifta Rew s 2 -

(A) a2

®B) aM, a T ARAE

© M

D) -M, FFT M T T NHF
T &

(27)
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F--—'"

A<\

B X3
L

The starting B.E.S 10 the solution of the
following L P.P. by Big-M method.

Min. Z=2x,+3x;

e

A * X :S
- -

subrect o
= . *__“.\l_* :J‘: ? b
and .. 2. 20

s

(A} x, = 1o =0, surplus variables x,=x,=-1

64

65,

artificial variables x, =5.x, =6

x =S x =60 =X, =X, =X, =0

Xy =Xxy=x; = =0x, =800 =0

None of the above

In two phase method. the role of phase

T1is; .
To eliminate artificial variables

(B) To optimize the objective function

(C) Tomake b <0

(D) None of the above

The solunon of the following L.P.P. in
2 10 '
phase-] is x.=l;l-. x,=— and all

3 13

4 =0 Thc\:plut-ofz i phase-2 will
be
Mir.

subject 1o

4=
5

A
Z = x +x3 —_
'3
2I|"‘I: 24
el 27

3\
t™

anc X%, 20,

i ‘e .y
] . 1.1

X RI1E]

.

] B3 B

US-15106 (R)

iCy 4

(D) Nooe of the sbove

63.

(A)

)
(€

)
64.

65.

(28)

-\ O g B LPP. R K|

s ey Fee 6 8

T 2=2043%
x|-|~7_l’226

] K. Xy 2

}:

x =x;=0, AT & xy=xg =~

B W 1, =55, =6

x =5-IZ .;(Lx;_-:x‘sxq =,l:‘,2 =0

x) = ¥y =X3 = X4 = 0. % =500
Iy & & ;g
AR AT I FadAwE:
A) A ol A RgT FT

®) W& B g T
() b, <0 T '

@)y 90w & & B

R LPP. & B ¥ &

21 10 f
:_ " e— a‘_-_o
SR TORC T =0k

-2 8 Z WA W :

g
CE

Z=x+Xx)
25, +x,24
n+7x27
aan

(A) 11713
(B) 3113
(C) 0
M I0F & 3 T

X1: X2 20.
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By using two phasc method. the [L.PP 66 2 Bx AP = 1am 73 77 PP

Max. Z2=3x -1, m 73, -,

+ i PENINTS R T"ﬂ 3 2

subject to +xy 22 T LT ‘m Ty +rea

X +3x,82 [-2 £, +31, 72

x, 54 o, 7 .24

and x.x 20 \E) e .1y 20
has starting B.F.S. as - w FriaE ey wua W W

T ¥

efez2) .2t ST =
(A) f=xs=lt;=22,=x4=x, =0

(A) =x=2xn=sxy=x5=x,=0

(B) x=x,=x,=0.x =0.x,=2.x,=4

S e - (B) x=x=x=0x ~0Nx=2x=4
C) x=xy=xy=0,x, =2 x;=2 x;=4
( ) __l “2 .. 3 ] 4 $ "C} x,=x:::J=0.xa-lI‘=Lx§=4

(D) None of the above D) 9 & 7 =Y
§7. LPP 67. LPP
Max.  Z=6x-2x G Z=6x, - 2x;
. 2x,-x,82 :
subjectto. <1772 . -
% <4 Faf Iy~ S .
and X%y 20 % <4
isan example of L.P.P. having : ol %, %, 20
(A) No optimal solution w5 OF LPP & FN¥™ t A
(B) Bounded feasible region W IR W W ewd
bounded feasible region but ®) e hi:::t -
- Dounded oprpual solution - e s W T
(D) None of the above O e R ot
incoming vector has all negative cntncs, R iy e @ T RRE TS
") Unbounded ol (\) P
(B) Bounded (B) wFaa
(C) Optimal N W
(D) Nonc of the above D) i & R} a‘ 7@
US-15106 (R) (29)
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Ifth¢ L.PP.
WMax,

69.
Z = 6x) + 433
subjectta 2 +3x, £30
Iy, +2x, £24
Y, +x, 23
and ¥.x 20
has _two optimal salution (8, 0) and
(1275, 4275), then third optimal solution ,
s
¥A) x=0x,=8

ﬂ 1‘| =56r'5‘1‘2 =?1;5

(C) x=42i5.xy=)2/5

(D) Noneofthe above

70. / For the solution of simultaneous linear

equations

Xy Xy, 44X, =3

2x,—x, =3
3%, -2x,-x, =1
x,.x,,%.%x, 20

"By _simplex method, the objective

Max.Z = Ox, +0x, +0x, + 0x,

-X, =X, =X

& ) @

x, ., %, * artficial

(A
where
variables
Max. Z =x, + X, + X, +x,

-X, ~X, =X,
Max.Z = 0x, +0x, +0Ox; 4+ 0x,

+ Ivl + ]'U? + I,I

(B)
o’

(C)

D; Noneof the above

US-15106 (R)

(30)

9. X LEPP
mq Z:()II +4Iz
31t+21'2 <24
X + X3y 23
ol Xty *2 20
23 W & (3,0) T (12/5,42(5)
3 g el g @ ¥

(A) x=0.x, =8
B) xlr-26f5,x2=2”5
(C) x=42/5X =12/5

70.

(A) Max.Z=0x+ 0x, +0x, + 0x,

-I‘l - I"’i - x"'l.

W& X, %, %, PO W g

Max. Z =x, + X, + X, + X,

B x”: - x"t - xlh

®)

(C) Max.Z =0x, +0x, +0x, +0x,
+ J.'ul + xnl' + X,

®) w7 & P T
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71. In standard form-1 of revised simplex 71

method, variables that are not needed -
#9 Aificial variables
(B) Slack variables

(C) Surplus variables

(D) None of the above

An additional constraint, for the revised 7
simplex method form-Ito the L.P.P '

- ———r e

Max. Z:..'q +2Iz

subjectto X +x; <3
X +1:2 £S5
I +x, 56

and x;,x, >0 will be:
(A) x+2x,=0
B) Z-5x -4x; <14

{’ Z-x~2x,=0,2 s unrestricted

I SIgn

,ﬂ')/] None of the above

73. .ThisL.PP. _ 73.
Max. Z=CX
subjccito‘Ax=b,X§9_ .
_becomes, by revised simplex method
_form-Jas: 2 (x
@w N cfz] [0~ =©

0 A4||x]7[s)] Bx=8b
ﬁ"ii"—ﬂ 2] [0]
0 4]X] |b]
©) [1 -c][z] [o]
[0 —-A|LX] |b]

(D) None of the above

US-15106 {R) (31)

dfe e 0 @ =9-1 F,
Rt araermar A8 B9, 2 E
(A) PBM T

B) e ot

(C) g a7

o) AT & & B 8

aafe e IR s 13 R LEP
I Z=x 2%

el

x+x; S3

X +2x% 55

35 4+x, 56

e xp.x; 20 H T Sl
afvFT o -

(A) x+2x;=0

B) Z-5-4x;514

€ Z-x-21,=0, z & #
wRRPE

©) 90w & § o &
% L.PP.
JEH  Z2=C,

https://www.ccsustudy.com



f "
If B is basis matrix for 4y =& then B,
lhft basts matrix for rcvisec_l_ s_i‘rp_;ll:_ﬂ

method form-1 will bf__
(A) [1 -Cp]

0 B'

-

¢

(B) [l C s]. 1. is identity matrix of
o,

Lild

order m

o[y

(D) None of the above

75. Thc additional constraints for the L.P.P.

Min.

-

Z=Il +2J.'2

subjectto  2x;+5xy, 26
X +x322
and x;.x3 20

o so)ve by simplex method (revised)

are .

(A) ZJ+.1'|+21'2=Oaﬂdz‘3=_x!a—xza)
where 7' = .7 and Z, is artificial

objective function

ﬂf_ Z'-x-2xy=0and Z, - x;, = X5, =0

https://www.ccsustudy.com

@) 1 Cp J -
0 1,

arzefed oTeE ¥

| Cp
@ [, 3

o v § § A T

75. LPP
FRE Z=x+2%
T 2y, +525 26
x,+x222
e Il,.fzao
A Rrgeeg Hft (d9fvE) & '@ s
3 R affe i €

(A) Z'+x 425 =0T Z, = =%, =Xy,
W 7 --z TN Z, PAA T G
¢

(B] z’-J]"'ZIz =DH'E'5ITZ“-IM—I2(,=U

f(.] ZI+II+2I2=03ﬂdZa—x1d—xb =U (C) Z'+x|+2.tg=ﬂmzn —x,a-—xh:(l
(D) None of the above (D) I A A
US-15106 (R) (32)
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76. Inrevised simplex methog form-11, the
basis matrix 2, is givep by :

10 -Cy
32= 0 -l ""Cna '
g 0....:. B‘ i

The inverse of this B, is obtained by -
10 C,8"

@ o1 ¢, 3
00 B

where8™ = {m

1o ¢,
B (01 ¢,,.8
00 B

(10 (B
© lo1 ¢, B
00 B

10

L~
¢l

00

Cp.B7.

CoBLY
B-I

77. In revised simplex method-1I, two-  77.

phase methoi_ as applied. [n phase-1

e ——

Zetibcial objective function Z, ismade:
(A) <0
B) >0

B =0

(D) None ofthe above

US-15106 (R) (33)

76. wfa Rrude O wo-11 % e

FAGe B, &wu B s 2 -

10 -Cg
Bz= 01 "'C&, .
00 B ‘

W 8, W AR sra B S &

(10 ¢,.5"
(&) |01 C,.B |av,v@afs 8=,
00 B

(10 Cp.8~
B) {01 Cp.B
00 B

AL

(10 Cy.B
©) |01 Cp B &T
00 B

10 CpB!
™ jo1
00

w9 Reiew R0 A-3w o
s & ot ¥ s 39§ $hm T
e Z, RN T & ¢

(A) <0

B) >0

(© =0

®) IRF R} B T
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The problem of cycling that occurs il
simplex method is due to:

(A) Non-degencracy

ﬁ Degencracy

() Infeasiilin
(M None of the above
If in simplex method. the outyoing

o . e e ¥ P

then 1o resolve this. degeneracy, the

method used is:
{A) Dantzzg method

(BY Modi method

/ Coroner ‘s perturbation method

(D} None of the above

m'he LPP.

/

w7 Max,

0+2x;=0

subject to
) - xy+x;=1

d-nd Il.IE,X; 20

15 an example of L.P.P. which has :

US-15106 (R)

(A) Optimal degenerate solution
(B) Non-optimal degenerate solution
(C; Non-degenerate optimal solution

(D; Noneofthe above

78.

79.

30.

(34)

a8

A RS 3 FO
(B) A F T
() ST B B
) I F ¥ B T

af Rroae Of # B AR T
St I ol T8 @ @@
HRd B 5 w4 3 e g
My d:

) ueler A

® a4 A

(©) BR T

D) I A | B @
L.PP.

JAE Z =20 + 3% +10xy

x+2x3=0

xz +1’3 = l
E‘E" I',IE,IS 2 0

oF QY LPP. # JF & S @
2

(A) T TN &I
B) R-wagR AT W
© ﬁf*ﬁﬁﬁfﬂﬂﬁfiﬁ-
O) I ¥ § B E
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8. Thefollowing|, P.P. with degencer
acy

_Max. =24 3x + 10y,

subject to f1=2xy =) { l
i

VO

'r] +3t'-; :]

and X1 X3,0, 2 ()

hasasolution (2, 9, 1) Which is :

——

(A) Degencrate

#7

(€

? None of the above
82. InaLPP of degeneracy, if B=7

PR Behiad 5 o) i

mcoming vector and mmlmuun ratio

Hon-dcgeneratc optimal

Non-optimal

occurs for j = 2 and] then, byCoroner 's

melhod the outgomg vector will be :
(AY N

B) ¥

€ y

(D) Nouc of the above

83. Sensitivity analysis deals with changes in
the optimal solution due to discrete

————
—
—

_vaniations in parameters which are :

(A) ¢

(C) Qs

ﬁall of the above

US-15106 (R)

S

-7 |

|
!

82.

33.

(35)

It T e e,

WIS 7 = 20,4 3x, +10x,

W 5 2 -0
X+, =

T K. Xy 2 1)

UF & (2.0.1; 2 AfF :

(A) Ttz 2

(B) ?IT-iT‘-r-r-'?FﬂF?vé

(C) I-rdtegpe 3

M) I & F 7 75

S g Lea Bk g -

Br=0.Bs=% T 5 =147

HET A T IRT 2 TN AN

WA =2 T3 ¥ w3 W

o iR

(A)

(B)

© »n

(D) 9% § § 7 7@

i Ry, safee @ 8

R & 9T FE 2 oEe §
R 3 T, A

(A) ¢
(B) &

|
d

|..l"|

(C) a.
O) I9VFT |
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84, What change A 1n (8 permitted
N without changing optimal solutionto the
Lep

Max 7 = 3z + 51,

cubjectto A+ €1

oy, +3x. 8}

and x.x; 20

~ )
"
=]

(A' A

o
LA
tal —

Ry AG

(Ch AG <€

|,J|._.

(D) AG<!
8¢ The range of AC,, so that the solution

to the L.P.P. Max. Z=C, subject lo
4, = b X 20 remains optimal, is given
b :

(C,-2,)

C,-Z,,
ray M) ———t 1 2 AC g <Max. 1
A ,
Tty My . el Ye )

r

where (g, is price corresponding o
basic vanable X
-2,

. _ C. -2,

Man, —/— sacﬂsuiu(’ i |

f:'uf( y@ y J
-z,

yyso\ Yk
(C) 8Cy, = Min
LT "

(M) Noane of the above

84

85.

(A)

(B)

(C)

(D)

US-15106 (R) (36)

1.PP.
o A =3x 43K
Wy n+x s

ZII "33’2 51

aa 1]..1'320
¥ ¢ 7 WEdA AG 3 ¢
aﬁ‘i@iﬁﬂqﬁﬂﬂ?ﬁﬁ?

(A) AG=10

I

(€) AGS-;—

(D) AG<l
AC,, ¥ ST @i LP.P. Max. Z=Cy
s 4, =bX20 W& Wit

T @, R o ¥ ¢

-

‘c. ~Z. C.-Z.
Min < z’lsACmgMax.[ ’v _ ’]
o\ Yk ) o\ 7K

T8 Cg,, FERYT T X5, & T

I &

- C.-Z
Max[-——-"—rj Z JSACMSMin[ 4 j]
Yyz0 Yy Yo\ Yk

C.-Z.

ﬁf.'m' =Min_[ z s
yy<o\ Vi

IRF & } &g 98
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The L..P.P.

Max. A=
: X| +2-r2 —_r.,

subjectto  x;+yx, -x 510

~ X, 4-4;2 tx;26
fr+5 <4

and -l';.x;..l'j 20

has . .
an qptimal _SDIFEDH (0, 4, 0)

—

with Xp=[6.4.10]  ang
' b0
B =680 0 1]
0 -1 4

then the variation in b, consistent with

e

the optimal feasible solutionis:
3

(A) —55&5 <6
3

(B) —*2-5 Ab 56

(C) %—SM]SIS

E.<:.a.b,sm

® 3

(37)

Ré,

.PP
m /,' = - 4-2,[_, - Ty
S Yoy +u,-x, 200

~xy+4y. + 1, 26

I‘Z"t? S“

T 57,520 F wg= wm

0.4,00 b IR 1, =16 3, 10] T

oo -t
B-'=f,81.ﬁz,ﬁ.’)*::0 0 ] , I
_0 -1 4

L

WP WG W 3 FTW 4 W

T ¥ :
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o ST A 0 g ¥
(35 e ST B W T T

\fl«' Vanstion in the clement ay o the
Y

coefhicient matny 4w hich 15 nol an

clement of the optimal hasis £ 1 without %] LPP ®A 'ﬂm 7t o

aftecting optimalen and feasihlity of the it Rea fa R ST 2
LPP wgivenn . ]
j : A Ag |
| \ | . . l )| —22— s da| — .iaa
/ns' b ,‘ . S |:r3,ﬁ,; >0 [J_gfarﬂ:z]wj
:1( Bfy 10 (31*14 | Dl -
T B, ] . X gi -
fxp, g 1 (B}M“[pf <0 sAa,-lSMm.[Pf}U}m,qa
{BRi Mﬂ: _f‘ g Aoy < Mm > ,“ f N
| Bt 124
. J P =P xp -ﬁp_.xg,
“’hcr{' PI ) ﬂr-’xb_r -ﬁp."th.
] _ in. {P
() Mini Py < A, <Max.(P) €) Min(F)s b, M5 &
' (D} None of the above D) IQw F ﬂ'% T8
’ 88, A meximization 1. PP llfuunanah]cq BS. & &R ¥l X)X, X3, Xy # T
_ YeXoxyyg has optimal  solution LEP. ﬂﬁﬁwﬁ (0,%,4,0) 3 R
jU_:i 4. 0). lf a new variable x¢ is & T x; T 7 %oy TAL.PP.
__Et_f_oéfmdmlluaLP.P W"hprioc?;nd ~ ¥ wftafra F forar amar 2 aqgy
_i_g-f.’,:l Thcn_ new solution (s-Z5=2 @ Tq W ﬁl"ﬂ?ﬂl %,
“dcﬂruycs the ; LEP # :
Ay Boundedness of | PP, (A) Feaa
By Aeasitnioy of Lpp B) vy )

/'rplmm!lu of L1 p iCy qufQ'e" ﬁ
My Now S the g e
Ghin th) mﬁmﬂﬁ.ﬁgm

US-15106 (R) 38)
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§9.) The L.PP.

. Max. Z=3x 41y, ) ;;;__'
subject to 2.t|+.r: % 40 | e
n+x, €14 i :
2r|+_‘4_r:5ﬁn ~' - -
. -3y fob 2
and X% 20 T ,
hnsanopt:mal soluuoullﬁ 8). [f the -] ﬂ'«'ﬂﬁv = HI LI

addmonal constraint 2y,

) SN =x825 18 Hﬁﬁ’ﬁiﬁ!ﬂ::-:.- S, TM I PP
ald""=‘:““"“SU’Ptl'ncno-mnm value P e R oM om / w

_of Z willbe: e

(A) Increased (A) W% T

#B) Decreased (B) ¥ W

(C) Same (O @ ¥ 8w

\ (D) None of the above (D) Joiae 3 X o ol
(}i IFL.PP. % T LPP

Max. Zy=Cy.CeR” WS 7 0 ek

subject to Ay Sb beR” BE by $H. 528"
and X 20, 4 is (mxn) real matrix W y20, 4 T w<n TERD
then dual LP.P. of this problem is - WHE ¥} MO v oW ¥ e

f Min. Zy, = 5'W W ¢ R” .

subjectto 4£# (" W >
i ' -"_ . L" a.l d-nd .fi r 0 L‘\. \hl! :.. = A H:} = .‘?.ﬂ m
A 8" and (" are the ransposes of
(20 ™ ow>p €6 7
{" A s B 3 i * m %
(B Min Z, =6 W=R" W%
(2" W w0
Y Min 2, =0'W 0 e R Al

W 20 ™ B
O JetER A F g a8

A, b and (" respectively
B) MinZ, =60 WeR"
subjectte W >¢” and Ik >0
(€Y Min 2, =s'W W eR"

subjectto 4B > and i >0

(D) Nowe of the above

US-15106 (R) (39)
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4 7)9 Dual simplex method is applied to solve 9N, AR N 9 B

" L.PP.thatstarts with : T ¥ TP
{A) Feasible solution only

(B) Infeasible solution only

(C) _Infeasible and optimal solution (C) A o W & zm
\ 487 Both feasible and optimal solution @) A T d A< & 3 T
" 92.] If the dual of the L.P.P. has infeasible gy yf Rt L.PP. & 2d BY AT &

- ety Ay s =

/_sclution but_these exists at least one 7@ &, SR o whEr &1 A&

"

- feasible solution to the primal, then the e & wd %, e o e 2

value of the objective function to the ‘
_ value o unction t F A 8 ;
pnmal is: a:ll il
AT Zera @) Tﬂﬁﬁﬂ
(B) Finite ®) o
(C) Non-finite () ;
.| (D) Nonc of'the above (D) A # il
793, Thedual of LPP. _ 93. LPP. )
\_/ _Min. Z=10x, +20x, Min. Z =10x +20x;
subject to__3x, +2x, 218 Eﬁﬁ‘- 3x+2x, 218
l'|+34\.'2 =28 '5 l ‘?_)r\f Il+327228
2x-x3%6 9 2 -\ L‘l‘ 25 —-x, <0
and xy, X3 20; LT Xy a,20
is: HATETE:
%wazo =18y +8y2 - 6y; (A) Max.Zp =18y, +8y, ~6y;
subjectto 3y, + y, - 2); <10, TAE 3y, + 3, - 2y3 <100

20 +3y + 33 2200 yy,94,0520 2943y, +y3 220, 3,5, y;ﬁ?.pﬂ

Max.Z, =18y - ; )
O 2 2l b vy, (B) Max.Z, =18y, +8y, +6y,
subject to 3, + yy =2y, <10,
” v o

2 Gﬁﬁi 3)’| + ¥, —2}’3 < 10,
N +3ya+y3 220, F:)2:5320 2y +3y, +¥3220, y,15,:20
) Min.Zy =18y, +8y, -6y IR
\fc . p =18y 48y, <6y, (€) Min.Z, =18y + 8y -6y,
subject to 34‘.’| + ) —2_!"3 s10. m 3}, F i Iou
" N 1’ yl - yj s »
LY +3Vy =y <20
AR E 26 +3y, + 3 <20

D} I & F R

None of the above
US-15106 (R) (40)
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(‘g.d. The dual of the LPp

' 7 _ I}d‘
) Max. Z --2:;-I ,,3:(2 +x, Lpp
subjectlo 4y, Figex g Max. 7 =2y x4 33 + x4
= B
x,+2x: +5x, =4 - A 4,430, +x, =6
and i Y. X, 20 o 21} T3 =
is: . m XI.Iz..T;zO
/ Mln Zp= 6y| 4y, . subject 1o ¥ & Fﬁ g :,
7 4};‘ +y‘ >0 ; {A.’ Min. Z” ='-6y| +4}'2 m
v ;o 455 o ¢ "'2}': 20, 443,20 3y, + 2y, 20,
ATVz20and 59 +5y, 20 T
®) Min. 7 Ni+dp e Nya 20,
T; D=6y +4y,, subjeci 10 (B) Min. Z,=6y+4y, A%
+
NAN2Lly+2y,23 I +y9 223y +2y,23
N2l and oy an W +Sy, 21 TGNy, y, W e
unrestricted in sign st &

(€) E_"fi_ zZp =(:y, +4y, subjectto | (C) Min.  Zp=6y+dy, al®
4y|+}"2 32.3y1+2y2 23 , 4}"14‘}’2 22,3}‘]4-2)’223 )
yitSy,21and y,p, 20 Y +35yy 21 U ),y 20

(D) None of the above @) e ¥ F B I8

95._ The dual of the L. PP 95. LPP.
.Mlﬂ _.{Z‘th*h_ T Z=3x+x,
bubjtct to 2.x| +3:2 2 2 ﬂ?ﬁ 2 +3x,22
T ._:__14+;£2>] : X +xy 21
and - .xi" xzaﬂ N .rl 1’2 20
willbe: $ 30-99 W &7 8
/(A) l"hcsame L.P.P. with | inequalities (A) qfeEdt ¥ Radq (-qﬁ <) &
N rc\_rcrecd ie. 511noonstmnls
ol # st & a7 LPP.

(B) The same LPP “with no
resmcno:?&E 1 on varisbles ®) o0 W yiEee Wea @@ Lpp

(C) The same L P.P. with different © o T S 3 A Lep
“objestive function_
(D] The same LP:P givcn (D) G‘Iﬂﬁ ﬁ ﬂ' ﬂg T-[ﬂ
US-15106 (R) (41)
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96. If A" is any feasible solution to the
primal problem Max. Zp =Cy subject
10 .4y <A X 20 and if” is any feasidle
solution to the dual problem Min.
Zpn=h'R subjectto AW 2C' W 20,
then :
A Zp>2Z,
B Z,=z,
Y Zp22,

o 2,57,

97. lf the optimal solution of a dual

_ maximizationproblem:
Max.

-

Zpn=w +2w,

subjectto W +2wy <3
wy +.3'W2 <1

and Wy, wy 20

1S wy=Lw,=0, then the optimal

-—
—

ﬁluﬁonm the primal will be (Given that

3, + |
%

Q3=O,A!=—It:

—— .

P EE T
{B) I[ =sz =:9 t ‘-'O
© x=21=0 4
(D) ;rl=0.r2=2

38. The infeasible solution obtained by
) __addition of the Gomcxy‘§ ;:;sua-inao
optimal simplex table, is made feasible
kopumal by using : o
(A) Simplex method
(B) - Dual simplex method
") Revised simplex method
(D) None of the above

US-15106 (R)

o TR X, T T Max. Zp =Cy R
4o <hX20 W B T EY

o , 30 T Min. Zp=bp
s AW2C W20 Wﬁm

SR AR

(A) Zp>Zp
®B) Zp=Zp
©) ZpzZp
@ Zp<2p
97. % & ARHH T
ANHH  Zp =wy +2W
S wy + 2wy S3
< wy +3wg <1
T o w, w20
3 oige W owm=lw =0 ¥ T
g1 T wp o (R
83=0,84=-1) :
(A) x=0x =1
B) x=Lx=0
€ x=2%=0
D) x=0x=2

98. Wi Rrded Tl & MY Ay

(42)
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t .
for ¢ quation
r hcsolunon of [ pp I8 (Given :d » LPp. 3 =3 ﬁlq g P,
= HT at
7o = Positive fractiona| part of e s oo } Rats ;
Xm. ‘f;f =p03iti\r 0 Bi = Xg,
¢ fr £} !]m :
- aCtional pant of Rr=rig w, £, Y T
-’ X, = ﬂﬂl?-qq; ft{qm
. U, nﬂn"ﬂega[ipc Slack I ar
viriable flnlcaer]] Xe, =’l‘r-mmq; i =7 (qur :)
A (A) -
(B) , (B) .
"an;x,a*'xg.:f ’Z,f-",‘x = fs
— rx _ hal
ﬂ J;l)‘; ,+,\'c'1 _-...f [CJ. J;l;: ~X,. ___Jfg
D) Noncoftheabo‘,e D) I § 3 B¢ T
100. Thel.pp 100. LPP.
Max. Z=x +4x, iy Z=x +dx,
Subjectto 2x; +4x; < 7 TEE 20+ 4x, <7
3%+ 3xy €15 Sz, +2x, €15
nd x) xy 20 undboth integers hag T oy 20 T3 JF TNE, &
_ OPIIM?I :-sf:_lut—iuq .'tl_z-%,xz =], ;FE_ qﬂﬁq ™ oxs= :*1 >l = ? 3,
) 3 1 ra - . - : 2
T&k A== — - . Y T k|- - = = s
M8 M == 2= xp,. [whichisin TESeicser FE AR AW

-2)), the TR0.0.120.- ¥ A
'\ilr_mn_t ¢quation R oRew wEmT am -

th_e third row 0,0,172, 0 -
sccond Gomory:s €O

willbe: 7
7 ey
4 1\ (A |2 . - - __ i —&ﬁ
/’_{A) | —EJ 3+xcz = -"5:2313{* I\ : 3 x = -
varable - iﬂ] 3
(B} *:;-.t -l-t(n .
(B) -}‘Il'l-.l'(;l :-i - 4
2 4 © -l—\' +*X —-l-
(C) —%xl-l-sz:% 2! L)
D) I A } At &

(D) None of the above
US-15106 (R) (43)
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1. Bisection method does not work 1. Fxdswm bt ot 98 @ ¢ gk 2

if two roote are o 4
(A) Unequal (A) JaHHA
(B) Equal - (B) ®AM

M 4 T g9
(C) Atleast equal (C)

__,Q‘)r) Nearly equal

b ) The Equation f(x) =0 ia called an 2. FRHT £(x) =0 T AFTRE Tersr
algebraic equation if f(x)ig a - FEARR 2 AR f(x) & B

(D) @ I3qET

/&(ﬁ)” Polynomial é (A) 989

(B) Transcendental Equation . (B) Srdona dHIETT
(C) Both (A) and (B) (C) A @) M (B
(D) None of these D) A F B¢ 7
3. Newton— Raphson methadcanbe 3. =I-UHe R & O 3 ferg w@n
used for solving 5 1S G s
(A) Algebraic Equations (A) deierdy edfeen &
(8) Transcendental Equations @) I e @
ACy Both (A) and (B) () T (A) I (B)
(D) None of these : ™) ™ ¥ ¢ el
4. Onerootofthe EguationxX®x—1=0 4. ¥TIHT x*—x—1=0 F TF [ 551 g
T dr ¥
| ﬁ] Lend® (A) 132
¥ 0 and i B) 0 1
(C) 2and3 © 293
(D) 1and3 - D) 143
US-15107-Series-R (1)
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gt Ry & #T aFEE 3)
5. In Nowton — Raphson method 6. LT !
successive approximations are Ry ol @
e x.r.l S - () o
(A) x + f.((; )) A) %, * T(x.)
£'(x,)
f! f'(x,)
(B) b S f((:n)) (B) X, - f(x,,) i
f(x,)
S, f“{::]) © x- Py &
‘ f'(x,)
f'(x,) .
(D) xn+ f(X) (D) xn .._-—"-f(xr)
6. Bisection method is always 6. aiem Rft wa R
(A) Divergent (@A) s |
Converg-ent (B) m
‘_,CQJ Conditionally Convergent (C) a7 &1 q afgard
@) F a7

(D) None of these
7. The rate of convergence of 7.

Newton-Rgp_t;s_gg_gethpd is

q;q-mﬁmiﬁmm:@a?%

") Cubic &) =
(B) Linear (B) w&-tdR
(C) Fourth order (C) qgd
(D) Quadratic (D) RErdE
8. Whichmethod is not applicablefor 8. P & @-4\ Ry @ wra &3 3 fw
(A) Secant (A) Secant
(B) Bisection (B) Bisection
Lagrange'’s (C) Lagrange's
(M) Regula Falsi : (D) Regula Falsi
US-15107-Series-R (2)
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US-15107-Series-R (3)

9, In which of the following method 9, s LGl & Ifud e foretiaftad
proper ¢ chaice_of initial value is At § @ R fre SR e 2
very 1mportant \ethod (A) W'W Ry

A) Newton-Raphson Met ®) .
@,4(8) Bisection Method © Wiiilll e
(C) False Position Method ﬁﬁmﬁjlﬂlq
(D) Secant Method D) ¥ -

10. The order of convergence of 10, Yyem-wed QY & e d
Regula-Falsi method is verneennes 21
) 2 (B 1618 A 2 ®) 1618
© 172 (D) L172 © 172 @O 1172

11 A f(x) = i;. then divided 1L z:i?:f(x)-—— a4 f(a, b, O W Ragfes
. " 1
du’ferencc of fla, b, c) is - Red 2
tﬁ) ab+botca (88 - 7 3 fas) ab+bc+ca
g 2bic’ -0 2,22
a‘b‘c N [ -‘.Z MY ( ‘1* &‘IL:. abc
2 -l
(B) P ((’—R} C-b) Ty (B) e
© 2L b-“ b2 - ‘—"+‘J('-C) a+bte
aEf‘-w?Lc—a) % abe
a’ + b+’ # 4'24 S Sval+b+c
D S { g et
( ﬂzhzcz 1b_c_
12. The divided diﬂ'ereréce f(x,, x,) is 12, PEs BWE f(x,, x,) T 5
equal to b (.3~ £(x,)
f(xl ) - f(xo}_ (A) X, + X,
® e
L £(x,) + F(X,)
B M (B) K1 -+ xﬂ
N £(x,) - £(x,)
f(x,)—t(xy) () X, - X,
R F(x,) + (%)
£(x,)+ f(x,) D) " x -x,
[DJ X) =Xy
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13. The nth divided difference can be
expressed as the quotient of two
determinants each of order

14. By interchanging the suffixes of
the operator and the operand, the
value of the dividuc! difference

(A) Changesits sign
(B) Becomes zero
(C) Becomes one

ﬁ Remains unchanged

15. The divided differences can be
_expressed as the ............ of
multiple integrals.

(A} Sum

~(B) Division
ﬁ Product

(D) Subtraction

lf The divided differences are .......
* functions of their arguments,

,,.(54- Symmetric

ﬂ “Not symmetric

(C) May or may not be symmetric
(12) None of these

US-15107-Series-R (4)

13. @ Prfcat @ e # 50 neh B

BN 2
(A) n
(B) n+1
(C) n-1
D) 0
14. SR @ AT 3 suffix F &

W R R A

(A) Fre gzaw @

(B) { & @ &
(C) @ & v 8
(D) azam 8 &

15. 3= Rem § arif R s %

16. oY [ure 398 73 ® ... waq ¥y

(A) wuRg
(C) W 2 9 ot
w5 ¢ a

@) & 3 3% 7
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17. InLagrange's formula P (x) =

& f(x) f(x,)
g(x x,) ' {x) ¢ (n) is equal

to:

@ T &x-x)

ﬂf{' (x—x)
© T (x-x)

D) :I_'Ij (x-x)

The relation between the first )
order divided difference and
forward difference is

A fx,x)=a f(xD)

/‘QB) f(xy x)=

€ fix, x)=

18.

SR
- Af(xo) Z -\'

3

Safy (PP

=

(2-\)(\21'?!* 7-)

17. a2 g2 ¥ P (x) =

Z'; _8(x) fix,)
* (X - x)¢ (x ) ¢(n}?Fr‘r'8

B) T (x-x)

B) 1 (x-x)
© T (x-x)
D) ‘:f.la (x-x)

T B9 % f3ansz Bwis i el
RBwty i T 3

(A) f(xg x)= _‘-f(‘io)

B) f(x,, X)= -l'-l Af(xo)

18.

©€) f(x, x)= hl A f(x,)

(D) f(x,.x,)—haf(x,) wei+2 D) fix; x)=haflx)
19. Iff(x) = x*, then /N f(x, y) = 19, R Hfx)=x T AN flx, y)=
) PEyiexy (S (A) x*+y*+xy

B *-yi+xy (B) x*—y*+xy

© x*-y'-xy . ©) x*-y*-

(D) x*+y*—xy D) x*+y*—xy

20. If A and E are two operators on
. £x) then which of following is true

20. IR A TN E Q QT F B f(x) T

W P Y 9T 9 R

(A) Am F*+2E+1 - E\ (A) A*= E4+2L+)
B) A'm E2+4| - - T2
(B) A'= E?+ g‘z_u-?E (B) a*= E*+1)
2% A's E1-2E+| (C) a's E*-2E+1
(D) a'= E2+2E (D) A*s E?+2E
US-15107-Series-R (5)
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21. The first forward difference of fx)  21. To¥ PRI HH f(X) B g fig

13 defined as A fix) = IR AfN) =
27 fix+h) - fiy) (A) fx+h) - f(x)
tlf" fx) ~ fix+h) (B) ftx) - f(x+h)
() ix) - fix-hy (C) f(x)-f(x-h)
D R
o ) ) fix-h) - fiw) (D) fix-h)-f(x)
22. IfA8X) = ¢, then fix) is 22, IR Af(x) = e, T f(x) 3
(A e
. A X
(B e EB; :
e-!‘.
_—
() = ‘
e" | (C} eetl
1\'[], —E\_ | X
i - €r | (D} l = n
—e
23. The valye f iré 3 ) A
O_kE 115,_ 3 23. (E-]x’ﬂ-'rrﬂﬁ’%
{A) 3x (A) 3x
I 6x
(B) 6x
(C) -6x (C) -6
D) —3x D) _3x
-3x
- Which of the followine ;
g 15 correct 24, Wiafae & -
T q B-w w2
= 1A= | y T
/ ('.3‘.] D_n L.ﬁ 2-{:—;-3—— .-‘ (A) =_I_ [A_é..pé]_ .......... ’
is = 4 n IQ 3 J
_ 1/, & A ]
B) D=-1A+ 32 J ][ -y
. P BY D=—|A+— 4+ g,
il 203 @ D=l|4*% 5
} - AN A
) D= A-—5 = 2 :
/)/ n T3S -l (C) D=i[6+——+£+ --------- J
J n L
[ A N
(D) D= -r; .é -?: 4 ? - ‘} {D} D= -]_ {ﬁ—§+£ - ..J
: n 2 3
US-15107-Serijes-R (6)
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26. The value of A" (ax" + bx* 1) is

(A) 1n

ol

©) ln=1

®) b -1
26. The value of (1 +4) (1-V) is
ya

@® -1

(© ©

©) 2
27. I££(0) =—3. (1) = 6, f(2) = 8 and

_£(3)= 12, thed(s* f(0) i8>
(B)

©
o 5

tha

L < w

98. The denominator of the _exp_u_-easion

[f(x)] 8(x).Af(x) - £(X)-Ag(x)
A2 2 B

B .

g(x)

to be true 1s

(A) fx). Eglx)
(B) fix) - Ef(x)
597 g(x) . Belx)
D) Ef(x) . gx)

BeAs

US-15107-Series-R (7)

26. A%(ax®+ bx™") & 9 2
(A) |n
(B) aln
(C) |n=1
D) b |n-I
26. 1+8)(1-9) F TH 8
A 1
®) -1
© 0
D) 2

97. R f(0) =3, f(1) =6, f(2) =8 3
f(3) =12, @A f(0) ¥

A) 9
B) 6
© 3

D) 5
908, ey %% &4 & T 7T 8

[f(’*)] o(x). AF(x) ~ f(x).Ag(x)
‘a 2(x) = -

9

g(x)
(A) f(x).Egx)
B) f(x). Efix)
(©) gk . Eglx)
(D) Ef{x) . g(x)
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29. qﬁmaﬁrnmﬂiwfﬂ,iﬂmg

29. If m and n are positive integer
5 m<n, 7@ 4% @ 8

such that m<n. then A™x® is

o P
(A) Tarm hoxomm A Torm hm x @
n
B) ImI:n = s B) Imlin b=
L
©) - — hexonm ©) Tle; hm et
m o~ m m 0~
w*nmh .mlm] 4 D) In—mhxm(]
30. &*yzlsequalt.o {E'}'"?‘E.} = 30. A’ysi'{l'ﬂ'{?-'
A ¥ ~—}'2+1 3y 1"31*%2. (A) y‘__-,rg+l
2},-!-)‘0 {‘Q‘{M (B) y‘-z‘}rg.'-yﬂ
(&) )4 Y, —2y, lé (C) Y;"Yg"g}'z

-*"’”afo D) y,+3y,+2y,

D) y,+3y,+2y, i
31. EBCDICcancode uptohow many 31 EBCDIC R R-fre @il #
different characters .- ?'ﬂ T W THN.2
(4) 256 (B) 816 A) 266 (B) 816
/ 64 (D) 32 (C) &4 L) 32
+ ASCITand EBCDICoften in_ 32. ASCII R EBCDIC 3m: &

(A) then: efficiency in storing
T (A) @ ©R & 7 I g

data .

(B) ;e randon:‘tm?ad sequential ®) T 3k Rieiifme W Ry
access method - ——

(C) their c:olle-cting sequential © _mm 3PS I B

(D) the number of m bytes used D) 7T B 73 4 m bytes 7
to store character T

US-15107-Series-R (8)
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338. ASCII cede are q_f ceereerenen. tYPES. 33. ASCII®5 ........... T & 24 &)
(A) 2 (B) 3
A) 2 B) 3
C) 4 D) 5
© 4 D 5

. The processing of finding the 34. G7 D HaHT B [EE! R gWET B
/jﬂ 1R & P @ gBe @ Fed 8

derivatives of a function with the

— - ———

help of the gwen set of values of @)

that function is called.

(A) Quadrature é (B) AT A%
(B) Numerical differentiation (©) AR F

#HC) Numerical Integration i
(D) = T&

P ~«D) None of these

/’/. 35./‘;:5u'hich one of the fo_“owing 1S 5. freranaa 3 3 g7 2

7 correct

e N
e ’ d)' 1 _:l_v? [,@_] - _l [T}. + —F:)"
@) [Td;)., “hn [V}" "2 s (A) {ax .. N 2
! lV’\' +i‘C' v, * "lf
+_?J).- + Viv +..... -rg A P ...._r
éy ) .
(B) (a?) ” (B} I\d"\ 4 wang
Koy
11
I ] BT 4
gty 4+ Py + — VY +] 2 [v SR B ]
'I"[v Yn+vYn+24 . w n -4

(©) (L) 3N (B)

Both (A) and (B)
A D) & B¢ @

(D) None of these

US-15107-Series-R (9)
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/ﬁ'hich one of the followingis true  36. FH & Pa-m T 8

&Y if,. 1, a) _[py -ty
a) [d.\] -;[A)f _EA Ye (A) (a]“ - n[ Yo 7770
+-l-§.‘\' +—Aly, + +lg‘ +lA‘y t ocreenane
3 Ja 0T saevennne 3 YD 4 0 |
(_d_} - I, . 1. d’y Lre A
(B) \dx"]‘.. ..?[A}J—a}. B) (E) =-IF[£1}’: Yo
*—AY, + ... ”&‘ + .
Y P +§-£ Yo secenns
d'y ) d’y
o |&F)..- o (55).-
1 [ 3 3 £ } 3 -l
‘K;[dyﬂ z—ﬁyo+ ,,,,,,, ] #[f\)'o*'ifh’f ....... |
/mj’ﬁllarelrue D) w7 ¢
37. From the following table 37. Fraivfae aht @ y'(4) & 9 #|&MO
x:1 2 4 8 10 & '
£,
(A) 2.8000 (A) 2.8000
(B) 28326 " (B) 2.8326
(C) 2.8500 (C) 2.8500
(D) -28326 (D) -2.8328
88. Find the odd one out in the 38. fr= 7 faw i e
following
(A) FPROM (B) BCD
fi EPROM (B} BCD © ASCII
— — = y (D) EBCDIC
(C) ASCI (D) BCDIC
US-15107-Series-R i (10)
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39. About primary memory, following  39. SmfvE Sfq Rag 4 v T a7 &

are two statements w1 - W‘ﬁf e i A 2|
Statement-I : It has limited FI1 - 28 At 3
capacity e

Statement-ll:llt has volatile |
nature

%Onlylcm‘rect ))WI%’?%
(B) Only II correct (B) #aa I 7 &
(C) Both I & IT are correct (C) 1 an Il af &

___ (D) None correct M) a2 é T 2 |
() Which of the following is most ~ 40. F= ¥ & #-41 o dswE g

oriented to scientific programming # fe gad s Iw @
"TA) COBOL ' * (A) COBOL
5B) FORTRAN.' (B) FORTRAN
(©) RPG . .. (C) RPG
(D) BASIC < (D) BASIC
41. What is odd among these 41, F T FEH ¢
(A) Windows XP (A) Windows XP
(B) Windows Vista (B) Windows Vista
© DOS (C) DOS
ﬂ Microsoft Office (D) Microsoft Office
42. A computer can not BOOT if it 42, ¥ ¢ 78 & w0 ak 39 71 2-
does not have the ............ (A) @
(A) lLoader (B) #Ec#
(B) Cumpiler (C) Siqfen fveen
9,407’ Operating System (D) FY=HTE

(D) Assembler

US-15107-Series-R (11)
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43. Ina computer system, find the odd
one out among following
(A) RAM ?
B CD
(C) ROM_ - >

ﬂ] CACHE

44. A computer performs which of

following tasLQ(se]ect best answer]
(4) [loputting, Stormg Processing
antmlhng]
(B) [Shton_ng deleting, outputting]
(©) [Outputting, adding, buffering]
(D) [Downloading, storing, pro-
cessing]
45. Persona]_cum_pJ.xter was produced
_duetoi novation of
(A} Vacuum tube development
(B) Transistor development
“Integrated
development
(D) Microprocessor development
46. Integrated cn‘cmt (IC} was used
ﬂ:st-tlme ® in _
{A} F irst generation of computer

(B) Second _generation  of
computer

circuit

Third generation of computer

Fourth generation of

computer

US-lEIU'i-Series—R

(12)

44.

45.

46,

(a) g, ST, R, e
@) [t Reffen, e

©) [orwege, o, wHe

D) [eten, @R, T
e T AL H T g
(&) P T e

®) g Rew

- ——

© 795 e e
(D) AN R

HE e H I T aw g
Eﬂ- bl

(A) o8 ST P F
B) fecdir I ey 3
©) Tl I ey
D) o5 e wrger 3

https://www.ccsustudy.com
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48.

49.

US-15107-Series-R
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CD-RW is-

(A) _Compact Disk-Read/Write

(B) Concise Disk-Read/Write

(C) Compact Disk-Read/Write

D) Character Dia'play-Read_f
Write

By LCD we mean

(A) Liquid Colour Display
Liquid Crystal Display

(C) Limited Crystal Display

(D) Limited Colour Digplay

Statement I-the data access by

CPU from Hard disk is slower

Statement II-the data access by

CPU from RAM is faster

Statement III-the data access
from CACHE is fastest.

Which of the following is correct

about above statements
(A) I+ 1I correct

(B) 1+ III correct

| J#mmmct

(D) 1+11+ III correct

(13)

47.

48.

49.

CD-RW & 2

(A) TR Rw-{’we
(B) #ww Re-{’ /e
(€) Fiw Bes-fs/me
(D) w7 B fiz e
LCD & &1 goot 2

(A) RifaR Fae feey
(B) Rz Brew e
(C) Rz Beg R

(D) Rz s Rwd
v 1- A9 2o o B @ e
Prean i kW 21

wa I1- ¥ty 2T 19 @ skeer Preer
faax & 3

¥ III- 39 & =@ P e
& 3 35 T 3 P -

w 2-

&) 1+
®) I+
(C) II+ 11 wh
(D) 1+11+ 111 &

https://www.ccsustudy.com
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- - - ﬂﬁﬂﬁ ’ﬂa
50. 1f(562), exists then ite binary form 0. % (562 % T vy /

will be @&y -
S 101110010), (4) (101110010),
(B) (111000101), (B) (111000101),
© aimorion, (C) (111101101),
M) (101101101), (D) (101101101),
51. The value of AV is equal toD _ 51 AVH A AT &
(A) AV (A) AV
B) 8" (B) & -
A both (4) and (B) (C) & (4) 71 (B)
(D) None of these D) 74 } A T
52. Valueof E”is equal to_ 52. E*# 90 a0 ¢
ﬁ Kt (&) p+i
®) u-1 (B) p-13
©) 8+iu T (O s+
D) 8- 4u @) §-4o
53. "M relati —
relation between the operator 53, IR p AR 6 gy &
nanddis 5
A o1, W w=ie
Y 4,
e — 2
B w=1.2 B w=les
(C) pi= 1+ 52 (C) “3=]+52
D) w=1-8 - D =1
64. The operator 8 is defined by the 54 WV § WG 2 afiver Wiy
Operator equation (A) 8=E%+p-%
(A) 8=E% ¢+ g% =BT+ ETR
AP S=E% B) 8=E"-E%3
. (C} EzE-—E" (C) E=E-—E'lﬂ
D) 6=F+ g1 D) 8=E+E13
US-15107-Series-R (14)
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/66 he relation betweon the

/ operatorsc and E is_
\-.._/’ -
E S

W o=

®) o= ——

(C) G = e

(:’_
D) = £

eﬁ:stth;_eet_ermsinSth'ling’s
formulaare <" o

[

%

A) v, 5 By tay)+ 3 &y,
u u’
(B) Y. + E (dy_l_Ay.) + -E A’Y.;

©) y, + Q(Ay +Ay.)+ a'y,

@) y,+ 5 Br-4y.)+ 5 &%,

A V.,
57. anuaof; -2 is equal to

(A) A-V
B) alv
€) v-a

4 A+V

US-16107-Series-R

56.

87.

(15)

AT 6 AT E & a2

Stirling ¥ % Wa #1 ® ¥

o u
A y,* 2 (Ay +ay) + 7] Ay |

B) y,+ (.sy s AR u—z A%y
© y,+ (-\y YY) < u_—_

) u’
(D) y.* g (-”." -33’.1) * -':)' dly-l

AV )
-3 ¥ AW

(A A-v
B) A/Y
(O vi-a
D) a+v¢

https://www.ccsustudy.com
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— gy = - - ] r
58. Ify, -—.10. v, = § v, = 5.:}_,
theny, =

(A) §
B) 5%

A6

D 4
TN

J

7

-

5;9_. Value of & ¥ 1s equal to.:

- (A) Ar*? }.x‘(nm

'

B) acy_ o
(C} AR
(D} A= \j

y:—{nﬂl

xHn/)

60. Ifu= x;x,, then Gauss forward

) _ Interpolation formulaisy=.......

(8) ¥, + uay,+ YD 4
' - 12

»=1

AAAAAAAA

y=1

©) y, + ua y+ 2u-D s
12

wu-1)u-2)
+ 3 ,53?_1 +

--------

(D) None of these
US—15107—Series—R

(16)

- 10, B8 RLp2

59.

60.

10,5, =8, % =0V, 5y

—

@y, =
() 8

@) 5
(Cy 6

D) 4
anyxﬂqﬁm%:

(A) &n#‘l }'x-l'.ﬂm]

(B) 8"Y,.pu)
(C) 2% Yy qu
D} A*Y
al%u="‘h"° 0 M PREE o
W@ y=
+1
(A) }'u + llﬂyo'*' U{UB ) azr‘]
u(u’ - 1)
T A+
B) y, + ud y + —_U(E]) A*
u(u’=1)
T At

D) 4 & % &

https://www.ccsustudy.com



61.

62.

63.

https://www.ccsustudy.com

The software can be divuled into

(A) Gencralj _P__l_lépﬂéae Software

and Special Purpose
Software

(B) Operating System and
Application Software

(C) System Software and
Application Software

(D) None of the above

How are software packages

jategarized _ -

(A} Hardware and software

(B) Word
Spreadsheets

processing and

software and

(C) System
hardware
(D) None of these

ceoer. 18 known as the first

WOMan programmer.

——

(A) Charles Babbage

ﬂ Lady Lovelace

64. Computer machine

US-16107-Series-R

(C) Abacus
(D) None of these

accepts
v l€VEL language.
(A) High ,
(B) Low .
Machine
/(D) Assembly

61.

A B fafa fear o 9% B
(A) HF FA AT AT
B e |
(B) ﬂf’ﬁ'fl‘T f#_FZI‘q' _;.ﬁ'r ﬁgzﬁn
wen
(C) [uz=z= mw=da7
qrraar
D) T # 3 5 A

e aga

63.

64.

(17)

A T 3

(A) FEATT I ARIT
(B) ¥ Fdfm @7 S
(©) Feem T 37 aray
(D) ¥ & 3 =

A AT R

(A) o8 ¥

(B) & FEdw
(C) wasw

D) FRE T
FYRET o &7 F1 W EET
Fdt B

(A) High

(B) Low

(C) Machine

(D) Assembly

https://www.ccsustudy.com
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66.
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Debugging is ......

(A) Easierin High level language
(B) In Assembly language more
complex than High level
language

Machine language is not good
as high level language and

assembly language
All of the above

(©)

(D)

The major components of a
computer are

(A) Memory

(B) CPU

(C) /O devices

/}) all of the above

87:

e

68.

US-15107-Series-R

You can write data into
and read data from the

............

% RAM,RAM &2

(B) RAM, ROM
(C) ROM, RAM
(D) ROM, ROM

The first machine to succeasfully
perform a long series of arithmetic
and logical operations was
(A) ENIAC

Mark-]
(C) Analytic origin
(D) UNIVAC-I

(18)

66.

67.

88,

"""""""""

(C) I,fogﬁm
(D) v a4

A 8T T e E sy
3 5 % R EL

(A) RAM, RAM

(B) RAM, ROM

(C) ROM, RAM

(D) ROM, ROM

oooooooooooo

e Rl A TS o il 3
SR o TR SR 7 e
A
(4) ENIAC

~(B) Mark~]

(C) Analytic origin
(D) UNIVAC-I

https://www.ccsustudy.com
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69. ENIAC &1 &% 8

/69 The acronym ENIAC stands for

Electronic Numericale=—

Integrator and Computer

(B) Electrical Neon Infuse and
Calculator

(C) Eulogistic Nuisance Is A Cart

(D) Electronic Number
Interpreter and Calculator
70. The name of first digital computer
js https://www.ccsustudy.com
S ATLAS
(B) NCR 395
(C) ENIAC
(D) None of these
71 A Computcr Network is

——

(’\) Colle:.tmn of hardwhre
components ahmr;;u;.er
{B) Intur connccted by
oummumcauon channels
((‘) Sharmg of resources and
m_formatlon
All of the above
72. What is thc use of Bridge in
Network _:.._, T
% Toconnect LANs
(B) To separate LANs
(C) To control Network speed

(D) Al of the above

—

70.

71.

72.

US-15107-Series-R (19)

https://www.ccsustudy.com

(A) Electronic Numerical

Integrator and Computer

(B) Electrical Neon Infuse and
Calculator

(C) Eulogistic Nwsance Is A Cart

(D) Electronic Number
Interpreter and Calculator
@ fRTed $ger B W 3

(A) ATLAS
(B) NCR395
(C) ENIAC

(A) FEIT geEt AR TG H I
(B) TFAYT ST & I J3M
(C) REds @ §&= & 8ewA
(D) SWF &

B e R Foqm @

(A) LANs & Jr¥4 &
(B) LANs & & F0 & R
(€) Y@ & wiE & PaT 3 kN

(D) I &t
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73. The last address of IP Address
represents
(A) Unicast address
(B) Broadcast address
(C) Network address
(D) Local address
74, LANisa
(A) Land Area Network
(B) Line Area Network
‘}) Local Area Network
' (D) Link Area Network
@Cumputer Networks can be
classified into ..., . types,
(A) Three ,
(B) Four&
€) Two
%) Five
76, Nis..... than WAN.
(A) Larger
) Smalier
(C) Equalto
(D) None of thesa
L topology is better than bus
topology.
(A) Ring

(B) Mesh
©) Tree.

ﬁ) S-t;r

i~

US—15107-—Series—R (20)

74.

75.

76.

(D) AT G

LAN 2 0%
(4) Land Area Network

(B) Line Area Network
(C) Laocal Area Network
(D) Link Area Network

TR D B oo TR 7 Ty
Frn @l B

A @

(B) ;N

C) @

(D) v

LAN ... 2 WAN &
(A) Larger

(B) Smaller

(C) Equalto

(D} None of thege

o QA T AR 3 o7

.

(4) R
B) Ay
€ #
(D) wrt
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78. R WER & 309 MS-DOS 37

78. Which type of user interface

MS-DQS p!‘OV_iEE ' @i o
'&) GUI " @ Ul
®B) ABl €~ (B) ABI
(C) CUI (C) CUI
D) MGI D) MGI
79. The UNIX operating system can  79. L'Nl}; ST Ryeew Rwifom [
qepcl

bf_divided in to
(A) File system (A) File system &

(B) Scheduler (B) Scheduler 3
(C) Shell

(D) All of the above

(C) Shelld

(D) All of the above
80. (22),, | TRTH T 3

A) (10111),

(B) (10110),

(C) (00111),

(D) (01001),

80. Binary equivalent of (22),,is

() (10111),

ﬂ- (10110),

() (00111,

(M) (01001),

81. In Newton — Gregory formula for 81, ¥R g 3 g Tq"m T
backward interpolation, P (x) = A, + A, (x - a) (x-a-nh)
P,(x) = A, + A, (x - 8) (x-a-nh) F v FA,@ B
e the value of A 18 (A) fla+nh)

(A) fla*nh) (B) fla+h)
(B) fath) (€) o)
(C) f(a) (D) & & HiF T

US-15107-Series-R

(D) None of these

(21)
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82. The technique for obtaining the
value of f(x) for any value of the
argument outside the given range
of the argument is known as :

E#) Interpolation
(B) Estimation
(C) Finite Difference
ﬂ) Extrapolation
83. Newton-Gregory formula of

forward interpolation is used for

L4

/A) Equal intervals

(B) Unequal intervals

%,-Both equal and unequal
intervals

(D) Neither equal nor unequal
intervals
84." For finding a tabulated value near
the end of the data for equal
i;ltgrva]s, u;e_i:lave to use
Newton's backward
interpolation formula
(B) Newton’s forward formula
(C) __'I_'_Jg_i\_riq_ed_ difference formula
(D) Lagrange's interpolation
formula |

US-15107~-Series-R

g2, R

83.

84,

(22)

e o 3 P 0 T 77 PR

{A} Interpo]_aﬁon
@) Estimation

() Finite Difference
(D) Extrapolation

F T g 8

(4) Fm s |

(B) T Seraet

(C) §IM qu JEAA AA S
(D) @ qI W A FEHA SHan §

qF ITd R o B T 3
giq geee 79 Wa F B fow, o
ST T 8 T
(A) Newton's backward
interpolation formula
(B) Newton’s forward formula
(C) Divided difference formula
(D) Lagrange’s interpolation

formula

https://www.ccsustudy.com
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85. The polynomial interpolating the

B —txtrax 353 - LOONY )

86.

87.

US-15107-Series-R

data

X:

f(x) : .
is given by ¥ 3} X s B
v ole ) 2

(&)

©
(D)

o 1 2 . =2

0 5 2

S - _5

4x! + 9x

' 2 ™
[ 6X ~'o0™+ X ™
—ux A X

4x? - 9x
—4x?-9x

X! 0 1 2
fix): O 5 2
(A) 4x*+9x
(B) —4dx*+9x
(C) 4x*-9x

- 4x*-9x

In Newton's forward formula, for  86. u= [(x-n%} % [T = HIER i

u= [{x— a%] and w}_u-apqﬁ_‘f_(a_)_ =0

the formula reduces in to -

[:

II:
(A)
(B)
(C)
D)

Newton — Gregory formula for

f(x) = f(a) + ua f(a)

f(x) = fa) + (u+1) & f{a)
only [ is correct

only II is correct

Both 1 and II correct
None of these

equal intervals is a particular case

(A)

B)

©)

D)

---------

Everett's
formula
Lagrange’s interpolation
formula

Newton's divided difference
formula

Besgel's interpolation formula
(23)

interpolation

% ol 79 a%(a) = 0, TF M 2
1: fx)=fla)+uaf(a)d

I: f(x)=f(a)+(u+l)¢3f(a)f1
(A) 3 [ 9 @

B) I & 2

© 1AL ¢

(D) ¥ A P 7

87. A TR 3 fU AT 6

1 @@ RNg AT B

(A) @& & @ T3
(B) AW & Ha@e G

(©) wpmf:mrﬁraam
(D) W H FTQH T

https://www.ccsustudy.com S
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Let y = f(x) be a function and for

88.
e Xy Xy e X} the » y-values
are Y. ¥, ¥y covvveeens - ¥}, Now for
applﬁnézﬁe Lagrange's formula.of
interpalation, minjmum required
_nis__
(A) n=1
"B n=2
{C) n=3
D) n=4
89. The mean of Gauss's forward
forn;fulg and the third due to
Gaussis ... .~ e
(A) Lagrange’s interpolation
formula
®) Stirling's interpolation
formula
(C) Newton-Gregory formula
»fPF Bessel's interpolation formula
90,

About central difference tablo, we,
have three statements (for Gauss

a

‘i_nl.bEI‘pOhtiOnT T

I: It uses forward difference
Operators

IT: It ugeg backward difference

operators

It uges central difference

operatorg

ouly I and IT correct

(B) onlyI and I correct

(C} onlyII and I correct

M) 1,11 ang I corpect

Il -

(A)

US~iBll]7—Series-R

(24)

88.

89.

0.

ﬁaﬁ?{x,,x
:f(x)@w ’ 1,}’
rn?ﬂy RPNy,

....... y.},glﬂﬂmw
@aﬁ?@i‘ﬁ“ nFH A R gy

&) n=l

i a1 i 7 B 3 g g
FMH o B

&) I T ATEAE G

(B) ®RM B HTXT TN

©) AT @
D) ¥&d F HE T

WWM%h@ﬁmm;
(e iR i
Lo o wved vt o0 amafiy atged

®) %3a [ e 11y gay
@) L1 G 111 ey
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91. The two symbols 0 and 1 are

known as

e -

(A) Bytes
(B) Digits

ﬁ Bits

92,

f)"l’!lg

(1011010),=(?),,
@A) 5D

B) 5C
() 5B

D) 5A

93. ..

94.

95... The hardware camponentused for ..

. is the protocol suite for
current internet,
(A) TCPAP
(B) NCP
(C) UNIX
(D) ACM
Which number system refers base
107
(A) Binary
Decimal
(C) Octal
(D) Hexadecimal

~ temporary storage of data and

—————

. Apphcahons for proce ssmg is

(A) Monitor
(B) Processor

_##57 RAM

US-15107-Series-R

(D) Hard-disk

91 AMMF O M 1A ...occeee. % &

92,

93.

94.

95.

(25)

i Gl d

(4) ey
®B) ey
(C) fw
D) Hma
(1011010, =
(A) 5D
B) 5C
(C) 5B
D 5A
............ g fee @ RiT e
g ¢

(a) 4. /am .

(B) T

© =

D) i
Eﬂ?—tﬁﬂ@rmwmﬁwﬁh
B B

(A) fasnardt

(B) <Wed

(C) Fr=rd

D) W8 Jmrd
W%Mﬂwmmﬂ
% P % T IR e 9% 2
(&) =R

®B) MWK

€) ™

D) #d @

(?)15 ™~
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96. Which of the following is a read

, only memory storage device

(A) Pendrive ~
(B) Hard-disk »

(C) Scanner «

_@f CD-ROM +»

97.

What 1s ALU

f Arithmetic logm unijt

98.

US-15107-Series-R

B) Array logic unit

(C) Applicable logic unit

(D) None of these

A source program is usually in

(4) Machine Level language

(B) High-Level lﬂ.n-guage

(C) Assembly language

(D) Low Level language

The BOOT sector files of the

system are gtored in ............

(A) Hard disk

(B) RAM

€ ROM

(D) Past solid state chips in the
motherboard

(26)

97.

98.

99,

https://www.ccsustudy.com

g6, fr 1 7 A I

i
qfﬂﬂ“gﬂ”‘%f

LU 71 ¢

W) S T TP

B) 7 T TR »
(C) oy o 3R e
(D) ¥ § 3R

G 4R S e 8
A) = @ T A
(B) I Wi wmr §

(C) = anr &

(D) Fre-wria A

Ry 21 BOOT Y=L TR ...
fmeT?rGﬂd?f-l

—

@ MR

B

C) W
D) =& ¥ wiee g sqer
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100.The list of instruction is called 100. et &t = A
0 (A) T

(A) Application (B R
(B) Software - ' [ _
(C) Coding .- »(C) T
(D) Program 1\- (D) g™

https:/www.ccsustudy.com
Whatsapp @ 9300930012
Send vour old paper & get 10/-
o g Ao S 3R 10 sud ord,
Paytm or Google Pay &

(27)
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MATHEMATICS-VIII
Linear Programming
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Signatyfe oPk]vigilator
- BT

Instructions to the Examinee : : et 3 R e :

1. Do not open the booklet unless you are [, qE-gfk a9 9% 5 Qf 9 95 Y
asked to doso. _ U1 7 T |

2. The booklet contains 100 questions. 2. m—gﬁaﬂ # 100 9w ¥ | ol 2 o
Iixaminee is required to answer all 100 100 55 %) 349 & T OMR aC-Hie
questions in the OMR Answer-Sheet P R PN
provided and not in the question booklet. 3 't VIS RIE U
All questions carry cqual marks, S5 2 oi% W '

3. Examine the Booklet and the OMR 3.  N¥I & W i &1 @ T ne-Gfen
Answer-Sheet very carefully before you T OMR JFa-4iiE # m‘lﬁ?ﬁ 1
proceed. Fauity question booklet due to h Aot -Gk Rt g8 W e |
missing or duplicate pages/questions or TN 8 7 997 U | Y@ 9% 8Y T &
having any other discrepancy should be T T PRl o T Y o ), IR g
got immediately replaced. '
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L. - Four sub-problems T to IV for the 1. 99 3 I9% TH0E B WA B BT

L —L

soldtion of LBP. L pp
Max. 2= 7x| +9,1‘2
IFEm  z- 7x 4+9x,
subjectto =X +3x, <6
7x,+x; <35 Fafe -x, +3x, <6
7x,+x, €35

and 0<xp, x; S7,x, x5 are_integers;

o7 U'S.I'],Iz 5?,X|.1'2 iuﬂﬁ %} E‘E

_ by using Branch and Bound technique

_are (Given that optimal solution & Bg 1 ¥ v 8% STl ¥ (R
9 7 |
IS X =X =) 9
e 2 2 %ﬁﬂmﬁx|=‘2‘:-ﬁ=% 2):
Max. Z=7% +9%y |
o . _ AHHH  Z=7x,+9x,

subjectto —X 3%, <6

—~ 7x+x, 535 . 2 ~X,+3x,<6
X520 . ' Tx,+2,2<35
: x.r 20

and . aqr

T X, S4,x2 <7. H.A] >S5, Xy <7 _I. X £ 4..\'3 s 7. H..‘l‘l 25.)(2 <7
(4) '_Ill.x, <4,xy €3, [V.y, S4,x, 24 (A) M £4,x <3, IV.y €4.x; 24

L X% S55 <7, 1Ly 25.x,54] (L xjSSxy<7, 0Ly 25,x, <4
®) [III.x. 5,1 ST IV <4, 24 ®) L% S5:2, 7,1V 4,5, 24

(L 3 S40<5 1Ly, 25,0, < 51 [ X S4x; 25 1 25,0, <35 ]
(C) |_II1.:\'| S4ry23, V. €30, 24) O iy 40 23 1Vax €50, 24
(D) None of the above (D) IR ¥ | BF 7
US-15106 (R) (3)
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The necessary and suflicient condition
for the existence of a feasible solution of
a transportation problem is (Given that
ith origin has a, units of certain
product and jth destination requires
b; units of the same product) :

A) 2.4=0

=1

® 2.5 =0
J=l1

(A) I«||_=2.x2| =_l,xn =:3,123 =2,
B X33 =3, x4 =4
(B] 11 =I'III =lx22 =2’x2; =3'
X33 =2X34 = b
X1y =2,I2' = 1.122 =‘3'x23 =2’
) 133 =:2|x34 =S
(D) None ofthe above

US-15106 (R)

© 2a%2h
=1 2=
P 2a2h
=l Jol
Using North-West corner rule, an initial
basic feasible solution to the
transportation problem :
To
I 0 1O IV Supply
A 3115 01— -
From B i7 14 12 13 6 1
C 18 18 15 12 7
Demand 3 3 4 5 15
1s:

o S S e &

2
Aaer W ah il (FAER
& A R B ) A g
e e & w4 e W
i T A o) TR W A
= ?)
(A] z;la,-=0
(B) gb":(]
(C) Zﬂi‘#zl:bj
-~ j=
D) Z‘FZ,“'J
el J=
3. -3 B Praw @ 93T N AAES
Tl
2 67 T
»‘31_ I 0 omoIv oy
P A3 1115 20| 2
50 a B |17 14 12 13] 6
% cliB18 15 12| 7
" W 3 3 4 5|15
A & TG T T B &
(&) =%y =Lxp =3x3=2,
133=3,X34=4

(4)

B) N1 =LXy =230 =2x3=3,
X33 =2,%34 =5
€ *1=2xy=Lxp=3xp=1
X33 = 2,1’34 =3

O o d Y R
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4. The transportation problem :

Y4

0, 1 26 3 gl 6

0, 4 3 21 {6 g=2

0y |dw 2 .g i |10~
Demand 4 6 |24

by ‘lowest cost entry method‘ has the
initial basic feasible solution as :

(A} le 35‘11—311‘—-6 I:“ 4.1'33-.-6

/GB) X2 =_6.x;3h=__2.x2¢ =5-IJ| = 4--‘-’33 =6

(C) X2 =6 12]—2 A4 —6‘ Xy ——4 .\.’33_4

P

(D) None of the above

5. Aninitial basic feasible solution to the

transportation problem :
Destination
o I 2 1
OignO, 3 3 2 | |50
O; 4 2 5 9,20
Demand20 40 30 m”f 100

Supply
4 l 30

by Vogel's approximation method is :

A

®)

:\”—20 I|3—|0 \.12'20
x-_,__-;,-lﬂ .h,‘!lU J.‘-y--..U

X1 =Ig.."|3 = l..\'zz = 20.
123 = lU..r:_l =2'D, 132 =20

X =18,x13 = l2.xn = lg,

Ay =22‘r24 = 1{}‘ :\'32 - 2(]

(D) Noneofthe above

US-151086 {R)

(©)

4. TG HERN

D, D; D; D, &

O 12 3 4| 6

O, 4 3 2 o0 8§

0, 0 2 2 110

M 4 6 8 6| 24
H ‘e B R Y v e

HMRYd T 50 I 5HT &
(A) X33 35..1'13 =3.Iz‘ '—'6.15| ‘—‘-4.133 =6

(B) Xi2 =6‘I13 =2..].’3J =6..1'3I =4‘x33 =6

(C) X112 :6n123 32‘1'24 =6.13| =4.133 =4

O i F & B Id
S. T 99
o wm
D, D» Dy D, D;GI@
0, |I|— > 1 4
mo; 3 3 ! 1 50
O, 4 2 5 9.3
BT20 40 30 10100
o ‘A wiea AR arr o s
AR T & & -
@ X1 =20.x3 =10,x5, =20,
.1'2_3 -—.U.I-_,__' —lo. I}z = 20
(B" 'a'“=l91|3=ll.l'p‘—'70
1_3-10 .\'-)4 ’0 1'3-0 —20
=18 x =]21-1'ﬁ=18.
© T 13 ”
Xy = 22.124 = 10. X33 = 20
O) IR * ¥ B T

(5)
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If a feasible solution of m by n
transportation problem has m+n-1
independent e;l_l;o_c._liqﬁ_s_ _ and
-c,., =u, +v, forcachoocu]:!edccll cell
;\'aiuailo; d, =c; —{u;+v;) to each
mpty cell (i, j) andall d,, 20 withat

N

least one d;; =0, then solution under

p——

testis:

(A) Optimal and unique

(B) Non-optimal
Optimal and alternative optimal
solution cxists

(D) None of the above

For a transportation problem the initial

basic feasibie solution (by Vogel's

e —

mﬂhoc_i_‘.l 1s determined as in the table :

A aslable
D 27 3

ATRITL TNRENFET N I T
Qa D60y 185) 4T
C3 A250) ,(200) (301

_ ' , _

N

Regurce ¢ z 2 ®

This solutionisa:

(D) None of the above
US-16106 (R)

6

)
-\
RIRYGEIR

(6)

6. aR (mxn) qEraR el A qTeg

5 ] T TR TN T
. =, +v, BT W TS &
S G d, =y~ +)) TS
T LA
4,=0 % @@ @ d;20 ¥ W
vy s s ¥

(A e T AT

® R-wdFT

(©) T T G W T
R e X e

O) 0% § 4 = @

@ AR R  RY AR
Tareyd T g (A A A
9 S e ¥ 7 €

Dl Uz D+ 39
0 [0y [ oy T@20) 1
02 90| @5 [(17)] 3
03 [(250) am)zl(soh 4

T 4 2 2

MEEE:
A T-IEe
®) HFNRe

©) T
®) A X ¥ B} 8
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a An unbalanced transportation problem 8. @& Gmgﬁm AR 9]

To
I 2 3 Supply
L{s 1 7110
Fom 26 4 6|80
3f3 2 S§|1s
Demand 75 20 S0

ey

—_—

has penalty costs for every unsatisfied
. ' A==

. _fi.ffnfff],_ unit which are givenby 5, 3and

"r

b

-
( 2 for destinations
— - T

-~ -~

2 and 3

o

tespectively. Then initial B.F.S. (by

Vogel method)is :

-r—"”_’-—‘_ )
(A) xz2=10,x =60, x5 =20,
X311 = 15,.1‘43 =40

(B) Ilz =]0,::2] =6{}\I}z =20'
Xy =13, =40,x,, =40

X3 =10, X3, =60, ¥y =20,
(C) A3 = 15, Y =40

(D) X2 = !0';‘\'2' -_-60..’('22 =]0-.
X9 =]U,I“ =]5,I43 =40

US-15106 (R) {(7)

-

Id&-—Mﬂ
!

W HUGE AT 7 3 e 78 Bt
TG & S 5,3 qw 2zmu A
A 1,209 3 Fa =9 3 R
A AR T T9Y & (R
i zrm) 3

(A) %12 =10.x;, = 60.xp, = 20,
1'3! =]5.3‘,‘3 =40

{B) Ip = l'D-x-n =60..'.'n = 20,
o = 15,5, =40.x, =40

"‘ll 210. I =6, X33 =20‘

R £ Y 1‘[5‘ xa =40

(C

{D) X = 10..\?31 =60~I‘11 = “].
I:} = ]0. .'C:n = 15..1"3 -"'40

https://www.ccsustudy.com
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9. I ¢ M(W)%raﬂﬁﬂ#
/¥ it freir & T

9, Let ¢, be the cost (pavment) of

assigning the ith person to the jth job

d x.
e fi ot A o 9 At ¢ o
:|Iifil.hpersnnisamigned_lnmcjl_bjoh xi,zlo & Rpar T B
10 if not
Then assignment problem will be : oa Frafor e et
L
2, - Min. Z= C;i X
Min Z=EE:‘., X, " E;Eﬂ vy
=4yl s
subject to : S
(A) Zr =LY%, = W Y=l Zx#-.:o
=1 Ll
®) =00 %=l (B) Zra=°-Zxo=l
=l = jwl A
(©) ZI-— IZx =1 (©) z’u' l)_jlx,,_l
[m} 5=
v ZI.=LZI.=1 @) sz':"zxaf;]
rt = el =i
10. The minimal assignment problem 10. g freier T
b oL
A B C !I'I,o A B C
120 100 80 Bo 32 1120 100 80
~ 20 e
Pesn2 {70 90 110/ _\\©  ~33 2(70 % 110
3010 140 120 2 3 (110 140 120

¥ T

has a solution :

(A) 1-C23B3=A =730 A) 12C25B35A

(B) !—mz-»as-;r: =330 (B) 1-A,25B3>C

(C)* 1—)3 2%@3—}(2 (C) 1=-B29A35C
w Noneoflheabovc 1) mﬂﬂ'!ﬂtﬂﬂ
US-15108 (R) (8)
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A factory has four plants cach of which
can manufacture any of the four
products. Production costs differ from

plant to plant as do sales revenue and

-

_given belaw:
Sales revenue (Rs. 1,000) Production Cost
= = T Praduct Product
Plant | 2 3 4 Plant ! 2-“3 4
Al50 68 49 621 A |49 60 45 ﬁ|1I
B (60 70- 51 74; D53 63 45 69|
C |55 67 52 700 C |52 62 49 68;
D (58 65 54 69, D55 64 48 66

To maximize the profit which product

— —

each }antshculd pmducc'? _
{A) A—+EB—>4L—>ID—>3
(B) A-»I,B=>2C—o2>4D->3

A A-52,B—+4,C>3,D—

(I») None ofthe above

12. /A principal has four tasks to he

Jertomed gmd lf.hree teﬂchers who

differ in efficiency. The estimates of the,

t1me egach teacher would take to

perfonn, arc given belo 1 bel 0w in the matrix.

How should the prm{:npa[ allocate the

tnsks one to cach teacher, 50 as 1o

minimize the total man houn ?

Teachers
1 2 3
I {9 26 15

HEi3s 20 1S
v {18 30 20

I=L1H-2 -3

(A)
(B)
(€
(D) None of the above

I=0L1-3 M2

=22 N=3 -1

US-15106 (R)

12.

(9)

https://www.ccsustudy.com
11.

% HEA § 91 Qe §, 5% 91
IR} B INET BT GHAT &1 IR

TR T @O J AT 3,
4 gt el R o - @

o feg @

fazft ol (5. 1.000) @ i
4= O
woel 2 3 4dguel 2 3 4
A 30 68 49 62 A |49 60 45 6]
B|60 70 51 74| B 55 63 45 69
Cl55 67 53 70| C[32 62 49 68
D38 65 54 69] D|[55 64 48 66

e W ANH T S R -
I FAS @O A FT Ay 7
A) A=>2Boa4Co1.D=>3

B) A-I1.B=22C—o4D-3

() A-52B-4Co3.D—I

@) IQE J & FE 7

T IO A IR B 3 R R
T el A &, & HEW
T ARE W e e o
A § wmem, A= =g § R
g A 5 SR s Res §
F i B A% @ W TR
A B A R ?

I 9 26 |3
gl 13 27 6!
I35 20 135
IV 18 30 20J

Mm-3

(B) -2

(Y 5205, -1

(D) IWHE T | 9L T8

Lt laa

(=

A [=1LlI->2,

=1L 11 =3,

https://www.ccsustudy.com
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problemt
=10,

3. For the travelling salesman

“'ith daT.E CL‘ = :{l- Clr = 4 -

f];_—_s‘ CH=6_ (':_‘:-IG- (.:“'16 .

e = 20, where ¢, =€, and there 1§

no route between cities and j i{the

value for ¢, isnotgiven. The assignment

table of this problem would be :
To
1 2 3 4 3
1l a 20 4 10 a
22 ¢ 5 a 10
me?;“ 5 a 6 6!
4{10 a 6 a 20
Sle 10 6 20 «
(A) where g=0

%?f where g=w

(D) None of the above
14. 1n goal programming problem, which of
E{Dllffﬂg ig_nqtm:e ?

(A) Itis multi-ohjective optimization

problem
(B) Goalsmay even be conflicting _

ﬁ@) l-hght.r priority goals are gwcn

Jeast i Impﬂr[anna

L=

(D) All goals not be fulfilled to the

target expected

US-15106 (R) (10)

14.

13. hﬁmﬁaﬁﬁaﬁmw%fﬁ%

CH=1u_|
=0 ,

%, =206 = 4,
e =5, €y =6, Cx =10, Cy
¢, =20, T ¢ =c, T ¢,
oo T Ry, @ id
T 3 T e T T & @ T

2q Praiteor afesr 861 -
REd
1 2 3 4 5
1 g 20 4 10 a
520 a 5 a 10
¥3l4 5 a 6 6
4 10 a 6 a 20 J
5 o 10 6 20 a
(&) Tl a=0
fBJ“’lﬁaﬂ
(€) Tl a=w
) I d § B T

o T awen ¥ e # & A

Ta T2 ?

A) TG T TG T
?

®) 7 War- R o & g §

(C) T= T I TR B e
mew Rar ik @

) T 7@ & onRE Remr Tt
7% fae o v

https://www.ccsustudy.com
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15. A factory produces two kind_of
preducts, chairs and lamps. Production
of eitherilcm rcqmres 1 hour. The plant

has maximum capacuy of 10 hours per
week. The gross margin from the sale of
a chair is Rs. 80 and Rs. 40 for that of
lamp ]"orrnulahon ofthis p pmb!em asa
goa programmmg pm (if the goaj
of the_ factory is lo earn a grof‘t of

s m—

Rs. 800 per week) wil will be

e S . ——

80x, +40x, +d —d; =800
X, +% <10
X, Xy, d) 20
with objective function :
(A) Max. Z=dy ~dy. where [d])
and ;' are respectively under

and over achievements of profit
goal of Rs. 800 _

AT M. Z=df +d
(C) Max. Z=d; +d;
(D) None of the above
- 16. Deviational variables _in
__programming satisfy which of the
condition? -
(A) d}=df =0
B) d'+d; =0
(C) dfxd =-

1
) d xd =0
Thc solution of goal programming
problem may be obtained by :

(A) Graphical method only
(B) G P. Algorithm of Simplex method
~ (modified) only .
ﬁ(c) Both (A) and (B)
(D) None of'the above

US-15106 (R)

goal

15. @F FL@A 3 GBR P SAR-FA a4l
oy e & Re @t © & Fmber A
TF gU aT B WIE B AT
geam 10 99e giy gaE & F@ D
3o T T 80 FUY W A & I
W 40 507 & I& @ frear 3
o B T R aee P
(3R FEE F & 800 5. nhm
T AT B E) g

80x, +40x, +4, —d, =800
x,+x, <10

X, %, d, . d] 20

&l 95 G & ¢

) Max Z=gy-df T df T
dy &9 < 9 Aites Srferdi
& 800 T & AW 9 A

(B) Min Z=4; +d/

(© Max Z=df +df

D) IFE § § fg 7

16. @& 55 I Reed =X oF-0 99 &

A= $ ¢ ?

(A) d'-d =0

(B) 4'+d =0

(C) d:)‘di_z‘

D) df xd” =0

17. G WA OO H & W 6 @

T 2

(&) a@ I Ay A/

B) ¥ Rreew My (=) 3
<14, wrifEd 8

(©) (M@ (B) A

D) IWHE ¥ & 7 Tl

(11)
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Devivational Pnonity

A company produces 1wo ilems radios
and transistor. which must be processed
through assembly ~and  finishing
departments. Assembly has 90 _hours
available finishing can handle upto 72
hours of work. Producing one radio
“requires 6 hours in assembly and 3 hours

i finishing. Each tr ach transistor requires 3

rsin assembly and 6 hours in finishing.
The pmm radio and Rs.90
per” waiiSistor. TRE company  has
established the following goals and has
assigned them priorities P, Py, P, (where
P, ismost important) as follows :

Cwal

variables

d.
dl
d,

US-15106 (R)

P, Produoe 10 moct 3 adio goal of 13
- . o g

P, Reach a peofit goe! of Rs. 1950

P, Produee 1o mect 3 transistor goal

of 5§
Formulation of G. P. Problem is

Min. Z = Rd; + Pd; + Pd; subject

10 6x;43x; S90. 3x,+6x, <72 and

X, x,.d; . d;.d;.d}.d; . d] 20 with

profit, radio and wansistor goals

rwpwtivelyaj_:

(A) 120x, +90x, +df
x +dy —dy =13
Xy+dy ~dy =5
120x, +9ﬂ.r3+d -d; =1950

-d, =1950
and

and

(C) 120x,+90x, =1950
x +dy -d' =13
Xp+dy-dy =5

(D} None of the above

and

(12}

18.

e W st
d.‘

d.
d

o 7 3 g Y 7 g T
¥ A5 ot 3 R BT @
A B B et R & I 90
qw qa 72 902 el R @ o
e ¥ o WA T A 6 T
vy & e 3 oo PR Rver A
TR W oF gitwer ® B 3 T
I & T 6 wd B AR
Rt & sve 81 @& WA |
120 §. & @& FRT W90 T A
v e &1 TN A T @ W
W ¥ qo T AERET ALALA
Py frag = W@ ¢ (oW A

i weaq 8)

3

. 13 1 SR W A wW

p, 1950 Y 5 O A Y AW

P, 5 PR WA W PR8N
7Y GP. T W Frer }
Min. Z=FRdy +Rdy + sdy
TRl 6x +3x; <90, 3x+6x T2
™ x.x,d .4 ,d;,d;,d;,d} 20
F: T, R T T I B W
(A) 120x, +90x, +dy -di =1950
x +d; —dy =13 aar
Xy+dy -dy =35
120x, +90x, +d;
x+d -d =13
X, +dy —dy =5
120x, +90x, = 1950
x-dy =d* =13
Xy +dy —dy =5

(B) -d; =1950

©

®) IRF {9

https://www.ccsustudy.com
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19. In goal programming, at optimality  19.

wh:ch 01' the f‘olluwmg condmons

mdtcatg_tnat a goal has been exactly
satisfied ?

(A) Positive deviational variable in rhe

solution mix witha negative valuc

g T e e,

(B) Bcth posnwe and _negative
dcvmtmnal vanables are in the

solubion mlﬁ_

Both positive and ncgative
deviational variables are not in the.

solution mix

(D) None of the above

’ ln simplex method of goal programming 20,

the variable t enter the solution l.mx 1S

- e ——

selected with :

(A) lighest priority row and most

_nagitwe ¢; =2 valug n it

(B) Lowest-priority row and most
positive ¢; - z; init
(C} Lowest priority row and largest

negative ¢; - 2; valueinil

" Highest priority row and most

positive ¢, ~z; valueinit

US-15106 (R) (13)

T g ¥, wEpea W i
-8 ;& cuid ¥ 5 aw -9

iR awe?

A BT d s e R F

T TONEE

®) A TEE T TS REe

mrwm3y

(C) I THHE  FTE S

wRTmFEE

D) I T ¥ I

T T % e O ° @8 =X
By g o &y 1 # Fglg &
T B, W

(A) e wEeear G- @ a9
T ¢ -z, B TANS TS
M T &

®) Feraw aefe o & @ o
T c,~z; B WS TS
W T @

(¢ M mafyww ot | & @
T ¢;~z; B B FTOTD
N T @

(D) T gD W 3§ @ @
L L PSR %w‘fﬁzﬁm
qﬁmﬁnéf
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21. In a Linear Programming Problem

(L.P.P.), the obicctive function :
wyn‘ Must be linear

(B) Must be quadrabc
(CY Must be non-lincar
(DY None of the above

22, A dcaler has Rs, 10,000 10 invest and a
Space ta store at most 60 p{cccs 11e deals
in two items A and B. le;-llternl\cosls

NS

_himRs. 500 and one item B Rs. 10{1 He

T = e S

can: sclallthe 1 fems that he buys. eaminga

proﬁlofRs 50and Rs.15 for cachitem

"AandB respectively. Formulation of this
problemn as I P.P. so that he maximizes the

profit is:
Ceex Nnj:t;ié}f:};az =10000x, +60x, with
x)+x2 50, 50x, +15x, 100,
x20.xy 20 S
(B) Max. ,Z=§!Ux, +_lle3
P REs <60,  5x+x, 210000
and x; 20.x 20
(C) Max. Z=30x +15x, with
x;+xy $60. 5Sx + x5 <100 and
x20.x,20
2 Noncof the above
23. For the inequality 4x+5y<I8, the
pomtsofmtcrsecunnm

with

2. TF TEH P A A (LPP)H
g Wi ‘
&) s 3 AR
(@) T & =T
(€) M B AT
M) I & | HF W
22 o A F 9 W 2g 10,0009,
o AT 60 TR UG B WM
% qg 9 9T A T B T ANK
AT 2 T IEE A TU1 TF FE B
F B FAY: 500 F. T 100 %.
ad ¥ g8 9wl AL El?i
m%ﬁ%ﬁﬁﬂg@‘ﬁm%rw?
% ay § afwan am o T TR
F freqr ¥
(A) ST Z = 10000x, +60x, T
x| +x; £50, 50x+15x; <100,
x,ZO,.ﬁZG
®) W2=SGI|+ISXJW
X +x, €60,  5x +x <10000
T x 20,520
(C) FHAT Z =503, +15x, TEH
X +x 560, Sx;+x, 5100
4l x, 20,x, 20
O) IR # F A 7
23, FERRA 4x+5y<I(8 & fog Nk
s

https://www.ccsustudy.com

B) (0,0),(0,6) s> (A) (0,0),(0,6)

#B) (6,0).(0.6) ®) (6.0),(0,6)

AC) (L0).(7.0) (© (1,0),(7,0)
MGL(_}.IJ D) 2,0,00,1)
US-15106 (R) (14)
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The L.P.P.
Min.
Subject to

S
Z=2x,+ %, +4x,
~2x +dx, <4
x,+2r2 +x325
*3r3£2

—
e —

converted into standard form has the

s 5

Obja.,t.me funcuon as Max.Z = C,.
then:

(A} C=[-2,-1.4.4,0,0]

8 C=[-2-1.-4,4,0,0,0]

25.

__Min.
subleg:t_ to

(C) C=[-2,-1.0,0,0,0,0]
(DY C=[2.1,4,0,0.0,0]

The feasible solution of the L.P.P.
Z=2x+3x +4x;
X+ Xy +x3=2
X=Xy +x3=2

and x), Xy, X320 is:

)Qiﬁ.) X) -4 x;-O .1'3-"'2

;CQB) = —2, 1'2 =0, X3 =4

% (C) x=0,%=0,%=0

ﬂ-’ X =.1. Xy = 0, X3 '—'_l

26.

US-15106 (R)

How many number of variables at least
must vanish for a feasiblc solution to be
a basic feasible solution for the L.PP.
Max. Z=C,

Subjectto (), .(X), =(b), and
X207

(A) m

(B) n

ﬂ n—m

(D} n-1

24,

25.

26.

(18)

LPP
I
5 o

£=2x +x,+4x,
~2x +4x, <4
Xy +2x3+x; 25

2,r|-'-3x3 <2
™ x, x,20.x, = ¥ amiyaf
& B T T I w WA
A i Z=C.% a5:
(A)
B)
(C)
(D)
LPP.

LT
S| CH

C=[-2.-1.4.4,0,0]
C=[-2.-1,-4,4.0.0,0)
C=[-2,-1.0.0,0.0, 0]
C=[2.1.4.0.0.0.9]

Z=12x+3x, +dx,
X|+x+x3=2

X| =Xy +x3=2

T x), x,, %, 20 B T91F &a 2
(A) - =0,x3=-2

(B) =-2x=0,x;=4

(C) ©=0,x=0x=0

)
LPP.
#;MFE z=C,

Wafs (d), (X)), =(&), @@
x>0, ® o v B, SEeyd
W B o A B R i
A §7 & ke ?
(A) m

B) =

(©)
(D)

X1 =4, X2

X =1k x =0, 5 =1

n—-m

n-1

https://www.ccsustudy.com
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27. L.P.R
s Z=2n+30+0

7. How many slack and surplus variables
are to be added or substracted - to-

' i v ~ 41, +303 87
convert the following L.P.P. mto CIE] 53, 4;;2 : ) g
sapdardform: 2Xy + 53X —=3Xa
standard form: ,
‘hfia.‘(. Z = 2.\'! +3I2 +5I3 4."] +311 +?J‘3 58
SUbjeCI 10 :-‘J.] "4.\?2 +3I3 57"-“"” e X, %2, % >0 ﬂ qFFﬁ 'E'Zl ﬂ m
Ixy+Sxy—dmy 22 *-:’; 3 . 5 7 &
4x, +3x; + 7388~ mlll st 7 IS
. 03207 3ii3:[I Ferl
?:')j I;‘sfa;cl(xal surplus (A) A WH A @Y
o (B) 2slack, 1 surplus ®) 9 WF T &F T \
(C) 3slack (C) = =% ~
e D) None of the above D) IR 73 ﬁg ol
28. Basic feasible solutions of the system 28. oMt
. It+2.‘.¢3=l
I] +1'If_: =1 e =4
_4 L2 3
B 0 Xjs X2, X320
>
1'!. X3 1‘3 2 % Eﬁ % :
LaE :E 4 e ai
/ (AJ II 1, 3.-2 » X3
}[:I.Ij=4,x3=0_ a_[]_d ~
l /2 1/2 5 =0,x=7/2 xy=1/2
x=0.x =7 Lo X9 & - (B) II:]’_‘(2=0,I3=1"2 3‘&‘{

B) x=Lx=0.x=1/2 and

- = ! :4
II=O!x2=0‘_x3=4 X U,I: 0,.13

(C) n=Lx;=4,x=0 and € x=Lxn=4x=0 — QﬂT
5n=0,x=H2x=7/2 :q=ﬂ.x1=]f2,x3=7f2
(D) None of the above ©) I F & A T
29. A basic feasible solution of a L.PP.is 29, LPP & @ MO T &7 &
_said to be non-degenerate h&}(@lé -Eote ST T o
Soluion if: o @, R

%{Ngnﬁ_ of these basic variables is
Ze10 (A) IR A B N YT T 8
(B) ¥ § T T IR YA &

(B) Atleast one of the basic variables
is non-zero

(C) Allthe basic variables are zero (C) W MR LI €
(D) None of the above D) IWF F | P 78
US-15106 (R) (16)
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30. The initial basic feasible solution of the
L.f’._P.
Max.

subject to

£ =3x +2x,
X=Xy <0
X +xy 23
and X, %, 20;
IS:
(A) Non-degenerate
A8 Degenerate
(C) Unbounded
(D) None of the above

31. Given

-
o 13|

the maximum possible solutions to this

\

problemare:
A) 1 2
®) 2
© 4

) 3
32. The Isocost method used in solving an

L.PP.isknownas:

e

(A) Analytical method

(B) Simplex method

W Graphical method

(D) None of the above

US-15106 (R)

30.

31.

-
]

(17)

32.

L.PP.

AMFTT 7 =3x+2x,

EEIE] Xy —xy 50
X +xy >3

aar X, x, 210

Lad

D)

@ LPP. & & $1 ¥ IR FRAHE
ey e 2

&) Rwvres i
@®) RregoTw A

(€) g A

(D) I & § 9 78

https://www.ccsustudy.com
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Using lsoprofit  linc method. 3} Glm wn My = A R
the maximum ‘aluc 01"2 =2x;+ 313, Z=2x +1x, H " a9, m
subjectto 2y =¥, S5 2x, +X £5
v - 5l x)-x S1
x, <2 x, 2

and x;. x- 20;1s: ..

A0

34.

KRR

B) 2
(©) 7

D) 14
Isoprofit lines represents : AT

Aninfinitc aumber of solutions arc
" of which give the same cost
(B) Anmnfinitenumberofoplioum solutions
(C) Aninfinite number of solutions are
of which give the same profit
(D) A boundary of feasible region
L.P.P. of how many variables can be
solved by Graphical method :
(A) Three variables

é) Two variables

(C) More than three variables

(D) Nonc of the above

\jr_'hic.h of the fcllowing combinations of
the vertices (0.0), (2,0)and (1, 1) of a

" triangle is the convex combination of the

imdiﬁl_'__poinl (.3..2)? T
(A) f&fo“,‘o)+.3 (2,00+.1(1,1)
B) 3(0,00+.5(2,00+.2(1,1)

ﬂ 75(0,0)+.05(2,0)+.2(1, 1)

US-15106 (R)

(D) None of the above

34

35.

36.

(18)

i)l .’q..rZEO: % :

*) 9
(B) 2
© 7
D) 14

Jhanifee Yant cofd 8
(A) o wem & g A o @ A

A
B) o gem q wiepe &
©) = v 4w A ol & @
drawd¥
D) T 8T o W
R o} & LPP. B R 39 210
w R o W 8 7
(A) @ T
® A
(C) @ § il T
©) 370w 7 § B W
Frer & & Brgor @ dnd Regalt (0,0),
2, 0) (1, 1) W AT-ar fg Had
My (32 @ Fmime?
(A) 6(0,0)+.3(2,00+.1(1, 1)
B) .3(0,0)+.5(2,00+.2(1, 1)
(C) .75(0,0)+.05(2,0)+.2(1, 1)
(D) IFa & & ¥ 7

https://www.ccsustudy.com
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17. The extreme peints of the set 37

{{x, )| xI€), | yIs ]} are:
(A) (1, 1), (=1,~1)
B (1, 1).(,-1)

ﬁ' (D, L =D, (L =D, (<1, 1)

(‘D) (lr l),(l,"l), (’,_l‘ I)

38. The selofallfegs_i_l?_le'solutiuns{ifnot 38.

) e;t;pty_)_eai.l’.ﬂ isa:
#—-Convcx sct .
(B) Infinite universal set \"\l '
(C) Non-convex set ‘

(D) None ofthe above

39. K S, and §, be convex sets, then which ~ 39.

— — ———
e — — -

. _of the following is not a convex set ?
ACY S, +bS;, aand b are scalars

A 8-5;

4;[). The convex hull of the set of_al_l_p_mlnts 40.

on the boundary of the circleisthe :

(A) Boundary of the circle
Whole circle

S

(C) Interior of the circle

(D) None ofthe above

UsS-15106 (R) (19)

TEd (xp)nxis) ] yisl B
orm g ¥

(A) (1,1){=1,=1)

®B) (1, 1),(1,-1)

(C) (1. 1), (-1, =13, {1, =1).{-1, 1)
(M) (1, 1), (1. =1).(=1,1) ]
LPP. 3 T T = (AR R
T8) B gt W ¥ O

(A) F T

(B) FF FaHe A=A

(©) -3 wg=

@ INF X § B T

TR 5, 3 5, 5 wyeE ¥, @ P
§ ¥ P 99 599 79 32

A) Sus,
B §nS
(©) oS, +5S,. 0 W7 oW T
D) $,-5

39 & @ 9 o R @ wge
cofecic iR o

(A) T | R

® T
(€©) 38 B fTQ 9w

O© TREE X ¥ ¥ &

https://www.ccsustudy.com
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A={x: X 22} GET cx=2

= 41.
. The sel .4:{.?::':(2:‘..\"111"": CX=2 % qﬁ@ =
is hyperplanc: 1§ an example of aset G%Eﬁﬁ;q{@” g
whichis: N - . . ‘ﬂaa m ﬁ%{gﬁ
(&) A COT_I}_E\_SE_:_E!E]‘_[ finitely many (. - v )
extreme points =
B) hr:lm altﬂ:‘onvex set ®B) @ IaR wﬂ;ﬂ ﬁﬁaﬂ
A convex set with infinitely many (C) S T .
extreme point 3 O & Iqa qgead
ithout any extreme D) M‘mmmﬁﬁ%m
(D) A convex set without any A
point
42. The minimum value of the objective ;‘Z LPP .
function in the L.P.P. Lo REEN  Z=2x+10y
Min. Z=2x+10y st x—yz0
subject to ':tl.—oyzﬂ _ Sy =5
X = 5}' 5:5 am %,y >0
o w720 % qeq W B A
s n 10 )
ﬂ} 10» o -
i D
(C) 12 , N
() 12
D) 15
D) 15
43. LPPE

43.

The solution by graphical method (a.the
L.PP.
Max. Z =3x+2xy
subjectto  x —x; <]
X +x323
and x. x, 20;1sa:
(A) Finite solulion

(B) Bounded solution

M Unbounded solution

US-15106 (R)

(D) Nonpe of 1hc above

(20)

i

p—

IRFEH  Z=3x +2x;

x-x3 %)

X +xp 23

a1 x|,122ﬁﬁmﬂh
EACURUIG I S

A) @ Rim o &

(B) T dFOd & o

©) G FA &W &

0) IR X & & T

https://www.ccsustudy.com
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Any soluuon 1-'-hh::h 'ialnl'lcs al lcasl one 44

constraint in L P P is mc]udcd in:

(A) Feasible region
*-—_.____._ e

(B)-Non-feasible region
— —— S—

45.

(® Bnundary region

—

(D) Noneofthe above

(f two extreme points X, Xp arc 45,

optimal feasible solution of a L.P.P,

—_—

thenthmr convexoornhnatmn X gms

‘ﬁ/;‘m optimal solution

46.

—
—

B) Ancn-cp;hnalsoluﬁon
(C) Anunbounded solution

(D) None of the above

A hyperplnn; is given by the equation 44,

3%, +2x; +4x; + 7x, =8. Inwhich half-

space the point (-6, 1, 7, 2) lies ?

{A] 3.\:, +212 +4I3 +7I4 < 8

ﬁ 3'(['1'21‘2 +413+?T4 )‘8

US-15106 (R)

©)

—3.\'1 + 2.‘.'3 +4,’(’3 + ?14 <8
(D)

None of the above

(21)

WHABLIL 3 WAW &
TR B TG N 8, qART I B

{A) T 39 §

®) Yr-woar &
(C) #m &3 F

) e 3 A 9 A

3t 2 e Bt x, WO

L.PP. W TP TG &9 3, &9
S Jod B v R

(A) CF e =

® w - =

(©) = FarFeg ==
D) I ] ] T T

THRAT 3x, +2x, +4x; +7x; =8 2
T RIS Rl T ¥ BT -

WH 7 &g (-6, 1.7.2) anaa £ ?
(A) 3x+2x+3x;+7x, <8
(BY 3xy+2xs4+dr,+7x,>8 ;
(©) =5x+ v, +dx; +7x; <8

D) IR F Y B

https://www.ccsustudy.com



https://www.ccsustudy.com

47. fany L.P.P. in four variables x.X3.33
and x, has restruction on variables as

x2lxyzh 2ixg2 3 instead of

non-negativity ru:tncnon Thm for the

w— i,

solution by snmple\: method these

——r

\'anablcsamchanacdto X{.X5.X3. X, as:

bl . —

X, =x =2,

"(A] I:=I:+1.

=Xy - =x b4

None of the above

(D)
48. InBig-M mcthodly stands for :

(A) Very small ncgative price
(B) Verysmall positive price
(C) Very larg2 negative price

A Very large positive price
49. ImalLPP. of two variables x, and x.

== &

il x and X3 are um'estnctcd then to

o —— -

solve this L.P.P. by s;mplcx method the

suitable transformation for x, and x,

e m—— n —

are
(A) x=xj+x; and xy=x3 + X3
' where xi, X1, x3.x7 <0
égﬁ q=x-% ad x=xh-x;
] where x;, x/. xi.x; 20
(C) x,=x—x and x,=x3-x3
where x;, x|, x3.x03 20
(D) None of the abave
US-15106 (R)

(22)

48.

49,

47. TR Fx¥s T xg # Bt LR

% i W Ry A-FRERE &

@ 3/ TR T B oy2lxnzl
x23xed, 2 fpqaew v am
ﬁﬁ%%@ﬁﬂﬂwmm

R o0 &

(A) =% _2 xy =X+,
X, =X =3.x, =x +4
=x{+2, 5=xn+l
® X =Xy +3,xg=x;+4
(C) X =x+2, xy=x,+1,
X=X +3,x, =x,+4
@) R T P T
Rr-M DR 8, Mg S B
(A) agaé\aﬁum&a%hﬂ

(B) a@@amﬁw%m

(C) T 9 FOTE T B U

©) G I T T F RO
Fat e arn HLPLAIR x a
v, sfErT % T W LpL @
fegdan A 216 29 S R x @
x, % A SRR 8
(A x=x+x T
el x], xf, vh, % <0
B) x=x-2
el Xi, Xy Xp5x5 20
(C) x,=x-=x ©;
3T x|, x]. x5,%3 S0

(D) T § q 3 T

Xy =Xy +x3
a2 Xy = Ijz —.‘C; .

Xy =1 =%

https://www.ccsustudy.com
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50. In two_phasc simplex method, the 50.

COLfrCII::ﬂlb '1551gncd o _artificial

. ———— e

vnnables in the objective ﬁmcuon are :

A -

B) 1

) 0

(D) None ofthe abave

51.

51. If in simplex table all 4; 50 (where

&;=c;—2;), the solution under test.

15:

—— ——

(A) Unbounded solution

(B) Non-optical solution

ﬁ- Optimal solution

{D) Noneolthe above
\JL.PP.

e

»n-variables in # —constraints, the basis

— e — i — ——

matrix B isa non-singular sub-matrix

. el —

—————— . —

i

sclected from 4 by taking

(A)
(B)

Any m—column vectors

m—column vectors which are

linearly independent

m-column vectors which are

(C)

lincarly dependent

None of the above

(D)

US-15106 (R) (23)

4, =bXz0 of 52.

A &9 Rrve iy &, o waw A
FEm =l # e gea B s R

(A) ~I
B) 1
€ 0

O = & A B

Reged it & 3R et a4 <0
(8 A, =c,-z;), 7@ T 3 F=wa
e A

(A) FEFET &
B) IR-walee &

(€ TahFe @
D) ST A I MW ¥

S,
-,

n-gd T m-WiEw N LPP
Ac =5 X20 T MR FGE B &

AM-RiEx S-aRgg 2 A% A4 ¥
w2

(A) 33 | m—mméﬁ'{

®) m-TW I A A Red
W &

() m~Tq I AW S W
iy 2

D) IR ¥ A B T
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53 G LPP. Ay =h.X 20 % AL

31, The hasic feasible solution Vg of a

LPP A4 =b. X 20isgivenby:
/ Xp = B~'h. where g isany basis
‘A * 'l 4
matrix

(B) X,-Bh

QY Xgp=B4
(DY None of the above

34. The fundamental theorem of linear

programming assurcs that at least one

basic feasible solution to be optimal, if
L.PP.has _ _

——

—

(A) ‘.i infeasible solution
(B) A feasible solution
@) An optimal solution
& Anopiimal feasible solution

S5 (21, 3) is a feasible solution of the set
-1, 2} 15 a2 1eas N Of the s¢

e e

of equations _

4I| + 2)::: —;.\'; =]
6x, +4x. —3x; =1
JThe basic feasible solution reduced by

1 -

B) (0.1.1)

'.’Cj (0.1, Q;

ﬁj SRORT

US-15106 (R)

55.

(24)

W o R 9 S
A Xy=B"s B T A

S & |
B Xp=8b W
(C) Xp=B4 ¥
©) I § T B
mmg\aqﬂqgﬁfﬁﬂm%
6 9 @ TR UF ARG T &
witgre &, 4} L.PP. TE 3 -

(A) U STEA B
(B) UF T &
(C) TF WaPE &

D) T TG e &
FHIET W8

4x;+2x9 =353 =1

6.1'| +4X2 ~Sr, =

T & (2, 1,3) & 39 g
&1 ¥ ST S T 5 8

(A) (L, 1,0)
B) 1,1
(C) (0,1,0)

M) (1,0,1)

https://www.ccsustudy.com
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56. 110, 0. 1) b a feasible solution of 56, R (1.0, 1) LPP
_LPP: (N

1 \ g Z=2xy +3x; + 4x,

Min. Z = 2x) 4 3x) + 4xy
T m :I+Xz*x3=2
subjectto X +xp+xy=2 Ny =Xyt xy =0
— | .(I———I_z'l:l:];f-ﬂl EF-’-H .r,. Xz,x3 :_"0
and x|, Xp,x3 20,
I T T 39 R, 44 B o g
then given feasible solution s a : [ RS
(A)_Bounded basic solution (&) e T 7 3
i Non-basic solution. ® I-amam = 2
(C) _Basic solution © A = 2
(D) None ofthe above D) IT[ ¥ ¥ 5 =&
@ If for any BFS,X3=B"b to A¢=b 357 T Ay =b 3 R SHNRYd ¥
tfnitlff?im‘emlmnna in_4 butnot in W% fom 4 ﬁ?ﬁli‘ﬁf*ﬂ a A
_basic_8 for which ¢,~- >0 and e 3 ¥ T8 % Pred R
_-2{9_5_(_):}'_:113, ~--m , then {fOb]LCUVc >0 T oy <0u=L2 . m
_fanction s to be maximized, the problem i !rﬁ: T T R IS T %. @
has: 0 TR T
(A) Anunbounded solution (A) & JEHET
(B) A bounded solution B & e &
(C) Aoptimal solution () % FEhp= B
(1)) None of the above (D) JF & § A A
US-15106 (R) (25)
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s8. If there exists an optimal BI.S woa
L.P.P. and for some @, in A butnot in
B. ¢,~z,=0 and »,6£0 for all
i =1.2......m. then an alternate optimal
solution 1o this problem will exist which

willbea:
(A) Basicsolution
(B) Non-basic solution
(C) Basic untounded solution
(D) None of the above
59. The best solution of the L.P.P.

Ma.k'. Z = 51] + 33’2
subjectto X+ 27
Sx+2x; =10_~

3I|+81'2512/

and X, 120

(A) Max.Z=6,x,=0,x,=2

ﬁ Max.7 =10. x, =2, x. =0

(C) MaxZ=8 x,=1x,=1

(D) Max.Z=9. x,=3/2,x,=1/2

58.

59.

US-15106 (R) (28)

o Rl LPP. & HEge Fad
e e e ¥ & 7 B @

SR AR 4 A% B AT, ;-7 =0
My, $0 TR i=)2m T i
*q G T @ e Fape '
A e T

(A) STUTTIT &9 e

() IR-SERgd & am

") %Wﬂiﬁﬂﬁ'ﬁrm

D) T X B

LPP

AT Z =5x +3x;

GCiE x+x,82
3]:I+BX2 <12

T xp, %20

H I B & €

(A) AN.Z=6,x5=0,x,=2
B) af.z=10,x=2,x=0
(C) #M.z=8x=1x, =t

D) #f.z=9,x=3/2x,=1/2
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Bysimplexmcthodfnrtheinverscoflhc 4 3
S 60. Rrgdew Rz EIC [ m‘l
R

. [4 3
matnx|:3 2] ﬁJeLPPfonnedmllln

Max. Z = 0x, +0x,
sbiestto
(A) x+3x;=4
3 +2%;, =6 and x,, x; 20
(B) —4x-3x,=4
=3x)-2x, =6 and x,, X; 20
}) —2x+3x, =4
3% -4x, =6 and x;, x, 20
(D) None of the above
61. In which type of L.P.P. artificial

xarlables are used to make basis ma.tnx

as 1dent1ty matrix inthe stamng simplex

lable ?

(A) L.PP. with any typc of constraints
(B) L P.P. with constraints > or -_:,SIgn

(L) I PP. with constraints < sign

}9 L P.P. with constraints > and =
sign after assuring that i'il b 2 D“
62. In Blg—M method the 1€ price assigr ak'.stgned to

_each artificial vanab]c in the ob_]ecnvc
_ﬁqﬂ_mgoﬁLPP g
(A) a2
(B) aM. a isscalar
€ M
D) -, where M islarge positive
value

US-15106 (R)

Hﬁ@qwmﬁm%m

LPP. 8 :

HeHTs Z =0x; +0x,

9% ¢

(A) 4% +3x, = 4
35 +2x, =6 G?R'x,,xzzll

(B) —dx~3x,=4

=6 A x, 1,20
€) -2x,+3x,=4

3 ~-4x, =6 gﬁ'{x...rgzﬂ

O) IR & F B 48

61. [ o B LPP ¥ 3BW =0 7
T BN ¢ S RPN . RpgeEy
&qd § AR g, R e
& g ?
(&) R & v 3 gt & LPp,
B) > T < S W IR A LPP
(C) < To& ol wftm=ar 3 1LpP. -
©) T Mg T3 S I8 & ol

520 %, » o - e T
gicael & LPP,

-.3xl —

.62 WM W A, 7 v F Fhm 9@

& qwg Freifta Rew s 2 -

(A) a2

®B) aM, a T ARAE

© M

D) -M, FFT M T T NHF
T &

(27)
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F--—'"

A<\

B X3
L

The starting B.E.S 10 the solution of the
following L P.P. by Big-M method.

Min. Z=2x,+3x;

e

A * X :S
- -

subrect o
= . *__“.\l_* :J‘: ? b
and .. 2. 20

s

(A} x, = 1o =0, surplus variables x,=x,=-1

64

65,

artificial variables x, =5.x, =6

x =S x =60 =X, =X, =X, =0

Xy =Xxy=x; = =0x, =800 =0

None of the above

In two phase method. the role of phase

T1is; .
To eliminate artificial variables

(B) To optimize the objective function

(C) Tomake b <0

(D) None of the above

The solunon of the following L.P.P. in
2 10 '
phase-] is x.=l;l-. x,=— and all

3 13

4 =0 Thc\:plut-ofz i phase-2 will
be
Mir.

subject 1o

4=
5

A
Z = x +x3 —_
'3
2I|"‘I: 24
el 27

3\
t™

anc X%, 20,

i ‘e .y
] . 1.1

X RI1E]

.

] B3 B

US-15106 (R)

iCy 4

(D) Nooe of the sbove

63.

(A)

)
(€

)
64.

65.

(28)

-\ O g B LPP. R K|

s ey Fee 6 8

T 2=2043%
x|-|~7_l’226

] K. Xy 2

}:

x =x;=0, AT & xy=xg =~

B W 1, =55, =6

x =5-IZ .;(Lx;_-:x‘sxq =,l:‘,2 =0

x) = ¥y =X3 = X4 = 0. % =500
Iy & & ;g
AR AT I FadAwE:
A) A ol A RgT FT

®) W& B g T
() b, <0 T '

@)y 90w & & B

R LPP. & B ¥ &

21 10 f
:_ " e— a‘_-_o
SR TORC T =0k

-2 8 Z WA W :

g
CE

Z=x+Xx)
25, +x,24
n+7x27
aan

(A) 11713
(B) 3113
(C) 0
M I0F & 3 T

X1: X2 20.
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By using two phasc method. the [L.PP 66 2 Bx AP = 1am 73 77 PP

Max. Z2=3x -1, m 73, -,

+ i PENINTS R T"ﬂ 3 2

subject to +xy 22 T LT ‘m Ty +rea

X +3x,82 [-2 £, +31, 72

x, 54 o, 7 .24

and x.x 20 \E) e .1y 20
has starting B.F.S. as - w FriaE ey wua W W

T ¥

efez2) .2t ST =
(A) f=xs=lt;=22,=x4=x, =0

(A) =x=2xn=sxy=x5=x,=0

(B) x=x,=x,=0.x =0.x,=2.x,=4

S e - (B) x=x=x=0x ~0Nx=2x=4
C) x=xy=xy=0,x, =2 x;=2 x;=4
( ) __l “2 .. 3 ] 4 $ "C} x,=x:::J=0.xa-lI‘=Lx§=4

(D) None of the above D) 9 & 7 =Y
§7. LPP 67. LPP
Max.  Z=6x-2x G Z=6x, - 2x;
. 2x,-x,82 :
subjectto. <1772 . -
% <4 Faf Iy~ S .
and X%y 20 % <4
isan example of L.P.P. having : ol %, %, 20
(A) No optimal solution w5 OF LPP & FN¥™ t A
(B) Bounded feasible region W IR W W ewd
bounded feasible region but ®) e hi:::t -
- Dounded oprpual solution - e s W T
(D) None of the above O e R ot
incoming vector has all negative cntncs, R iy e @ T RRE TS
") Unbounded ol (\) P
(B) Bounded (B) wFaa
(C) Optimal N W
(D) Nonc of the above D) i & R} a‘ 7@
US-15106 (R) (29)
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Ifth¢ L.PP.
WMax,

69.
Z = 6x) + 433
subjectta 2 +3x, £30
Iy, +2x, £24
Y, +x, 23
and ¥.x 20
has _two optimal salution (8, 0) and
(1275, 4275), then third optimal solution ,
s
¥A) x=0x,=8

ﬂ 1‘| =56r'5‘1‘2 =?1;5

(C) x=42i5.xy=)2/5

(D) Noneofthe above

70. / For the solution of simultaneous linear

equations

Xy Xy, 44X, =3

2x,—x, =3
3%, -2x,-x, =1
x,.x,,%.%x, 20

"By _simplex method, the objective

Max.Z = Ox, +0x, +0x, + 0x,

-X, =X, =X

& ) @

x, ., %, * artficial

(A
where
variables
Max. Z =x, + X, + X, +x,

-X, ~X, =X,
Max.Z = 0x, +0x, +0Ox; 4+ 0x,

+ Ivl + ]'U? + I,I

(B)
o’

(C)

D; Noneof the above

US-15106 (R)

(30)

9. X LEPP
mq Z:()II +4Iz
31t+21'2 <24
X + X3y 23
ol Xty *2 20
23 W & (3,0) T (12/5,42(5)
3 g el g @ ¥

(A) x=0.x, =8
B) xlr-26f5,x2=2”5
(C) x=42/5X =12/5

70.

(A) Max.Z=0x+ 0x, +0x, + 0x,

-I‘l - I"’i - x"'l.

W& X, %, %, PO W g

Max. Z =x, + X, + X, + X,

B x”: - x"t - xlh

®)

(C) Max.Z =0x, +0x, +0x, +0x,
+ J.'ul + xnl' + X,

®) w7 & P T
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71. In standard form-1 of revised simplex 71

method, variables that are not needed -
#9 Aificial variables
(B) Slack variables

(C) Surplus variables

(D) None of the above

An additional constraint, for the revised 7
simplex method form-Ito the L.P.P '

- ———r e

Max. Z:..'q +2Iz

subjectto X +x; <3
X +1:2 £S5
I +x, 56

and x;,x, >0 will be:
(A) x+2x,=0
B) Z-5x -4x; <14

{’ Z-x~2x,=0,2 s unrestricted

I SIgn

,ﬂ')/] None of the above

73. .ThisL.PP. _ 73.
Max. Z=CX
subjccito‘Ax=b,X§9_ .
_becomes, by revised simplex method
_form-Jas: 2 (x
@w N cfz] [0~ =©

0 A4||x]7[s)] Bx=8b
ﬁ"ii"—ﬂ 2] [0]
0 4]X] |b]
©) [1 -c][z] [o]
[0 —-A|LX] |b]

(D) None of the above

US-15106 {R) (31)

dfe e 0 @ =9-1 F,
Rt araermar A8 B9, 2 E
(A) PBM T

B) e ot

(C) g a7

o) AT & & B 8

aafe e IR s 13 R LEP
I Z=x 2%

el

x+x; S3

X +2x% 55

35 4+x, 56

e xp.x; 20 H T Sl
afvFT o -

(A) x+2x;=0

B) Z-5-4x;514

€ Z-x-21,=0, z & #
wRRPE

©) 90w & § o &
% L.PP.
JEH  Z2=C,

https://www.ccsustudy.com



f "
If B is basis matrix for 4y =& then B,
lhft basts matrix for rcvisec_l_ s_i‘rp_;ll:_ﬂ

method form-1 will bf__
(A) [1 -Cp]

0 B'

-

¢

(B) [l C s]. 1. is identity matrix of
o,

Lild

order m

o[y

(D) None of the above

75. Thc additional constraints for the L.P.P.

Min.

-

Z=Il +2J.'2

subjectto  2x;+5xy, 26
X +x322
and x;.x3 20

o so)ve by simplex method (revised)

are .

(A) ZJ+.1'|+21'2=Oaﬂdz‘3=_x!a—xza)
where 7' = .7 and Z, is artificial

objective function

ﬂf_ Z'-x-2xy=0and Z, - x;, = X5, =0

https://www.ccsustudy.com

@) 1 Cp J -
0 1,

arzefed oTeE ¥

| Cp
@ [, 3

o v § § A T

75. LPP
FRE Z=x+2%
T 2y, +525 26
x,+x222
e Il,.fzao
A Rrgeeg Hft (d9fvE) & '@ s
3 R affe i €

(A) Z'+x 425 =0T Z, = =%, =Xy,
W 7 --z TN Z, PAA T G
¢

(B] z’-J]"'ZIz =DH'E'5ITZ“-IM—I2(,=U

f(.] ZI+II+2I2=03ﬂdZa—x1d—xb =U (C) Z'+x|+2.tg=ﬂmzn —x,a-—xh:(l
(D) None of the above (D) I A A
US-15106 (R) (32)
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76. Inrevised simplex methog form-11, the
basis matrix 2, is givep by :

10 -Cy
32= 0 -l ""Cna '
g 0....:. B‘ i

The inverse of this B, is obtained by -
10 C,8"

@ o1 ¢, 3
00 B

where8™ = {m

1o ¢,
B (01 ¢,,.8
00 B

(10 (B
© lo1 ¢, B
00 B

10

L~
¢l

00

Cp.B7.

CoBLY
B-I

77. In revised simplex method-1I, two-  77.

phase methoi_ as applied. [n phase-1

e ——

Zetibcial objective function Z, ismade:
(A) <0
B) >0

B =0

(D) None ofthe above

US-15106 (R) (33)

76. wfa Rrude O wo-11 % e

FAGe B, &wu B s 2 -

10 -Cg
Bz= 01 "'C&, .
00 B ‘

W 8, W AR sra B S &

(10 ¢,.5"
(&) |01 C,.B |av,v@afs 8=,
00 B

(10 Cp.8~
B) {01 Cp.B
00 B

AL

(10 Cy.B
©) |01 Cp B &T
00 B

10 CpB!
™ jo1
00

w9 Reiew R0 A-3w o
s & ot ¥ s 39§ $hm T
e Z, RN T & ¢

(A) <0

B) >0

(© =0

®) IRF R} B T
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The problem of cycling that occurs il
simplex method is due to:

(A) Non-degencracy

ﬁ Degencracy

() Infeasiilin
(M None of the above
If in simplex method. the outyoing

o . e e ¥ P

then 1o resolve this. degeneracy, the

method used is:
{A) Dantzzg method

(BY Modi method

/ Coroner ‘s perturbation method

(D} None of the above

m'he LPP.

/

w7 Max,

0+2x;=0

subject to
) - xy+x;=1

d-nd Il.IE,X; 20

15 an example of L.P.P. which has :

US-15106 (R)

(A) Optimal degenerate solution
(B) Non-optimal degenerate solution
(C; Non-degenerate optimal solution

(D; Noneofthe above

78.

79.

30.

(34)

a8

A RS 3 FO
(B) A F T
() ST B B
) I F ¥ B T

af Rroae Of # B AR T
St I ol T8 @ @@
HRd B 5 w4 3 e g
My d:

) ueler A

® a4 A

(©) BR T

D) I A | B @
L.PP.

JAE Z =20 + 3% +10xy

x+2x3=0

xz +1’3 = l
E‘E" I',IE,IS 2 0

oF QY LPP. # JF & S @
2

(A) T TN &I
B) R-wagR AT W
© ﬁf*ﬁﬁﬁfﬂﬂﬁfiﬁ-
O) I ¥ § B E

https://www.ccsustudy.com
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8. Thefollowing|, P.P. with degencer
acy

_Max. =24 3x + 10y,

subject to f1=2xy =) { l
i

VO

'r] +3t'-; :]

and X1 X3,0, 2 ()

hasasolution (2, 9, 1) Which is :

——

(A) Degencrate

#7

(€

? None of the above
82. InaLPP of degeneracy, if B=7

PR Behiad 5 o) i

mcoming vector and mmlmuun ratio

Hon-dcgeneratc optimal

Non-optimal

occurs for j = 2 and] then, byCoroner 's

melhod the outgomg vector will be :
(AY N

B) ¥

€ y

(D) Nouc of the above

83. Sensitivity analysis deals with changes in
the optimal solution due to discrete

————
—
—

_vaniations in parameters which are :

(A) ¢

(C) Qs

ﬁall of the above

US-15106 (R)

S

-7 |

|
!

82.

33.

(35)

It T e e,

WIS 7 = 20,4 3x, +10x,

W 5 2 -0
X+, =

T K. Xy 2 1)

UF & (2.0.1; 2 AfF :

(A) Ttz 2

(B) ?IT-iT‘-r-r-'?FﬂF?vé

(C) I-rdtegpe 3

M) I & F 7 75

S g Lea Bk g -

Br=0.Bs=% T 5 =147

HET A T IRT 2 TN AN

WA =2 T3 ¥ w3 W

o iR

(A)

(B)

© »n

(D) 9% § § 7 7@

i Ry, safee @ 8

R & 9T FE 2 oEe §
R 3 T, A

(A) ¢
(B) &

|
d

|..l"|

(C) a.
O) I9VFT |
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84, What change A 1n (8 permitted
N without changing optimal solutionto the
Lep

Max 7 = 3z + 51,

cubjectto A+ €1

oy, +3x. 8}

and x.x; 20

~ )
"
=]

(A' A

o
LA
tal —

Ry AG

(Ch AG <€

|,J|._.

(D) AG<!
8¢ The range of AC,, so that the solution

to the L.P.P. Max. Z=C, subject lo
4, = b X 20 remains optimal, is given
b :

(C,-2,)

C,-Z,,
ray M) ———t 1 2 AC g <Max. 1
A ,
Tty My . el Ye )

r

where (g, is price corresponding o
basic vanable X
-2,

. _ C. -2,

Man, —/— sacﬂsuiu(’ i |

f:'uf( y@ y J
-z,

yyso\ Yk
(C) 8Cy, = Min
LT "

(M) Noane of the above

84

85.

(A)

(B)

(C)

(D)

US-15106 (R) (36)

1.PP.
o A =3x 43K
Wy n+x s

ZII "33’2 51

aa 1]..1'320
¥ ¢ 7 WEdA AG 3 ¢
aﬁ‘i@iﬁﬂqﬁﬂﬂ?ﬁﬁ?

(A) AG=10

I

(€) AGS-;—

(D) AG<l
AC,, ¥ ST @i LP.P. Max. Z=Cy
s 4, =bX20 W& Wit

T @, R o ¥ ¢

-

‘c. ~Z. C.-Z.
Min < z’lsACmgMax.[ ’v _ ’]
o\ Yk ) o\ 7K

T8 Cg,, FERYT T X5, & T

I &

- C.-Z
Max[-——-"—rj Z JSACMSMin[ 4 j]
Yyz0 Yy Yo\ Yk

C.-Z.

ﬁf.'m' =Min_[ z s
yy<o\ Vi

IRF & } &g 98
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The L..P.P.

Max. A=
: X| +2-r2 —_r.,

subjectto  x;+yx, -x 510

~ X, 4-4;2 tx;26
fr+5 <4

and -l';.x;..l'j 20

has . .
an qptimal _SDIFEDH (0, 4, 0)

—

with Xp=[6.4.10]  ang
' b0
B =680 0 1]
0 -1 4

then the variation in b, consistent with

e

the optimal feasible solutionis:
3

(A) —55&5 <6
3

(B) —*2-5 Ab 56

(C) %—SM]SIS

E.<:.a.b,sm

® 3

(37)

Ré,

.PP
m /,' = - 4-2,[_, - Ty
S Yoy +u,-x, 200

~xy+4y. + 1, 26

I‘Z"t? S“

T 57,520 F wg= wm

0.4,00 b IR 1, =16 3, 10] T

oo -t
B-'=f,81.ﬁz,ﬁ.’)*::0 0 ] , I
_0 -1 4

L

WP WG W 3 FTW 4 W

T ¥ :
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o ST A 0 g ¥
(35 e ST B W T T

\fl«' Vanstion in the clement ay o the
Y

coefhicient matny 4w hich 15 nol an

clement of the optimal hasis £ 1 without %] LPP ®A 'ﬂm 7t o

aftecting optimalen and feasihlity of the it Rea fa R ST 2
LPP wgivenn . ]
j : A Ag |
| \ | . . l )| —22— s da| — .iaa
/ns' b ,‘ . S |:r3,ﬁ,; >0 [J_gfarﬂ:z]wj
:1( Bfy 10 (31*14 | Dl -
T B, ] . X gi -
fxp, g 1 (B}M“[pf <0 sAa,-lSMm.[Pf}U}m,qa
{BRi Mﬂ: _f‘ g Aoy < Mm > ,“ f N
| Bt 124
. J P =P xp -ﬁp_.xg,
“’hcr{' PI ) ﬂr-’xb_r -ﬁp."th.
] _ in. {P
() Mini Py < A, <Max.(P) €) Min(F)s b, M5 &
' (D} None of the above D) IQw F ﬂ'% T8
’ 88, A meximization 1. PP llfuunanah]cq BS. & &R ¥l X)X, X3, Xy # T
_ YeXoxyyg has optimal  solution LEP. ﬂﬁﬁwﬁ (0,%,4,0) 3 R
jU_:i 4. 0). lf a new variable x¢ is & T x; T 7 %oy TAL.PP.
__Et_f_oéfmdmlluaLP.P W"hprioc?;nd ~ ¥ wftafra F forar amar 2 aqgy
_i_g-f.’,:l Thcn_ new solution (s-Z5=2 @ Tq W ﬁl"ﬂ?ﬂl %,
“dcﬂruycs the ; LEP # :
Ay Boundedness of | PP, (A) Feaa
By Aeasitnioy of Lpp B) vy )

/'rplmm!lu of L1 p iCy qufQ'e" ﬁ
My Now S the g e
Ghin th) mﬁmﬂﬁ.ﬁgm

US-15106 (R) 38)
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§9.) The L.PP.

. Max. Z=3x 41y, ) ;;;__'
subject to 2.t|+.r: % 40 | e
n+x, €14 i :
2r|+_‘4_r:5ﬁn ~' - -
. -3y fob 2
and X% 20 T ,
hnsanopt:mal soluuoullﬁ 8). [f the -] ﬂ'«'ﬂﬁv = HI LI

addmonal constraint 2y,

) SN =x825 18 Hﬁﬁ’ﬁiﬁ!ﬂ::-:.- S, TM I PP
ald""=‘:““"“SU’Ptl'ncno-mnm value P e R oM om / w

_of Z willbe: e

(A) Increased (A) W% T

#B) Decreased (B) ¥ W

(C) Same (O @ ¥ 8w

\ (D) None of the above (D) Joiae 3 X o ol
(}i IFL.PP. % T LPP

Max. Zy=Cy.CeR” WS 7 0 ek

subject to Ay Sb beR” BE by $H. 528"
and X 20, 4 is (mxn) real matrix W y20, 4 T w<n TERD
then dual LP.P. of this problem is - WHE ¥} MO v oW ¥ e

f Min. Zy, = 5'W W ¢ R” .

subjectto 4£# (" W >
i ' -"_ . L" a.l d-nd .fi r 0 L‘\. \hl! :.. = A H:} = .‘?.ﬂ m
A 8" and (" are the ransposes of
(20 ™ ow>p €6 7
{" A s B 3 i * m %
(B Min Z, =6 W=R" W%
(2" W w0
Y Min 2, =0'W 0 e R Al

W 20 ™ B
O JetER A F g a8

A, b and (" respectively
B) MinZ, =60 WeR"
subjectte W >¢” and Ik >0
(€Y Min 2, =s'W W eR"

subjectto 4B > and i >0

(D) Nowe of the above

US-15106 (R) (39)
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4 7)9 Dual simplex method is applied to solve 9N, AR N 9 B

" L.PP.thatstarts with : T ¥ TP
{A) Feasible solution only

(B) Infeasible solution only

(C) _Infeasible and optimal solution (C) A o W & zm
\ 487 Both feasible and optimal solution @) A T d A< & 3 T
" 92.] If the dual of the L.P.P. has infeasible gy yf Rt L.PP. & 2d BY AT &

- ety Ay s =

/_sclution but_these exists at least one 7@ &, SR o whEr &1 A&

"

- feasible solution to the primal, then the e & wd %, e o e 2

value of the objective function to the ‘
_ value o unction t F A 8 ;
pnmal is: a:ll il
AT Zera @) Tﬂﬁﬁﬂ
(B) Finite ®) o
(C) Non-finite () ;
.| (D) Nonc of'the above (D) A # il
793, Thedual of LPP. _ 93. LPP. )
\_/ _Min. Z=10x, +20x, Min. Z =10x +20x;
subject to__3x, +2x, 218 Eﬁﬁ‘- 3x+2x, 218
l'|+34\.'2 =28 '5 l ‘?_)r\f Il+327228
2x-x3%6 9 2 -\ L‘l‘ 25 —-x, <0
and xy, X3 20; LT Xy a,20
is: HATETE:
%wazo =18y +8y2 - 6y; (A) Max.Zp =18y, +8y, ~6y;
subjectto 3y, + y, - 2); <10, TAE 3y, + 3, - 2y3 <100

20 +3y + 33 2200 yy,94,0520 2943y, +y3 220, 3,5, y;ﬁ?.pﬂ

Max.Z, =18y - ; )
O 2 2l b vy, (B) Max.Z, =18y, +8y, +6y,
subject to 3, + yy =2y, <10,
” v o

2 Gﬁﬁi 3)’| + ¥, —2}’3 < 10,
N +3ya+y3 220, F:)2:5320 2y +3y, +¥3220, y,15,:20
) Min.Zy =18y, +8y, -6y IR
\fc . p =18y 48y, <6y, (€) Min.Z, =18y + 8y -6y,
subject to 34‘.’| + ) —2_!"3 s10. m 3}, F i Iou
" N 1’ yl - yj s »
LY +3Vy =y <20
AR E 26 +3y, + 3 <20

D} I & F R

None of the above
US-15106 (R) (40)
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(‘g.d. The dual of the LPp

' 7 _ I}d‘
) Max. Z --2:;-I ,,3:(2 +x, Lpp
subjectlo 4y, Figex g Max. 7 =2y x4 33 + x4
= B
x,+2x: +5x, =4 - A 4,430, +x, =6
and i Y. X, 20 o 21} T3 =
is: . m XI.Iz..T;zO
/ Mln Zp= 6y| 4y, . subject 1o ¥ & Fﬁ g :,
7 4};‘ +y‘ >0 ; {A.’ Min. Z” ='-6y| +4}'2 m
v ;o 455 o ¢ "'2}': 20, 443,20 3y, + 2y, 20,
ATVz20and 59 +5y, 20 T
®) Min. 7 Ni+dp e Nya 20,
T; D=6y +4y,, subjeci 10 (B) Min. Z,=6y+4y, A%
+
NAN2Lly+2y,23 I +y9 223y +2y,23
N2l and oy an W +Sy, 21 TGNy, y, W e
unrestricted in sign st &

(€) E_"fi_ zZp =(:y, +4y, subjectto | (C) Min.  Zp=6y+dy, al®
4y|+}"2 32.3y1+2y2 23 , 4}"14‘}’2 22,3}‘]4-2)’223 )
yitSy,21and y,p, 20 Y +35yy 21 U ),y 20

(D) None of the above @) e ¥ F B I8

95._ The dual of the L. PP 95. LPP.
.Mlﬂ _.{Z‘th*h_ T Z=3x+x,
bubjtct to 2.x| +3:2 2 2 ﬂ?ﬁ 2 +3x,22
T ._:__14+;£2>] : X +xy 21
and - .xi" xzaﬂ N .rl 1’2 20
willbe: $ 30-99 W &7 8
/(A) l"hcsame L.P.P. with | inequalities (A) qfeEdt ¥ Radq (-qﬁ <) &
N rc\_rcrecd ie. 511noonstmnls
ol # st & a7 LPP.

(B) The same LPP “with no
resmcno:?&E 1 on varisbles ®) o0 W yiEee Wea @@ Lpp

(C) The same L P.P. with different © o T S 3 A Lep
“objestive function_
(D] The same LP:P givcn (D) G‘Iﬂﬁ ﬁ ﬂ' ﬂg T-[ﬂ
US-15106 (R) (41)
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96. If A" is any feasible solution to the
primal problem Max. Zp =Cy subject
10 .4y <A X 20 and if” is any feasidle
solution to the dual problem Min.
Zpn=h'R subjectto AW 2C' W 20,
then :
A Zp>2Z,
B Z,=z,
Y Zp22,

o 2,57,

97. lf the optimal solution of a dual

_ maximizationproblem:
Max.

-

Zpn=w +2w,

subjectto W +2wy <3
wy +.3'W2 <1

and Wy, wy 20

1S wy=Lw,=0, then the optimal

-—
—

ﬁluﬁonm the primal will be (Given that

3, + |
%

Q3=O,A!=—It:

—— .

P EE T
{B) I[ =sz =:9 t ‘-'O
© x=21=0 4
(D) ;rl=0.r2=2

38. The infeasible solution obtained by
) __addition of the Gomcxy‘§ ;:;sua-inao
optimal simplex table, is made feasible
kopumal by using : o
(A) Simplex method
(B) - Dual simplex method
") Revised simplex method
(D) None of the above

US-15106 (R)

o TR X, T T Max. Zp =Cy R
4o <hX20 W B T EY

o , 30 T Min. Zp=bp
s AW2C W20 Wﬁm

SR AR

(A) Zp>Zp
®B) Zp=Zp
©) ZpzZp
@ Zp<2p
97. % & ARHH T
ANHH  Zp =wy +2W
S wy + 2wy S3
< wy +3wg <1
T o w, w20
3 oige W owm=lw =0 ¥ T
g1 T wp o (R
83=0,84=-1) :
(A) x=0x =1
B) x=Lx=0
€ x=2%=0
D) x=0x=2

98. Wi Rrded Tl & MY Ay

(42)
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t .
for ¢ quation
r hcsolunon of [ pp I8 (Given :d » LPp. 3 =3 ﬁlq g P,
= HT at
7o = Positive fractiona| part of e s oo } Rats ;
Xm. ‘f;f =p03iti\r 0 Bi = Xg,
¢ fr £} !]m :
- aCtional pant of Rr=rig w, £, Y T
-’ X, = ﬂﬂl?-qq; ft{qm
. U, nﬂn"ﬂega[ipc Slack I ar
viriable flnlcaer]] Xe, =’l‘r-mmq; i =7 (qur :)
A (A) -
(B) , (B) .
"an;x,a*'xg.:f ’Z,f-",‘x = fs
— rx _ hal
ﬂ J;l)‘; ,+,\'c'1 _-...f [CJ. J;l;: ~X,. ___Jfg
D) Noncoftheabo‘,e D) I § 3 B¢ T
100. Thel.pp 100. LPP.
Max. Z=x +4x, iy Z=x +dx,
Subjectto 2x; +4x; < 7 TEE 20+ 4x, <7
3%+ 3xy €15 Sz, +2x, €15
nd x) xy 20 undboth integers hag T oy 20 T3 JF TNE, &
_ OPIIM?I :-sf:_lut—iuq .'tl_z-%,xz =], ;FE_ qﬂﬁq ™ oxs= :*1 >l = ? 3,
) 3 1 ra - . - : 2
T&k A== — - . Y T k|- - = = s
M8 M == 2= xp,. [whichisin TESeicser FE AR AW

-2)), the TR0.0.120.- ¥ A
'\ilr_mn_t ¢quation R oRew wEmT am -

th_e third row 0,0,172, 0 -
sccond Gomory:s €O

willbe: 7
7 ey
4 1\ (A |2 . - - __ i —&ﬁ
/’_{A) | —EJ 3+xcz = -"5:2313{* I\ : 3 x = -
varable - iﬂ] 3
(B} *:;-.t -l-t(n .
(B) -}‘Il'l-.l'(;l :-i - 4
2 4 © -l—\' +*X —-l-
(C) —%xl-l-sz:% 2! L)
D) I A } At &

(D) None of the above
US-15106 (R) (43)
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1. IfS, = (_13"(1+ ;] then (im S,, is T '5n=(_1}n[1+%} Ims, &
€wn ! (A) 1
(8) -1 (B) -1
(C) 0 (C) 0
(D) 2 (D) 2
2. Ifttegral Jix""‘.I?g_x d:f is 2. A ]: X" logx dx #
(A) Proper Integral, when X > 1 (A) "W TIEEE, S/ x > 1

(B) Proper Integral when x < 1 (B) 3R TR, I x < 1

(C) IRFT T, F&n > 1
(D) Fd B, A n < 1

(C) Proper Integral whenn > 1

(D) Proper Integral whenn < 1

= 'sinx S\ SNl @ sink
3 I 372 dx is 3l 'j_% 3. L xa‘,z dx a
o2
(A) Convergent .-;-.h %J (A) FRER
' A
. (B) Divergent (B) AR}
(C) Proper O . (C) R
i) Aways divergent (D) FH FR
4. Let f: RoR is a monotone func- 4. Tfe f : RHR 0P THET B &,
tion, then %‘;
Gl
(A) fis continuous o
(B) fhas ﬁrrlgaaomt of discontinu- (A) Faa @)
! Wi i &
(C} f has countable point of dis- (B) f I
continuity . | :
Y (C) F& MO 3T &)
(D) fhas uncountable many point
of discontinuity (D) & HOFIT JEAA &
US-15105\R 3] P.T.0,
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5. IfSisafinite set them
i
(A) S has at least one limit point

(B) S has more than one limit
point
(C) S has only one limit point
) S has no limit point

@. Hadamard's formula for radius of

convergence |s

(A) R =limSup|g, |
-1 _n 1/n

() R =lim(a,)

() R’ =limInf|a, |

D) BT =lima, [

’.I‘ sin mx
0 c? + x2

LA) Convergent

dx Is

(B) Divergent
(C) Absolutely convergent

(D) May be convergent

-1
The transformation o = [z +zz ] is

;‘_.é_-,
u@ Conformal everywhere
P oo

(B} Not conformal

Yoa

(C) Conformal except at 7 = 41

(D) Conformalatz =1

US-15105\R

8. wfafaam o:=[z*z-l] 2

5, GRS %WW?F{H
(A) Sﬁwﬁﬁﬁwﬁ%ﬁm

&
(B) sﬁswﬂm@ﬁﬁﬁ%ﬁﬁg
(©) S P e v A g e @
(D) S @ 2 e farg TE B 2

6. ﬁmaﬁﬁwﬁmﬁﬁvwm‘.mm

?.

U /0
(A) R —LI:T}SUD|3"|
(B) R-! = lim (a,) "

(C) R~z lim Inf | &,

A=k L

|

(D) R =lm|a,|""

* sin MmX
—dx %
7 Iuc2+x2 g

(A) AR
(B) 3UHRT
(C) wi: st -
(D) sRmrt gt vt 2

'

2
(A) ®r-ers I s

(B) P-DIEdA TS|
(C) aﬁ-@lﬁﬁ'ﬁ‘hmﬂm z=+1
(D) Brerd z = 1 |

https://www.ccsustudy.com
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Which is true -
(A) The null set ¢ is unbounded

k87 The null set ¢ is bounded

(C) A finite subset of R is un-
bounded '
(D) None of the above

. Supremum of a § set is always _

(A) belongs to set S
(B) not geatest member of S

(C) exist

‘\-ﬁ) greatest member of S

Uﬁl.

Let S={y:y= |sinx| YxeR}, then
sup S is equal to
(A) -1

ABS 1

{C} 0
(D) =

. Let A={x: x=|§iny|VyeR}, then

Inf A is equal to -
(A} -1
(B) 1

e} ©

\IyB.

(D) -

AN '
IfS=I|/1—l{sirr'gi,ncl\ll,then
' Woonj 12 ,[

SupSis -

(A) -1

B

(C) 3
(D) -3

US-15105\R

[51

9.

Faa -

(A) Res e ¢ siafiags 2 21
(8) R wqmma ¢ wRaz e &

(C) R & At wzaa wfag e
&

(D) 3% ot 7&

. W S & e g -

(A) Wgeed S ¥ v 2|

(B) T S &1 Ied Wi ared] ofedl &
ki

(C), wran S 2|

(D) W=D S FT 34 A qwN |

. gl s={y:y= |sinx| anR},ﬁﬁsup

S 1 W 2N -
(A} -

(’) 1

(C) o
(D) =

. gf& A={x : x=|siny| ¥ yeR}, & Inf

A &
(A) -1
(B) 1
(C) 0
(D) ~e

1y 3\
g S=¢[1 iisin%,neﬂ},ﬂa

|
SupS&-
(A) -1
(B) 1
(C) 3
(D) -3

/

P.T.O.

https://www.ccsustudy.com



[ ——

https://www.ccsustudy.com

?y Sis -
(A) =«
(B) -
L) does not exist
(D) O

, letS= {r +iz,r SGN}thenInf

S will l?e—
(A) D
NCE
(€) -1
{D} 2 e o
16. Letr___ands_“__ then3t___
such that st 2_r. |
«(A) <R, eR?, €I, >
.(B) eR*, eR", cl, <
,(C) eR*, &R, €l, >
(D) eR, eR", eN, <
7. Which is true
][; (A) Qisnbd of all its p_ginvtg_,
(B) R-Qis nbd of all its points
_{e) R-Qis not nbd of all its paints
- (D) R is not nbd of its points

18. Which function is not uniformly con-
tinuous on J0, 1[ '

(A) f(x) = X

(B) f{x) =¢e*

(C) f(x) =sinx

US-15105\R

(6]

15.

16.

17.

18.

1 nq.aa
= =:m,Ne
1f5={m-1:m,neN} then sup 14'Uﬁ5'{m+n
n

SupS't‘-"

(R) =
(B) -w

(C) & am

(D) O

af s= {r +_}. r,sEN} a% inf S
s

2T -

(A) O

(B) 1

(C) -

(D) 2

gk r sfks ___, @@ 3t |
Hst_ r '
(.PL) cR, eR7, cl, >

(B) cR*, eR', €], <

(C) eR*, <R, €, >

(D) eR, eR", eN, <

B axa -

(A) Q gy Tl ot ogN 2 &

(B) R-Q G Tl cFeall BT I &her &

(C) R-Q 3 W adl & @R T
& 2l |

(D) R 3 W% e 1 WY R &Il &1

P A G v THF W | Haa T8

&l
(A) f(x) = x
(B) f(x) = e*

(C) f(x) - sin x

3

{ax )
(D) f(x) = tan| 5

https://www.ccsustudy.com



20.

A ot
ries n_zm is
) [z<1 g
(B) |z|>1 1
(C) 1z-1]< O [‘“@i@gﬂfl
(D) |z-11> 0 A dogu 2
21. Which is nat true - v

&.

L

https://www.ccsustudy.com
19. Which is true for the function

" f{x) =sInx.sin %W €]0, 1]

(Ay lim f(xy = fim F(x)
(B) Ll_rn) f(x) < ll_rpo f(x)

(D) lim fx)=-1

Domain of convergence of the se-

L
(A) Zzn;/— s divergent
=l D g
A
(B) Xz".= is convergent
I'l-'.l n L
v
2 n 1
(C) n%z ~ is divergent when 2=1

(D) n%z".% is convergént_for z=1
Which one is not nbd nf zero-,

A) -1, 1[

(B} (-1, 1].

AC) -1 0[] 0, 1

(D) ]_1.* 2[_

US~15105\R

19,

. umﬁo?fi’_?z

= f(x) = sinx . sin %Vz c]0, 1[ &

for v & -

(A) Im f(x) = lim f(x)
(B) fim F(x) < lim F(x)
(c) limf(x)=1

(D) fim fx)=-1

n{logn)?

@1 FHER 8
3.

(A) lz]<1

(B) Iz|>1

(C) lz-1l< O

(D) |z-1|> 0

21. RT3

22.

(A) n);f-% AR #

B T2 sRmrdi

n=1 n

(C) flzni- FIARG 2 5 z=1

() $2.2 st aw 2=1

B I & B A 2
(A 1-1, i(
(B) [-1, 1]
(C) -1 0[vw]0, 1

(D) J-1, 2

P.T.O.
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\fl Sup and Inf of S is, where
S={x : x « 7 Ix]* > [25.99]}
(A) Sup S=x Inf S=-x :
(B) Sup S=26 Inf 5=25
(C) Sup S=0Inf S=5
L/L-EJ) does not exist
\?. If A={x:xeR-Qand |x|%<[81. 99]}
then Sup A and Inf A are .—.- .
(A) Sup A=9, Inf A=-9
(B) Sup A=9, InfA=0
(C) Sup A=0, Inf A==9
D) Sup A=9.9 Inf A=-9.9
v}rﬁ Which is true, if
ACR, peRis limit point of A
(A) NA(A-{p}) = ¢ v Nbd N of p

L

(B) N_{A-{p})=¢ v Nbd N of p

_—4C) NA(A-{p}) # ¢ ¥ Nbd N of p

(D) NU(A-{p}) =¢ ¥ Nbd N of p
. ﬁﬁ. Which is true-
(A) -D(Q) = D(R-Q) = D(I)
(8) D(Q) » D(R-Q) = D(I)
A AC) D(Q) = D(R-Q) and D(I) = ¢
(D) D(Q) = ¢. D(R-Q) = ¢, D(I)= ¢

US-15105\R

.:1-'.1 =

23, uﬁ S:{X VX

24.

25.

26.

ez, [x|? = [25.99]}
357 S @ FF S T &?

(A) F S=w FF S=-

(B) 3@ S=26 1 5=25

(C) 3@ $=0 A S=5

(D) =& vl

afe A={x : x c R-Q3X Ix|*5[81.99]}
I ATIREAR

(A) 3 A=9 FH A=-9

(B) 3= A=9 f1=1 A=0

(C) 3= A=0 fra A=-9

(D) 3 A=9.9 1 A=-9.9

2t v 2, R

ACR, peR A &1 B 3if=H fag #-
(A) Nr(A-{p}) = ¢ ¥ Nbd N of p
(B) Nu(A-{p}) = ¥ Nbd N of p
(C) Nn(A—{p}) # 6 v Nbd N of p
(D) Nu(A-{p}) =06V Nbd N of p
B v &

(A) D(Q) = D(R-Q) = D(I)

(B) D(Q) » D(R-Q) = D(I)

(C) D(Q) =D(R-Q) and D(I) = ¢
(D) D(Q) =¢, D(R-Q) = ¢, D(I)= &

https://www.ccsustudy.com
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27. The limit point of }-2, 2[ is 27. 1-2, 2 & < Fagah o wg @

AR Fhe solution of |x-1] < 1 (A) & Ix-1] < 1

(B) the solution of lell =1 (B) T |x-1] =1

(C) the solution of |x-1| 2 1 (C) & |x-1] 21

(D) the solution of |x-1} =1 (D) &7 |x-1] <1

428' set of real number 28. Trfds s &1 e
\ has a non empty derived set. P FRD FIGHT g TA &1
(A) Every finite'bounded set (A) =& Hfta 7 Rag T

(B) Every infinite set (B) w¥ A W=y

¥ L) Every infinite bounded set (C) a ¥ 7 aReg ey,

(D) Every infinite unbounded set

i (D) wW IAFE 7 IRag Wy
L=lim—— th he 1
E 29, Lot e
(A) L=0 (A) L=0
) L=1 (B) L=1
(C) 0<Ll<«x (C)0D<L<=
W L=w | ) O) L=x
_(}b. Consider the sequence 30. of2 S, =i:1+(_1)n ln} @
\
{
|

n
Sn = Ll + (-1}“%] , then (A) limsupS_=liminfS =1

(A) limsup S, =lminfS =1 (B) limsupS_=Ilim infS =e
(B) limsup Srl =liminfS =e

| 1
(C) limsup S, =liminfS = -
1 i
imsupS =1lminfS = —
(D) limsup S, = eand iminf S =~ Lt
noe
US-15105\R - o
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Which one is not a perfect set.

l

by oy = L
(A) A—Ix.x+n,n€N!
[ 1
~{x:x=m+=,neN,meN
(8) A {x X=m nne € }

[
(C} A:’x:x-—ia}-,ncﬂ,meﬂ}

] m n
(0) (B) and (C) and (A) also
Which is true

(A) Df".l (Q) = D(R-Q)

(E!_J D" (Q) # D""{R-Q)

A AC) DTH(Q) = D"(R-Q)

£

(D) D" (R-Q) = D™(Q)

Let S_={'x§[-:1:, 4] a'nt:l sin x > 0},
then which is true "
(A) InfS<0

(8) Sup S does not exist

\)Iﬁl Sup S=m, J

34.

(D) InfS=xn/2

Let F (x) = x e "2, where, n =z 1
and x € R, the < F_(x}> is

(A) Uniformly convergent on R
(B) Uniformly convergent of sub-

set of R
r -

)C) Bounded and not uniformly

convergent on R

(D) Unbounded functions

US-15105\R

32.

33.

31. ﬂquaﬁ%[

1
(A) A={X:X=H.0EN}

1
cy = = N,mGN}
(B) A;{x.)(—m'!-n.ne

1 1
- . N = — _-.neN,mEN}
(C] A”{z-x m*n

(D) (B) and (C) and (A) also
I 4 B |

(A) D™ (Q) # D(R-Q)

(8) D" (Q) = D"*}(R-Q)

(C) D" (Q) = D"(R-Q)

(D) D" (R-Q) = D"**(Q)

" BB 5= {xe[-1, 4] AR sinx>03},

\Tﬁﬁmﬂé’r%
(A) s S<0
(B) o1 S, & B
{C) 3P S=n
(D) =@ S==x/2

. IIPH < F (x) > , where,

F (x) = xe™ ﬁ?nzlaxERgﬂﬂ

(A) R W U6 GAFRT AR |

(B) R & W T & fore HUwRr

(€) WRag g E T A
il

(D) smiRag wer

https://www.ccsustudy.com
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For the sequence S, = -;;,v e>0

IS, ~0l<e if

(A) n<-logeflog3

/(.B) n>logeflog3

, (C) n>-1leg ¢/ log 3

3

(D) n<logeflog 3

Let S = {f: R3R| 3 €>0 such that

V520, Ix-yl<d=|f(x)-f(y)I<e}

then ‘

(A) S={f: R-R| f is continuous)

(BY~S={f : RoR| f is uniformiy
contlnuou-s}

(C) S={f: R—»R| fis bounded}

(D) S={f: R-R| fis constant}

7. Let f: (0, «)}->R is uniformly con-
tinuous, thef

\_/G-;i) lim “fx) and lim £(x) exist
(B} llm f(x) exist but I:m f(x)

P dnes not exist
(C) JL"& f(X) does not exist, but
fim f(x} exist
(D) neither lim f(x) exist nor

lim f(x) exist
X=pon

US-15105\R

https://www.ccsustudy.com

ﬁsﬂ_?faa't F-—O

IS,~0l << am-

*(A) n<-loge/log3

36.

37.

(B) S={f:

(B) n>log &/ log 3

(C) n>-loge/flog 3
(D) n<lag ¢/ log 3
B i S= {f: R5R| 3 >0 such that

78>0, Ix-yl<&=1f(x)-f(y)}<e}

™

(A) S={f: R=R| f @ &}

R-R| f ¥ A Wad
2}

(C) S={f: R>R| fufmz &)

(D) S={f:R-R] fFR 2}

o e i f

o &, @

(A) lim ) 7 lim 100 sfeced

(8) Jim f(x) gm, w=g lim f(x)
& ami

© Jim f0 T @m, wy
}.i'fl f(x) g

(D) 7 lim f(x) g =& lim f(x)
NI

: (0, =)>R & HAF:

P.T.O.

https://www.ccsustudy.com



https://www.ccsustudy.com

b@&. Let BCR and every Infinité sequence

38.

in B has a subsequence which con-

';rerges in B. The ébovle statement

is true if'-. |
B=[0, [

{(B) B=1[0,1]v][3, 4]

(C) B=[-1,1[{ U [}, 2)

(D) B=]-1,1]

Let {S } be a real sequence such

that S, 2 1 and Sr;u z S +1 ther;

which is true.

(A) The series £S -2 diverges

y/(B) <S,> is bounded

(C) The series 5 -2 converges

“4(D) The series ZS_-1 Is converges

40.

3

2n
n+3

then using

Let 5, = = —é and lim S, =2,
ve>0, [S_n—elc:_i‘ ¥ nzM, gives
A) M=28 ° i

(B) M<28

(C) M> 28

(D) M=28

Domain of a sequence is always

(A) Set of Real Number

(B) Set of Integers

A _{L) Set of Natural Number

(D) All the abovye

US-15105\R

[12)

38. uf¥ BCR 3R B # 1® Hd TP &
: ww#aﬁaﬁmﬁmﬁﬁm%l

T v wE 8, afR

) 8= (0o

(B) B=1[0, 1] (3, 4]
I‘(c) B =[-1, 1{V[1, 2]

(D) B =]-1, 1]

39. dft {S,} U AIM® B &, el

5,213 S, 25 +1 7@ B T

Rl

(A) At £S5 -2 swERe @t &

(B) <S> fag & .

(C) #oht 25 -2 AR & 2 |

(D) xS -1 HfwRa e 2
2n

n+i

40. afe S, =r;_‘E=% AR lim S,=2,

+3
G B R ve>0, |S ~el< E¥n2 M,
-
(A) M =28
(B) M<28
(C) M>28
(D) M=28

41, mars‘fﬂ?ma‘mg
. (A) R

(B) I
(C) N°
(D} IRH Wikt

https://www.ccsustudy.com
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42, The radius of convergence of

44.

5

power series
f(x) = Tx".logx
n=2
F%B) 1
(D) =

(A) ©
(C) 3

. Radius of convergence of power

. 0 l'l2
series &Z s

=1

(A) O (B) «

(C) 1 \AP) 2
If f is holomarphic in an open_nbd

of z,eC and £f'(zy) is absolutely

convergent, then

(A) fis constant

(B) fis polynomial

(C) fcan be extended to an entlire
function

(D) f(x) R ¥ xeR

Which Is not true

w4R) limn'/"-p

46.

(B) Iimn'/"=1
(C) Imn?/m=1q
(D) Both (B) and (C)

Which is not true-
1
(A) f(x) = §lﬂ; IS congnuous
¥ x>0 _
1
(B) f(x) = sln; is uniformly con-
tinuous v x>0
.1
(C) f(x)= sm; is continuous, but

not uniformly continuous
IxeR'!

(D) All the above

US-15105\R

[13]

42. wa A fx) = izx“ logx ) 3w

43.

44.

45.

46.

Bz &
(A) 0 (B) 1
() 3 (DY =

e Ao EZ“ZH%T ANFERoT B 2-

(A) O (8) =

(€)1 (D) 2

af& z,«C & Riga anfta A £ e
2ok = (z,) PrYem sfrafa 2
4

(A) famRdl

(B) fuss ague &

(C) f T v Hd7 INNT BT T
faafRa B 51 woar 21

(D) f(x) eR AW xeR ¥ Bro|
B T 8 #

(A) limn'/"=0

(B) limn'/"=1

(C) limn2/"=1

(D) Both (B) and (C)

B FTd &

(A} F(x) = sin% FEEY x>0 |

(B) f(x)= sini U6 99 9 W |ad
g v x>0

(C) f(x)= sin%'ﬁﬂﬂ%ﬂ"ﬁ;%"ﬂﬂﬁ
TTH T Vv x cR*
(D) mw

P.T.O.
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47. Let f and g are entire function and

g(z) = 0 v zec. If |f(2)I<l9@)|,
then .

(A) Kz} =0 ¥ 2ecC

(8) (2) is constant function

(C) O) =0 ’

(D) f{2) =_ag(z) for some aec

48. The function f ; c—c defined by

49.

: 1
ﬁz)'—‘e“*e—z has

(A) finitely many zeros
{B) no zeros

AL} only real zeros

{D) has infinitely many zeros

Which s true, for
1

fx) = x*sin— ¥ xe[-1, 1

(R) f(x) is continuous

(B) f(x) s notcontinuous ¥ xe[~1,1]
(C) €(x) is not bounded

(D) All the above

SG. Radius of convergence of the
power series éz(log 0z s
(A) O (8) -1
(C) 1 (D) 2

51. Domain of convergence of power
serws li{z*.‘,ifi)-‘-n'rs {_iff?
(A} [z-1-i| = 2
(B) |z-1-i] < 2
(C) |2+1+4i] >;
(D) lz+1+i| < ‘2'/

UsS-15105\R

49.

50.

al.

iz < [g(2)], @

(A) f(z)z0VvZeC

(8) Hz) T FR &H &

(C) f(0)=10

(D) f2) =ag(z]%ﬁaec$%l!
Qi‘ﬁf:c—aca’ffaiqﬁmﬁﬂg
f(z)=e‘+§-$m‘mi

(A) WRitaa: agd LT3

(8) B I

(C) ¥ adfas LD

(0) FRBiea: TgT LTI

R fix) = xzsinxiz v xe[-1, 1]
oF ¥ &

(A) f(x) wad 2l

(B) f(x) 3/d ¢ v xe(-1,1]

(C) f(x) Rz & !
(D) 34¥es AW

ara Aot n}':;z(mg ny! /2™ @ wERa

(B) -1
(D) 2

T Ao E[z +2Ii+1] "
P B FgwiRa 2-
(A) 1z-1-i] = 2
(B) l|z-1-i] < 2
(C) 1z+1+4i] > 2

(D) |z+1+4i] < 2

https://www.ccsustudy.com
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&-9 The domain of the sequence 52. R S, =(-1) sa BT T 2
- n_ -

Sa=(~ 1) is
(A) <~1, 1>
[A} <=1, 1>
B) {-1, 1
(8) {-1, 1} ®) (-1, 1}
(€) (-1, 1] (@111
CAD) Set of Natural Number, N (D) N
j53 Iff(x) = x v xe(0,1], then L(P, f) 53. TR f(x) = x 7 x<[0,1], T (P, f) &
equalto ____ for the partition 1
F-l' 1}
{0'1, gr 1} By ol 3 & Fdl!
3’3 , ,
2 y 2 (A) 3 (8) "3
A 5 (® -3 1 1
1 1 (©) - (D) -
- 3 0) -3 3 3
xz XEQ ) xzr Xe Q
L 54. afe f(x) =
54. If f(x) L3 R0 (%) 2 x<R_Q
then f' £(x) dx is equal to - f_u f(x) dx wR Am-
12 12 12 12
() 33 (8) - &) *3“1 ® "3
31 31 31
e 05 ©- -z ®F
55. Let f(x) be a function on [0,1] de- 55. afe f{x)=§ and
1 (1),
fined by f(x)=i- and f\ZJ_O' f%:ﬁ‘:‘xe[o,l]then

then

] Cfx) = F(x)
(A) I; ftx)=§f(x> A L

1 t
®) [f00=] 70 @ |00t
o 5 1 )
l ‘ (C) _J'_jle)« ; F(x)
(C) _JOf(x)c: g f (x)
(D) f«R[0,1) (D) fR[01]
US-15105\R s -,
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ith a,b
SE. 1f P, and P, two partitions on [a,b]

M then
(A) U(P, ) =L(Py )
AB) V(PN <L (P )
(€) U (P, ) >L (P, )
(©) U (P, )>L(P,T)
57y Let f is R-Integrable on [a, b] and
P, is refinement of P, then
A) U (LA >U(P, D
}}» uElHsuP,n
(C) UPLDH2U P, D
@) U, H=UP,N
. The solution of equation \
L [Sa-1]<e is -
) St
(B) Sn>1-¢
(C) 1-e<Sn<1l+e
(D) 1-e>5p>1+¢€

Cﬁ. jz-1]+]z-i] = 10 is @
(A) Cirde

(B) Hyperbola

(D) elipse

JO. iz]I=5isa |
JHA) arde

\/(BJ circle with centre at onigin and
1 . . r 4
radius 5 unit

(C) kne
(D) circle with radius S unit

US-15105\R (16]

56.

57.

58.

59.

60.

uﬁPiapzﬁoﬁﬁwéﬂ’fﬂﬁﬂm
3 &
(A) U (P £} = L (P f)

8) U (P, )<L Pl

(€) VP, fzL(Pyf)

(o) u (P, f)>LPy f) .
o £ [a, b] W R-yEEAT & IR
p,,, P, 1 Reprg=s sferam & 7€ -

(A) U(P, f)>VU (P,

(8 U(P, U PP

(C) U(P, 2V (Pyf)

(D) U (P, f)=U(Py f)

TR |So-1 < BN EA &

(A) Sp<l+e

(B) Sn>1-¢

(C) 1—E<Sn<1*f€
D) 1-e>Sa>14c N
|z-1|+]2-i| = 102 &

(A) T
(8) Afowac
(C)

(D) drigm

1z]=5 & &

(A) 7@

(B) 3. &% (0, 0) B 5 unit
(C) @

(D) 7%, f=an 5 unit

https://www.ccsustudy.com
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(%1, The solution of |x - 5| = 8 is

>&C) Xx<3, x>13

SP) xz13

n
6a. lIm T is equal to
e

1
AR) e B). ¢

(€)1 (b)) -1

?3. lim EEJ_TS]_EES equal to
Y (A) 3
9 27
. The limit point of the set
L‘&‘ Az{x:x=%,reﬂ}i5
A) 1 (8 -1
10 o (D) 2

1
’ 5-& __-'d i i
\/Pa {' -7 dx isan integral of

(B) -27
(D) -3.

(A) ImproperIntegral

(B) Improper Integral of first kind

(/x:) Improper Integra! of second

kind

(D) Proper Integral

US-15105\R

61.

62.

63.

64.

65.

TSR |x - S| > B B EA @
(A) x< 3

(B) x<3

(C) x<3,x>13

(D) x =13

&y lim —— #
(n)°

m |-

(A) e (B)

(€)1 (D) -1

(A) 3 (B) -27

(C) 27 (D) -3

wA:{x:le.,reN}
i r

& W fog &

(A) 1 (B) -1

(C) 0 (D) 2

4

inl

(A) R w9 €

(B) Ffad AR W YR B TSR
&l

(C) FRTa IR B R & T
2

(D) 3FE wwEeE 2

dx ™

P.T.0.
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! sinX dx %

\,;Glgm_xd*rs 8- o

ﬂproperlntegral (a) St TR
(B) Improper Integral (B) ﬂiﬁlﬁw
(C) Improper Integral of first kind ©, o TR

(D) Improper Integral of second

' (D) fm e R R

kind
r c -1t dt -
j7_ j e™dt isequalto o 67. LE WE’W
4] . - LY
| (R) T (A) :.
SR ®
(C) -t . (C) -r
1
(D) ";.' r
‘ﬂs- ; e* dx is Iﬁs- iﬂex dx g
: (A) Convergent (A) AR
\/wr Divergent (B) ORI
(C) Conditional convergent (C) wergen e
(D) Zero (D) T4
n
p69. l‘_‘:’l_l l‘i equals 69. Alﬂ(l--[:%} TR &-
(A) 1 - (A) 1
1 1
& 7 (8) Tz
> 1
€ & (©) &
1 1
US-15105\R (18]
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Consider a sequence <S,> such

that S, e (-1, 1), then

(A) Every limit point of {S.} is in
(-1, 1)

Q)p; Every limit point of {S,}isIn

71.

72.

[-1: 1.]-
(C) Theonfylimltpnintsare—:].,o,l
(D) The limit points are not -1,0,1

1~
Let f(x,y) = __cz;-s(x; ¥) and
X“ 4y

1
f(0r0)= 5 , and

a(x,y) =L:Cﬂf_y_}‘ X+yz0

s (x+yy
a(x, y) ~—;1! iFx+y =0
then which not true
(A) fis continuous on (0,0)
(B) fIs continuous every where
except (0,0)
(C) g is continuous at (0,0)
(D) g is continuous every where

Let <a > be a real sequence, where
= D)
z la, -an_llj‘“ then the series

n-1

¥a x , xeR Is convergent
(A) no where on E//
(B) every where on R L

—
(C) on (-I.IL/'

(D) only on ]-1,1[

US-15105\R

70.

71.

72.

¢ 3 <S> b & s

Sn = (-1, 1), 74

(A) Bt R (-1, 1) § &)
(B8) W g (-1, 1) 8 &)
(C) -1, 0, 1 9w frg &1
(D) -1, 0, 1 ¥imia frg = &
afe

1-cos(x +y) i
f P = ==
(x Y) x‘z‘-yz ' f(oru) 2:
a g(x,y) = 1._';-95("*’0.1—? =0
(x+yY

a(x, y}=; if x+y = 0 &4 354 2

(A) f(0,0) & wad 21

(B) f & 3% ®ad ¢, | (0.0) W
el

(C) g (0,0) W et Bl

(D) g W9 FR Faa #

3|a$::r<an>aﬁ§1|a,,-an_l|<x

ag Al $a x ', xR FHERY 2

(A) R R & W 7&)

(B) R ® ada

() (-L1) ®

(0) &F |-,1I[ |

P.T.0.

https://www.ccsustudy.com



https://www.ccsustudy.com

73. Improper Rlemann Integrq_l
I; yt2.dy is
(A) Continuous in [0, =[

(B) Continuous only in (0,)

(C) Discontinuous in (0,)

1
(D) Discontinuous only in [5' 00]

74. Let f : R—R be a continuous func-
tion and f(x+1)=f{x) v xeR, then
| (A) fis p_qyn.f,feg __g-bﬁéwe;‘ but not
bounded below
(B) fis bounded, but not attain its

_bounds. Y
(G) f Is bounded and attain its
bounds

(D) fis not uniformly continuous

-

z

and _S_,(:f] =1

z2+2
T, =
75. If T,(z) ;13

then 5,‘_1_.'!', (z}}s‘\
Z42

(B) z-2

(C) 2-2

(D) z-1

CIf Ti(e)-2220
__(_f)ﬂl
wrﬂ@hf' —

¥ - _2 —
W 55 e
(0)

, then T(2z) isﬁ

N
M

+
+

zZ-3

Z+3
Z-.‘-

w W

NN

(©)

¥

(Y
N

US-15105\R

[20]

-.’(Y-lledy ?
23, ﬁﬁawwﬁ Jo

(A) [0, o[ # Wl
(B) A (0,») & Tl
(C) (0,=) ¥ FFdl
1 )
(D) @™ ['Z‘r ”}i ¥ Fgad|

?4.ﬂﬁf:R+REﬂ5WW#W

f(x+1)=f(x) ¥ xeR, T
(A) fFR Y g & aog B J 7
(B) f ez &, WY Mgl W T

qgad|
(C) feRaz & weg aRwgl o T
#
" (D) fve wHra A waa B
2 z
75. gfé T|(2J=:—:§ a5@2)=yq ™
st.T()#
(A) z+ 2
(B) z-2
(C) 2-z
(®) z-1
76. Wa=T@)IRT 0)=2"m
: —
T(z)-
z-2 Z+2
(A) 73 (B) —
Z+3 z-3
(C) 212 (D) y3

https://www.ccsustudy.com
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77. Which of the following are  conver-

gent,

Tn2 t.

(A) o

(8) T2

Q)

;——\.i‘_.
j—l-
“-—_..-d‘

IfFS= {}T -1Ln eN’ . thEn D(s)_‘i_s_

(A) 1 Lal, Ly
-fj

37' - . .
(B) {1) 3

A -

7

J} fgeR[a,b]

K&'

(D) {-1}
If feR[a,b] and geR(a,b], then

(B) fgeR{ab]
(C) Both (A) and (B)

(D) None of the above

If £ 0 X<@
X Xe

R-Q then f is con-

tinuous at x=
(A) 1

(B) -1

A0

US-15105\R

(D) every where
[21]

77. 3 R &

78,

79.

80.

1
A} In®.—
(A) >

D P
(B) Ln—zz

() -

n Iog

-

‘:I|b-

I"l|Og [

J

af s- {—-1 nFN} a1 D(s) &
(A) 1

(B) {1}

(€) -1

(D) {-1}

qie feR[a,b] and g<R[a,b], 7@
(A) fgcR[a,b]

(B) fgeR[a,b]

(C) (A) T (B) A

(D) 3WIh & B AR

R fFix )10 X€Q vt d

xeR-Q
x=
A) 1
(B) -1
(C) o0

(D) every where

P.T.O.
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b}
|4

j{, ]fS={x:x=m+~£,m,neNJ\ then
. r n .

D(s) is |

_HPML A
*(B) {0}
AE) 0
(D) {¢}
sz, Every cauchy sequence is
(A) bounded -
ﬂ Convergent and bounded
(C) Divergent
(D) May be convergent
3. Every convergent sequence
"(ﬁ' (A) has limit point
(B) has limit and limit point

—

(C) has limit point and bounds

\/{5) all the above

‘/ftl. Cauchy - Riemann equations are for
the analytic function f(z) = u+iv

—_— m——
——

(A) :x=-.i:uy—vx

(B) u, ==V, U ==V,
o) U= Ve Yy =Yy

(D) u, =v,u =v,

If f(z) = u+iv is analytic function
and u;_e’(x cos y - y sin y), then
f(z) is

L/{5.
(A) z’e%+c¢

/wf zei4¢

(C) z%e??4c

(D) z%e*4e?

US-15105\R

81. g S:{x:x=m+ﬁ

82.

. 83.

84'

85.

I,m,neN} L

D(s) &

(A) ¢

(B) {0}

(C) 0

(D) {¢}

e el 3w BRI 3

(A) TREE

(8) afirerd 3 Reg

(C) FoRy

(D) FRrard e w8l
e TSl S T -
(A) e W g

(B) A 7 dmra firg

() dm g TRegH:

(D) FRres W1l

f(z) = u+wa:%v$15?ri}nﬁﬂﬁrm
.8 | -

(A) U, =-v, U, -"Mfrr

(B) u = Ve Uy = 7V,

(C) u = Ve U, = -V,

(D) u =v, u =v

ol f(z) = u+iv @ et oem &
3R u=e'(x cos y - y sin y), 9 f(2)
3

(A) z%e%*+c¢

(B) ze*+c

(C) z?e¥+c

(D) z%e’+e*

https://www.ccsustudy.com
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(B) Convergent
(C) May be convergent
(D) Finite
The em'pty set ¢ [s
(A) Open
(B) Closed
‘_/ﬂ:) Open and Closed both
(D} Finite
82. Intersection of all closed set con-

{.~ taining a closed set A, is equal to

— — g e B

———

.- @B) A
(C) {0}
(D) {o}
89. Consider f(z):% a8 mobius trans-
formation, zec and z # 0, then f
maps (¢\{0}) to a

Is a circle with positive radius pass-

....... . where ¢

mg through the origin.
(A) Circle
&—(B) Line
(C) Line passing through (0,0)
(D) Line not passing through (0,0)

US-15105\R

[23]

86. |

87.

88.

89.

i dx

0 X3 (L+x2)
(A) FTERT

(B) R

(C) HBR & Tt &

(D) Vfm

= b 3

(A) g

(B) &=

(C) G q &< 2l

(D) ¥

Wi §= W= S I 9a A, B
@A B, 74 (A) AT

(A) ¢

(B) A

(C) {0}

(D) {¢}

Iﬂﬁaﬂwf{zhé, zeC, 2% 0
& F<I f (\{0)) B ....... i ¢
wHR b gs A Tam
oRar &

(A) gl

(B) ¥

(C) W { [RaT |
(D) T B} & TERal )

P.T.0.
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S AL
T

90, Let z-e7 and 0-2' 1242, g0, aft z-¢’
;_ggrthen T
(A) GeQ (A) 0cQ
(B) U‘f Q (/D) for some D>0 (B) 0eQ (D) for some D>0
(C) 0 Q (vD) for some D<0 (C) 0eQ (D) for some D<0
(D) 6¢iR 54 (D) 0¢ciR
9. Which is true- T o1 oH @i
A wo@-es (n) D(Q) =R
SCEIUEL (8) D (R-Q) = R
(€) DR) =D (€) D(R) =D (Q)
D) All the above (D) All the above
p2. 1fz = x+iy and Z =x~iy then 92, o z = x+iy T Z=X-IyT@
H‘/ (A) z.2=1zP (A) z.7-zf

() All the above

7

(B) 2.7 x?+y? (®) 2.Z=x2+y"

s 2 o2 2, 2 z 'z‘sit’;fz+y2‘|\|x2+v2
(C) z.z:i\'x +y )vx +ye (C) 2- \ )

(D) Allthe above

Radius of circle [5z+15-16i] = 20 93. 3@ |5z+15-16i| = 20 B Bsur &

is (A) 15
(A) 15 (B) 20
(B) 20

(C) 5
(C) 5

‘/ﬂ;)q (D) 4

US-15105\R [24]
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94. For f[z) .

9S.

Q‘Z.

https://www.ccsustudy.com

/Xy which Is / are trye.

(A) f(z} Is analytic at origin

(B) f(z)is not differentiable at ori-
gin

(C) Cauchy - Riemann equations
does not satisfy at origin

(D} None of the aboye

If f{z) = logz then

(A) f(z) is analaytic everywhere

(B) f(z) is not continuous every-
where

(C) f(z} is not analytic at uri,gih

(D) f(2) is analytic at origin

I z,42,)% = |z,1%+z,|? then

(A) 2,2z, is pure real

(B) 2z,Z, is pure real

(C) z,z, is pure Imaginary

(D) 2,7 Is pure Imaginary

Let ficoc is a holomorphic func-
tion and f(z) = u+iv, then
If'{x+iy}|?is equal to

(A) ul+ uv2

(B) ul+v?

(C) v, +u]

/(D) All the above

US-15105\R

94.

f(z) - Jxy & fomw v @

(A) f(z) R & e W

(B) f[_z)szmrqraaasaﬁ'm#

(C) ﬁaﬂfﬂuﬁmmw#@z
& &

(D) IR & B ¢

95. dfx f(zj = logz @@

96.

97.

(A) f(z) Redms & T 7

(B) f(z) ¥ Iz wera = 2

(C) f(z) m R favome T2 2

(D) f(z) oM R favces ?

e |z,+42,17 = lz,1*+|z, 12 7@
(A) z,z, Pla: avafds 21

(B) 2z, 7, Pf: awids ¢

(C) z,2, Tha: oo 2|

(D) z,3, Qia: S 2l

afe f : ¢ > ¢ 0B AAGS B & 3k
f(z) = u+iv, 8, @@ |F(x+iy) | T IE
2l

(AY u2+u?

(B) u?+v?

(C) v?z + u",2

(D) All the above

P.T.O.
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8. Harmonic conjugate of 98. wear sy Far & Ak
. 1
V{; u=%log (xz*Yz) is U=E|og (x2+y2]
) T R 1
| (v
tan™! f+c (A) tant{ L]+ c
w X \ X
i [ N (-
3 (%
1|12 tan|=[+cC
(B) tan " +C (B) 3
f (x\
COt_I ZE +C Cot'l Zl+cC
(C) v) (€) 7
( \
-1 Y ) -1 i
(D) cot X +C _(D) cot X +C
»)
x2+x3, xeQ x2+x3, xeQ [ ¢
U ' then 99. af f(x aq
?9 If f(x) X+X2; XxeR-Q T | () X+X2, X <R-Q 0
- -2 2 : ' E T S '
| fand | fare - gk fR
0 "o 2o
12 12 ' 12 E
(A) 5383 (A) 2555
: 53 83 53 83
8 12'12 (B) 1212
83 53 83 53
© 212 S © 5y
12 12 12 _1_%
) %353 (P) 53'53
0.If A is a closed set then D(A) 100.9f A &< W= & 7@ D(A) BhTI-
3{) [ j (A) I Bl
(A) does not exist
(B) D(A)cA
)B) D(A)c A
| (C) D(A)oA
(C) D(A)DA
(D) D(A)=¢
(D) D(A) =4
US-15105\R [26]
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1. Bisection method does not work 1. Fxdswm bt ot 98 @ ¢ gk 2

if two roote are o 4
(A) Unequal (A) JaHHA
(B) Equal - (B) ®AM

M 4 T g9
(C) Atleast equal (C)

__,Q‘)r) Nearly equal

b ) The Equation f(x) =0 ia called an 2. FRHT £(x) =0 T AFTRE Tersr
algebraic equation if f(x)ig a - FEARR 2 AR f(x) & B

(D) @ I3qET

/&(ﬁ)” Polynomial é (A) 989

(B) Transcendental Equation . (B) Srdona dHIETT
(C) Both (A) and (B) (C) A @) M (B
(D) None of these D) A F B¢ 7
3. Newton— Raphson methadcanbe 3. =I-UHe R & O 3 ferg w@n
used for solving 5 1S G s
(A) Algebraic Equations (A) deierdy edfeen &
(8) Transcendental Equations @) I e @
ACy Both (A) and (B) () T (A) I (B)
(D) None of these : ™) ™ ¥ ¢ el
4. Onerootofthe EguationxX®x—1=0 4. ¥TIHT x*—x—1=0 F TF [ 551 g
T dr ¥
| ﬁ] Lend® (A) 132
¥ 0 and i B) 0 1
(C) 2and3 © 293
(D) 1and3 - D) 143
US-15107-Series-R (1)
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gt Ry & #T aFEE 3)
5. In Nowton — Raphson method 6. LT !
successive approximations are Ry ol @
e x.r.l S - () o
(A) x + f.((; )) A) %, * T(x.)
£'(x,)
f! f'(x,)
(B) b S f((:n)) (B) X, - f(x,,) i
f(x,)
S, f“{::]) © x- Py &
‘ f'(x,)
f'(x,) .
(D) xn+ f(X) (D) xn .._-—"-f(xr)
6. Bisection method is always 6. aiem Rft wa R
(A) Divergent (@A) s |
Converg-ent (B) m
‘_,CQJ Conditionally Convergent (C) a7 &1 q afgard
@) F a7

(D) None of these
7. The rate of convergence of 7.

Newton-Rgp_t;s_gg_gethpd is

q;q-mﬁmiﬁmm:@a?%

") Cubic &) =
(B) Linear (B) w&-tdR
(C) Fourth order (C) qgd
(D) Quadratic (D) RErdE
8. Whichmethod is not applicablefor 8. P & @-4\ Ry @ wra &3 3 fw
(A) Secant (A) Secant
(B) Bisection (B) Bisection
Lagrange'’s (C) Lagrange's
(M) Regula Falsi : (D) Regula Falsi
US-15107-Series-R (2)
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US-15107-Series-R (3)

9, In which of the following method 9, s LGl & Ifud e foretiaftad
proper ¢ chaice_of initial value is At § @ R fre SR e 2
very 1mportant \ethod (A) W'W Ry

A) Newton-Raphson Met ®) .
@,4(8) Bisection Method © Wiiilll e
(C) False Position Method ﬁﬁmﬁjlﬂlq
(D) Secant Method D) ¥ -

10. The order of convergence of 10, Yyem-wed QY & e d
Regula-Falsi method is verneennes 21
) 2 (B 1618 A 2 ®) 1618
© 172 (D) L172 © 172 @O 1172

11 A f(x) = i;. then divided 1L z:i?:f(x)-—— a4 f(a, b, O W Ragfes
. " 1
du’ferencc of fla, b, c) is - Red 2
tﬁ) ab+botca (88 - 7 3 fas) ab+bc+ca
g 2bic’ -0 2,22
a‘b‘c N [ -‘.Z MY ( ‘1* &‘IL:. abc
2 -l
(B) P ((’—R} C-b) Ty (B) e
© 2L b-“ b2 - ‘—"+‘J('-C) a+bte
aEf‘-w?Lc—a) % abe
a’ + b+’ # 4'24 S Sval+b+c
D S { g et
( ﬂzhzcz 1b_c_
12. The divided diﬂ'ereréce f(x,, x,) is 12, PEs BWE f(x,, x,) T 5
equal to b (.3~ £(x,)
f(xl ) - f(xo}_ (A) X, + X,
® e
L £(x,) + F(X,)
B M (B) K1 -+ xﬂ
N £(x,) - £(x,)
f(x,)—t(xy) () X, - X,
R F(x,) + (%)
£(x,)+ f(x,) D) " x -x,
[DJ X) =Xy

https://www.ccsustudy.com
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13. The nth divided difference can be
expressed as the quotient of two
determinants each of order

14. By interchanging the suffixes of
the operator and the operand, the
value of the dividuc! difference

(A) Changesits sign
(B) Becomes zero
(C) Becomes one

ﬁ Remains unchanged

15. The divided differences can be
_expressed as the ............ of
multiple integrals.

(A} Sum

~(B) Division
ﬁ Product

(D) Subtraction

lf The divided differences are .......
* functions of their arguments,

,,.(54- Symmetric

ﬂ “Not symmetric

(C) May or may not be symmetric
(12) None of these

US-15107-Series-R (4)

13. @ Prfcat @ e # 50 neh B

BN 2
(A) n
(B) n+1
(C) n-1
D) 0
14. SR @ AT 3 suffix F &

W R R A

(A) Fre gzaw @

(B) { & @ &
(C) @ & v 8
(D) azam 8 &

15. 3= Rem § arif R s %

16. oY [ure 398 73 ® ... waq ¥y

(A) wuRg
(C) W 2 9 ot
w5 ¢ a

@) & 3 3% 7
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17. InLagrange's formula P (x) =

& f(x) f(x,)
g(x x,) ' {x) ¢ (n) is equal

to:

@ T &x-x)

ﬂf{' (x—x)
© T (x-x)

D) :I_'Ij (x-x)

The relation between the first )
order divided difference and
forward difference is

A fx,x)=a f(xD)

/‘QB) f(xy x)=

€ fix, x)=

18.

SR
- Af(xo) Z -\'

3

Safy (PP

=

(2-\)(\21'?!* 7-)

17. a2 g2 ¥ P (x) =

Z'; _8(x) fix,)
* (X - x)¢ (x ) ¢(n}?Fr‘r'8

B) T (x-x)

B) 1 (x-x)
© T (x-x)
D) ‘:f.la (x-x)

T B9 % f3ansz Bwis i el
RBwty i T 3

(A) f(xg x)= _‘-f(‘io)

B) f(x,, X)= -l'-l Af(xo)

18.

©€) f(x, x)= hl A f(x,)

(D) f(x,.x,)—haf(x,) wei+2 D) fix; x)=haflx)
19. Iff(x) = x*, then /N f(x, y) = 19, R Hfx)=x T AN flx, y)=
) PEyiexy (S (A) x*+y*+xy

B *-yi+xy (B) x*—y*+xy

© x*-y'-xy . ©) x*-y*-

(D) x*+y*—xy D) x*+y*—xy

20. If A and E are two operators on
. £x) then which of following is true

20. IR A TN E Q QT F B f(x) T

W P Y 9T 9 R

(A) Am F*+2E+1 - E\ (A) A*= E4+2L+)
B) A'm E2+4| - - T2
(B) A'= E?+ g‘z_u-?E (B) a*= E*+1)
2% A's E1-2E+| (C) a's E*-2E+1
(D) a'= E2+2E (D) A*s E?+2E
US-15107-Series-R (5)
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21. The first forward difference of fx)  21. To¥ PRI HH f(X) B g fig

13 defined as A fix) = IR AfN) =
27 fix+h) - fiy) (A) fx+h) - f(x)
tlf" fx) ~ fix+h) (B) ftx) - f(x+h)
() ix) - fix-hy (C) f(x)-f(x-h)
D R
o ) ) fix-h) - fiw) (D) fix-h)-f(x)
22. IfA8X) = ¢, then fix) is 22, IR Af(x) = e, T f(x) 3
(A e
. A X
(B e EB; :
e-!‘.
_—
() = ‘
e" | (C} eetl
1\'[], —E\_ | X
i - €r | (D} l = n
—e
23. The valye f iré 3 ) A
O_kE 115,_ 3 23. (E-]x’ﬂ-'rrﬂﬁ’%
{A) 3x (A) 3x
I 6x
(B) 6x
(C) -6x (C) -6
D) —3x D) _3x
-3x
- Which of the followine ;
g 15 correct 24, Wiafae & -
T q B-w w2
= 1A= | y T
/ ('.3‘.] D_n L.ﬁ 2-{:—;-3—— .-‘ (A) =_I_ [A_é..pé]_ .......... ’
is = 4 n IQ 3 J
_ 1/, & A ]
B) D=-1A+ 32 J ][ -y
. P BY D=—|A+— 4+ g,
il 203 @ D=l|4*% 5
} - AN A
) D= A-—5 = 2 :
/)/ n T3S -l (C) D=i[6+——+£+ --------- J
J n L
[ A N
(D) D= -r; .é -?: 4 ? - ‘} {D} D= -]_ {ﬁ—§+£ - ..J
: n 2 3
US-15107-Serijes-R (6)
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26. The value of A" (ax" + bx* 1) is

(A) 1n

ol

©) ln=1

®) b -1
26. The value of (1 +4) (1-V) is
ya

@® -1

(© ©

©) 2
27. I££(0) =—3. (1) = 6, f(2) = 8 and

_£(3)= 12, thed(s* f(0) i8>
(B)

©
o 5

tha

L < w

98. The denominator of the _exp_u_-easion

[f(x)] 8(x).Af(x) - £(X)-Ag(x)
A2 2 B

B .

g(x)

to be true 1s

(A) fx). Eglx)
(B) fix) - Ef(x)
597 g(x) . Belx)
D) Ef(x) . gx)

BeAs

US-15107-Series-R (7)

26. A%(ax®+ bx™") & 9 2
(A) |n
(B) aln
(C) |n=1
D) b |n-I
26. 1+8)(1-9) F TH 8
A 1
®) -1
© 0
D) 2

97. R f(0) =3, f(1) =6, f(2) =8 3
f(3) =12, @A f(0) ¥

A) 9
B) 6
© 3

D) 5
908, ey %% &4 & T 7T 8

[f(’*)] o(x). AF(x) ~ f(x).Ag(x)
‘a 2(x) = -

9

g(x)
(A) f(x).Egx)
B) f(x). Efix)
(©) gk . Eglx)
(D) Ef{x) . g(x)

https://www.ccsustudy.com
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29. qﬁmaﬁrnmﬂiwfﬂ,iﬂmg

29. If m and n are positive integer
5 m<n, 7@ 4% @ 8

such that m<n. then A™x® is

o P
(A) Tarm hoxomm A Torm hm x @
n
B) ImI:n = s B) Imlin b=
L
©) - — hexonm ©) Tle; hm et
m o~ m m 0~
w*nmh .mlm] 4 D) In—mhxm(]
30. &*yzlsequalt.o {E'}'"?‘E.} = 30. A’ysi'{l'ﬂ'{?-'
A ¥ ~—}'2+1 3y 1"31*%2. (A) y‘__-,rg+l
2},-!-)‘0 {‘Q‘{M (B) y‘-z‘}rg.'-yﬂ
(&) )4 Y, —2y, lé (C) Y;"Yg"g}'z

-*"’”afo D) y,+3y,+2y,

D) y,+3y,+2y, i
31. EBCDICcancode uptohow many 31 EBCDIC R R-fre @il #
different characters .- ?'ﬂ T W THN.2
(4) 256 (B) 816 A) 266 (B) 816
/ 64 (D) 32 (C) &4 L) 32
+ ASCITand EBCDICoften in_ 32. ASCII R EBCDIC 3m: &

(A) then: efficiency in storing
T (A) @ ©R & 7 I g

data .

(B) ;e randon:‘tm?ad sequential ®) T 3k Rieiifme W Ry
access method - ——

(C) their c:olle-cting sequential © _mm 3PS I B

(D) the number of m bytes used D) 7T B 73 4 m bytes 7
to store character T

US-15107-Series-R (8)
https://www.ccsustudy.com
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338. ASCII cede are q_f ceereerenen. tYPES. 33. ASCII®5 ........... T & 24 &)
(A) 2 (B) 3
A) 2 B) 3
C) 4 D) 5
© 4 D 5

. The processing of finding the 34. G7 D HaHT B [EE! R gWET B
/jﬂ 1R & P @ gBe @ Fed 8

derivatives of a function with the

— - ———

help of the gwen set of values of @)

that function is called.

(A) Quadrature é (B) AT A%
(B) Numerical differentiation (©) AR F

#HC) Numerical Integration i
(D) = T&

P ~«D) None of these

/’/. 35./‘;:5u'hich one of the fo_“owing 1S 5. freranaa 3 3 g7 2

7 correct

e N
e ’ d)' 1 _:l_v? [,@_] - _l [T}. + —F:)"
@) [Td;)., “hn [V}" "2 s (A) {ax .. N 2
! lV’\' +i‘C' v, * "lf
+_?J).- + Viv +..... -rg A P ...._r
éy ) .
(B) (a?) ” (B} I\d"\ 4 wang
Koy
11
I ] BT 4
gty 4+ Py + — VY +] 2 [v SR B ]
'I"[v Yn+vYn+24 . w n -4

(©) (L) 3N (B)

Both (A) and (B)
A D) & B¢ @

(D) None of these

US-15107-Series-R (9)
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/ﬁ'hich one of the followingis true  36. FH & Pa-m T 8

&Y if,. 1, a) _[py -ty
a) [d.\] -;[A)f _EA Ye (A) (a]“ - n[ Yo 7770
+-l-§.‘\' +—Aly, + +lg‘ +lA‘y t ocreenane
3 Ja 0T saevennne 3 YD 4 0 |
(_d_} - I, . 1. d’y Lre A
(B) \dx"]‘.. ..?[A}J—a}. B) (E) =-IF[£1}’: Yo
*—AY, + ... ”&‘ + .
Y P +§-£ Yo secenns
d'y ) d’y
o |&F)..- o (55).-
1 [ 3 3 £ } 3 -l
‘K;[dyﬂ z—ﬁyo+ ,,,,,,, ] #[f\)'o*'ifh’f ....... |
/mj’ﬁllarelrue D) w7 ¢
37. From the following table 37. Fraivfae aht @ y'(4) & 9 #|&MO
x:1 2 4 8 10 & '
£,
(A) 2.8000 (A) 2.8000
(B) 28326 " (B) 2.8326
(C) 2.8500 (C) 2.8500
(D) -28326 (D) -2.8328
88. Find the odd one out in the 38. fr= 7 faw i e
following
(A) FPROM (B) BCD
fi EPROM (B} BCD © ASCII
— — = y (D) EBCDIC
(C) ASCI (D) BCDIC
US-15107-Series-R i (10)
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39. About primary memory, following  39. SmfvE Sfq Rag 4 v T a7 &

are two statements w1 - W‘ﬁf e i A 2|
Statement-I : It has limited FI1 - 28 At 3
capacity e

Statement-ll:llt has volatile |
nature

%Onlylcm‘rect ))WI%’?%
(B) Only II correct (B) #aa I 7 &
(C) Both I & IT are correct (C) 1 an Il af &

___ (D) None correct M) a2 é T 2 |
() Which of the following is most ~ 40. F= ¥ & #-41 o dswE g

oriented to scientific programming # fe gad s Iw @
"TA) COBOL ' * (A) COBOL
5B) FORTRAN.' (B) FORTRAN
(©) RPG . .. (C) RPG
(D) BASIC < (D) BASIC
41. What is odd among these 41, F T FEH ¢
(A) Windows XP (A) Windows XP
(B) Windows Vista (B) Windows Vista
© DOS (C) DOS
ﬂ Microsoft Office (D) Microsoft Office
42. A computer can not BOOT if it 42, ¥ ¢ 78 & w0 ak 39 71 2-
does not have the ............ (A) @
(A) lLoader (B) #Ec#
(B) Cumpiler (C) Siqfen fveen
9,407’ Operating System (D) FY=HTE

(D) Assembler

US-15107-Series-R (11)
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43. Ina computer system, find the odd
one out among following
(A) RAM ?
B CD
(C) ROM_ - >

ﬂ] CACHE

44. A computer performs which of

following tasLQ(se]ect best answer]
(4) [loputting, Stormg Processing
antmlhng]
(B) [Shton_ng deleting, outputting]
(©) [Outputting, adding, buffering]
(D) [Downloading, storing, pro-
cessing]
45. Persona]_cum_pJ.xter was produced
_duetoi novation of
(A} Vacuum tube development
(B) Transistor development
“Integrated
development
(D) Microprocessor development
46. Integrated cn‘cmt (IC} was used
ﬂ:st-tlme ® in _
{A} F irst generation of computer

(B) Second _generation  of
computer

circuit

Third generation of computer

Fourth generation of

computer

US-lEIU'i-Series—R

(12)

44.

45.

46,

(a) g, ST, R, e
@) [t Reffen, e

©) [orwege, o, wHe

D) [eten, @R, T
e T AL H T g
(&) P T e

®) g Rew

- ——

© 795 e e
(D) AN R

HE e H I T aw g
Eﬂ- bl

(A) o8 ST P F
B) fecdir I ey 3
©) Tl I ey
D) o5 e wrger 3

https://www.ccsustudy.com



47.

48.

49.

US-15107-Series-R
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CD-RW is-

(A) _Compact Disk-Read/Write

(B) Concise Disk-Read/Write

(C) Compact Disk-Read/Write

D) Character Dia'play-Read_f
Write

By LCD we mean

(A) Liquid Colour Display
Liquid Crystal Display

(C) Limited Crystal Display

(D) Limited Colour Digplay

Statement I-the data access by

CPU from Hard disk is slower

Statement II-the data access by

CPU from RAM is faster

Statement III-the data access
from CACHE is fastest.

Which of the following is correct

about above statements
(A) I+ 1I correct

(B) 1+ III correct

| J#mmmct

(D) 1+11+ III correct

(13)

47.

48.

49.

CD-RW & 2

(A) TR Rw-{’we
(B) #ww Re-{’ /e
(€) Fiw Bes-fs/me
(D) w7 B fiz e
LCD & &1 goot 2

(A) RifaR Fae feey
(B) Rz Brew e
(C) Rz Beg R

(D) Rz s Rwd
v 1- A9 2o o B @ e
Prean i kW 21

wa I1- ¥ty 2T 19 @ skeer Preer
faax & 3

¥ III- 39 & =@ P e
& 3 35 T 3 P -

w 2-

&) 1+
®) I+
(C) II+ 11 wh
(D) 1+11+ 111 &

https://www.ccsustudy.com
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- - - ﬂﬁﬂﬁ ’ﬂa
50. 1f(562), exists then ite binary form 0. % (562 % T vy /

will be @&y -
S 101110010), (4) (101110010),
(B) (111000101), (B) (111000101),
© aimorion, (C) (111101101),
M) (101101101), (D) (101101101),
51. The value of AV is equal toD _ 51 AVH A AT &
(A) AV (A) AV
B) 8" (B) & -
A both (4) and (B) (C) & (4) 71 (B)
(D) None of these D) 74 } A T
52. Valueof E”is equal to_ 52. E*# 90 a0 ¢
ﬁ Kt (&) p+i
®) u-1 (B) p-13
©) 8+iu T (O s+
D) 8- 4u @) §-4o
53. "M relati —
relation between the operator 53, IR p AR 6 gy &
nanddis 5
A o1, W w=ie
Y 4,
e — 2
B w=1.2 B w=les
(C) pi= 1+ 52 (C) “3=]+52
D) w=1-8 - D =1
64. The operator 8 is defined by the 54 WV § WG 2 afiver Wiy
Operator equation (A) 8=E%+p-%
(A) 8=E% ¢+ g% =BT+ ETR
AP S=E% B) 8=E"-E%3
. (C} EzE-—E" (C) E=E-—E'lﬂ
D) 6=F+ g1 D) 8=E+E13
US-15107-Series-R (14)

https://www.ccsustudy.com



https://www.ccsustudy.com

/66 he relation betweon the

/ operatorsc and E is_
\-.._/’ -
E S

W o=

®) o= ——

(C) G = e

(:’_
D) = £

eﬁ:stth;_eet_ermsinSth'ling’s
formulaare <" o

[

%

A) v, 5 By tay)+ 3 &y,
u u’
(B) Y. + E (dy_l_Ay.) + -E A’Y.;

©) y, + Q(Ay +Ay.)+ a'y,

@) y,+ 5 Br-4y.)+ 5 &%,

A V.,
57. anuaof; -2 is equal to

(A) A-V
B) alv
€) v-a

4 A+V

US-16107-Series-R

56.

87.

(15)

AT 6 AT E & a2

Stirling ¥ % Wa #1 ® ¥

o u
A y,* 2 (Ay +ay) + 7] Ay |

B) y,+ (.sy s AR u—z A%y
© y,+ (-\y YY) < u_—_

) u’
(D) y.* g (-”." -33’.1) * -':)' dly-l

AV )
-3 ¥ AW

(A A-v
B) A/Y
(O vi-a
D) a+v¢

https://www.ccsustudy.com
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— gy = - - ] r
58. Ify, -—.10. v, = § v, = 5.:}_,
theny, =

(A) §
B) 5%

A6

D 4
TN

J

7

-

5;9_. Value of & ¥ 1s equal to.:

- (A) Ar*? }.x‘(nm

'

B) acy_ o
(C} AR
(D} A= \j

y:—{nﬂl

xHn/)

60. Ifu= x;x,, then Gauss forward

) _ Interpolation formulaisy=.......

(8) ¥, + uay,+ YD 4
' - 12

»=1

AAAAAAAA

y=1

©) y, + ua y+ 2u-D s
12

wu-1)u-2)
+ 3 ,53?_1 +

--------

(D) None of these
US—15107—Series—R

(16)

- 10, B8 RLp2

59.

60.

10,5, =8, % =0V, 5y

—

@y, =
() 8

@) 5
(Cy 6

D) 4
anyxﬂqﬁm%:

(A) &n#‘l }'x-l'.ﬂm]

(B) 8"Y,.pu)
(C) 2% Yy qu
D} A*Y
al%u="‘h"° 0 M PREE o
W@ y=
+1
(A) }'u + llﬂyo'*' U{UB ) azr‘]
u(u’ - 1)
T A+
B) y, + ud y + —_U(E]) A*
u(u’=1)
T At

D) 4 & % &
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61.

62.

63.
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The software can be divuled into

(A) Gencralj _P__l_lépﬂéae Software

and Special Purpose
Software

(B) Operating System and
Application Software

(C) System Software and
Application Software

(D) None of the above

How are software packages

jategarized _ -

(A} Hardware and software

(B) Word
Spreadsheets

processing and

software and

(C) System
hardware
(D) None of these

ceoer. 18 known as the first

WOMan programmer.

——

(A) Charles Babbage

ﬂ Lady Lovelace

64. Computer machine

US-16107-Series-R

(C) Abacus
(D) None of these

accepts
v l€VEL language.
(A) High ,
(B) Low .
Machine
/(D) Assembly

61.

A B fafa fear o 9% B
(A) HF FA AT AT
B e |
(B) ﬂf’ﬁ'fl‘T f#_FZI‘q' _;.ﬁ'r ﬁgzﬁn
wen
(C) [uz=z= mw=da7
qrraar
D) T # 3 5 A

e aga

63.

64.

(17)

A T 3

(A) FEATT I ARIT
(B) ¥ Fdfm @7 S
(©) Feem T 37 aray
(D) ¥ & 3 =

A AT R

(A) o8 ¥

(B) & FEdw
(C) wasw

D) FRE T
FYRET o &7 F1 W EET
Fdt B

(A) High

(B) Low

(C) Machine

(D) Assembly

https://www.ccsustudy.com
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66.
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Debugging is ......

(A) Easierin High level language
(B) In Assembly language more
complex than High level
language

Machine language is not good
as high level language and

assembly language
All of the above

(©)

(D)

The major components of a
computer are

(A) Memory

(B) CPU

(C) /O devices

/}) all of the above

87:

e

68.

US-15107-Series-R

You can write data into
and read data from the

............

% RAM,RAM &2

(B) RAM, ROM
(C) ROM, RAM
(D) ROM, ROM

The first machine to succeasfully
perform a long series of arithmetic
and logical operations was
(A) ENIAC

Mark-]
(C) Analytic origin
(D) UNIVAC-I

(18)

66.

67.

88,

"""""""""

(C) I,fogﬁm
(D) v a4

A 8T T e E sy
3 5 % R EL

(A) RAM, RAM

(B) RAM, ROM

(C) ROM, RAM

(D) ROM, ROM

oooooooooooo

e Rl A TS o il 3
SR o TR SR 7 e
A
(4) ENIAC

~(B) Mark~]

(C) Analytic origin
(D) UNIVAC-I

https://www.ccsustudy.com
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69. ENIAC &1 &% 8

/69 The acronym ENIAC stands for

Electronic Numericale=—

Integrator and Computer

(B) Electrical Neon Infuse and
Calculator

(C) Eulogistic Nuisance Is A Cart

(D) Electronic Number
Interpreter and Calculator
70. The name of first digital computer
js https://www.ccsustudy.com
S ATLAS
(B) NCR 395
(C) ENIAC
(D) None of these
71 A Computcr Network is

——

(’\) Colle:.tmn of hardwhre
components ahmr;;u;.er
{B) Intur connccted by
oummumcauon channels
((‘) Sharmg of resources and
m_formatlon
All of the above
72. What is thc use of Bridge in
Network _:.._, T
% Toconnect LANs
(B) To separate LANs
(C) To control Network speed

(D) Al of the above

—

70.

71.

72.

US-15107-Series-R (19)
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(A) Electronic Numerical

Integrator and Computer

(B) Electrical Neon Infuse and
Calculator

(C) Eulogistic Nwsance Is A Cart

(D) Electronic Number
Interpreter and Calculator
@ fRTed $ger B W 3

(A) ATLAS
(B) NCR395
(C) ENIAC

(A) FEIT geEt AR TG H I
(B) TFAYT ST & I J3M
(C) REds @ §&= & 8ewA
(D) SWF &

B e R Foqm @

(A) LANs & Jr¥4 &
(B) LANs & & F0 & R
(€) Y@ & wiE & PaT 3 kN

(D) I &t
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73. The last address of IP Address
represents
(A) Unicast address
(B) Broadcast address
(C) Network address
(D) Local address
74, LANisa
(A) Land Area Network
(B) Line Area Network
‘}) Local Area Network
' (D) Link Area Network
@Cumputer Networks can be
classified into ..., . types,
(A) Three ,
(B) Four&
€) Two
%) Five
76, Nis..... than WAN.
(A) Larger
) Smalier
(C) Equalto
(D) None of thesa
L topology is better than bus
topology.
(A) Ring

(B) Mesh
©) Tree.

ﬁ) S-t;r

i~

US—15107-—Series—R (20)

74.

75.

76.

(D) AT G

LAN 2 0%
(4) Land Area Network

(B) Line Area Network
(C) Laocal Area Network
(D) Link Area Network

TR D B oo TR 7 Ty
Frn @l B

A @

(B) ;N

C) @

(D) v

LAN ... 2 WAN &
(A) Larger

(B) Smaller

(C) Equalto

(D} None of thege

o QA T AR 3 o7

.

(4) R
B) Ay
€ #
(D) wrt
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78. R WER & 309 MS-DOS 37

78. Which type of user interface

MS-DQS p!‘OV_iEE ' @i o
'&) GUI " @ Ul
®B) ABl €~ (B) ABI
(C) CUI (C) CUI
D) MGI D) MGI
79. The UNIX operating system can  79. L'Nl}; ST Ryeew Rwifom [
qepcl

bf_divided in to
(A) File system (A) File system &

(B) Scheduler (B) Scheduler 3
(C) Shell

(D) All of the above

(C) Shelld

(D) All of the above
80. (22),, | TRTH T 3

A) (10111),

(B) (10110),

(C) (00111),

(D) (01001),

80. Binary equivalent of (22),,is

() (10111),

ﬂ- (10110),

() (00111,

(M) (01001),

81. In Newton — Gregory formula for 81, ¥R g 3 g Tq"m T
backward interpolation, P (x) = A, + A, (x - a) (x-a-nh)
P,(x) = A, + A, (x - 8) (x-a-nh) F v FA,@ B
e the value of A 18 (A) fla+nh)

(A) fla*nh) (B) fla+h)
(B) fath) (€) o)
(C) f(a) (D) & & HiF T

US-15107-Series-R

(D) None of these

(21)
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82. The technique for obtaining the
value of f(x) for any value of the
argument outside the given range
of the argument is known as :

E#) Interpolation
(B) Estimation
(C) Finite Difference
ﬂ) Extrapolation
83. Newton-Gregory formula of

forward interpolation is used for

L4

/A) Equal intervals

(B) Unequal intervals

%,-Both equal and unequal
intervals

(D) Neither equal nor unequal
intervals
84." For finding a tabulated value near
the end of the data for equal
i;ltgrva]s, u;e_i:lave to use
Newton's backward
interpolation formula
(B) Newton’s forward formula
(C) __'I_'_Jg_i\_riq_ed_ difference formula
(D) Lagrange's interpolation
formula |

US-15107~-Series-R

g2, R

83.

84,

(22)

e o 3 P 0 T 77 PR

{A} Interpo]_aﬁon
@) Estimation

() Finite Difference
(D) Extrapolation

F T g 8

(4) Fm s |

(B) T Seraet

(C) §IM qu JEAA AA S
(D) @ qI W A FEHA SHan §

qF ITd R o B T 3
giq geee 79 Wa F B fow, o
ST T 8 T
(A) Newton's backward
interpolation formula
(B) Newton’s forward formula
(C) Divided difference formula
(D) Lagrange’s interpolation

formula

https://www.ccsustudy.com
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85. The polynomial interpolating the

B —txtrax 353 - LOONY )

86.

87.

US-15107-Series-R

data

X:

f(x) : .
is given by ¥ 3} X s B
v ole ) 2

(&)

©
(D)

o 1 2 . =2

0 5 2

S - _5

4x! + 9x

' 2 ™
[ 6X ~'o0™+ X ™
—ux A X

4x? - 9x
—4x?-9x

X! 0 1 2
fix): O 5 2
(A) 4x*+9x
(B) —4dx*+9x
(C) 4x*-9x

- 4x*-9x

In Newton's forward formula, for  86. u= [(x-n%} % [T = HIER i

u= [{x— a%] and w}_u-apqﬁ_‘f_(a_)_ =0

the formula reduces in to -

[:

II:
(A)
(B)
(C)
D)

Newton — Gregory formula for

f(x) = f(a) + ua f(a)

f(x) = fa) + (u+1) & f{a)
only [ is correct

only II is correct

Both 1 and II correct
None of these

equal intervals is a particular case

(A)

B)

©)

D)

---------

Everett's
formula
Lagrange’s interpolation
formula

Newton's divided difference
formula

Besgel's interpolation formula
(23)

interpolation

% ol 79 a%(a) = 0, TF M 2
1: fx)=fla)+uaf(a)d

I: f(x)=f(a)+(u+l)¢3f(a)f1
(A) 3 [ 9 @

B) I & 2

© 1AL ¢

(D) ¥ A P 7

87. A TR 3 fU AT 6

1 @@ RNg AT B

(A) @& & @ T3
(B) AW & Ha@e G

(©) wpmf:mrﬁraam
(D) W H FTQH T

https://www.ccsustudy.com S
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Let y = f(x) be a function and for

88.
e Xy Xy e X} the » y-values
are Y. ¥, ¥y covvveeens - ¥}, Now for
applﬁnézﬁe Lagrange's formula.of
interpalation, minjmum required
_nis__
(A) n=1
"B n=2
{C) n=3
D) n=4
89. The mean of Gauss's forward
forn;fulg and the third due to
Gaussis ... .~ e
(A) Lagrange’s interpolation
formula
®) Stirling's interpolation
formula
(C) Newton-Gregory formula
»fPF Bessel's interpolation formula
90,

About central difference tablo, we,
have three statements (for Gauss

a

‘i_nl.bEI‘pOhtiOnT T

I: It uses forward difference
Operators

IT: It ugeg backward difference

operators

It uges central difference

operatorg

ouly I and IT correct

(B) onlyI and I correct

(C} onlyII and I correct

M) 1,11 ang I corpect

Il -

(A)

US~iBll]7—Series-R

(24)

88.

89.

0.

ﬁaﬁ?{x,,x
:f(x)@w ’ 1,}’
rn?ﬂy RPNy,

....... y.},glﬂﬂmw
@aﬁ?@i‘ﬁ“ nFH A R gy

&) n=l

i a1 i 7 B 3 g g
FMH o B

&) I T ATEAE G

(B) ®RM B HTXT TN

©) AT @
D) ¥&d F HE T

WWM%h@ﬁmm;
(e iR i
Lo o wved vt o0 amafiy atged

®) %3a [ e 11y gay
@) L1 G 111 ey
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91. The two symbols 0 and 1 are

known as

e -

(A) Bytes
(B) Digits

ﬁ Bits

92,

f)"l’!lg

(1011010),=(?),,
@A) 5D

B) 5C
() 5B

D) 5A

93. ..

94.

95... The hardware camponentused for ..

. is the protocol suite for
current internet,
(A) TCPAP
(B) NCP
(C) UNIX
(D) ACM
Which number system refers base
107
(A) Binary
Decimal
(C) Octal
(D) Hexadecimal

~ temporary storage of data and

—————

. Apphcahons for proce ssmg is

(A) Monitor
(B) Processor

_##57 RAM

US-15107-Series-R

(D) Hard-disk

91 AMMF O M 1A ...occeee. % &

92,

93.

94.

95.

(25)

i Gl d

(4) ey
®B) ey
(C) fw
D) Hma
(1011010, =
(A) 5D
B) 5C
(C) 5B
D 5A
............ g fee @ RiT e
g ¢

(a) 4. /am .

(B) T

© =

D) i
Eﬂ?—tﬁﬂ@rmwmﬁwﬁh
B B

(A) fasnardt

(B) <Wed

(C) Fr=rd

D) W8 Jmrd
W%Mﬂwmmﬂ
% P % T IR e 9% 2
(&) =R

®B) MWK

€) ™

D) #d @

(?)15 ™~
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96. Which of the following is a read

, only memory storage device

(A) Pendrive ~
(B) Hard-disk »

(C) Scanner «

_@f CD-ROM +»

97.

What 1s ALU

f Arithmetic logm unijt

98.

US-15107-Series-R

B) Array logic unit

(C) Applicable logic unit

(D) None of these

A source program is usually in

(4) Machine Level language

(B) High-Level lﬂ.n-guage

(C) Assembly language

(D) Low Level language

The BOOT sector files of the

system are gtored in ............

(A) Hard disk

(B) RAM

€ ROM

(D) Past solid state chips in the
motherboard

(26)

97.

98.

99,

https://www.ccsustudy.com

g6, fr 1 7 A I

i
qfﬂﬂ“gﬂ”‘%f

LU 71 ¢

W) S T TP

B) 7 T TR »
(C) oy o 3R e
(D) ¥ § 3R

G 4R S e 8
A) = @ T A
(B) I Wi wmr §

(C) = anr &

(D) Fre-wria A

Ry 21 BOOT Y=L TR ...
fmeT?rGﬂd?f-l

—

@ MR

B

C) W
D) =& ¥ wiee g sqer
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100.The list of instruction is called 100. et &t = A
0 (A) T

(A) Application (B R
(B) Software - ' [ _
(C) Coding .- »(C) T
(D) Program 1\- (D) g™

https:/www.ccsustudy.com
Whatsapp @ 9300930012
Send vour old paper & get 10/-
o g Ao S 3R 10 sud ord,
Paytm or Google Pay &

(27)
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